Vacuum Pad

Series ZP2

More shapes and sizes of pads. Applicable for various types of work pieces.

Compact/Short/NozzleY:Lk:Kex:aEM P.1176t0 1184 @SMark-free o4

Compact,
Space-saving

iihinjElat/Flat
For sheets or vinyl

Ii'i .

Bellow P AN B P.1188 101191 NHeavy-duty

PCHOWS)]

For spherical work pieces or work pieces with
inclined surface <=

QJ_J 3.5 x 7 t0 8 x 30 ZANEFACREELS
For rectangular ; =
work pieces =7
&/
BalliSpline\Bufferss:- Ay}

Ball spline guide is used to the buffer.

Series ZP2/ZP Adapter/Buffer Applicable Pad List - P.1240

Series ZP2 Mounting Adapter Part No, ===+ P.1246
Series ZP Mounting Adapter Part No. === P.1249
Series ZP2 Adapter Assembly Part No, === P.1252

0 @125 A APIIARPIL]

For use where adsorption marks must not be left on work pieces,

5 t0 030 0

24 to 15 AAPIFRPI

For work pieces with bumps

e

232 10 3340 AHPIIAEPEL]
For heavy or large &
work pieces £
Sl Ez
= E
gt &
Sre, S
ZP3
Special!Configuration P.1234, 1235 m
For stage setting of disks (CD, DVD)
or glass substrates P2y
s = ZP
ZPT
S Zr1
VacuumiSaving\Valve P.123610 1209 Mk

Can restrict the reduction of vacuum pressure
even when there is no workpiece.

el (= NEECP =N
o Joact
¥
Series ZP Adapter Assembly Part No. =-s-sssssss P.1253

Series ZP2 Buffer Assembly Part No.--P.1255 to 1263
Series ZP Buffer Assembly Part No. +-P.1256 to 1261, P.1264 to 1267

1175



Compact

Pad

ZLEENCEY 03, 04, 05, 06, 67, 08

U:
C:

Symbol/Type

Flat
Flat with rib
UT: Thin flat

Bellows

W7 types of 93 to o8 are added.

B Applicable for the ZP series
adapter

How to Order

mzpz—os_u

+ Blast type: Work pieces can be

removed easily.

I Pad type—Pad di

Pad diameter ad material

Symbol|Pad diameter| Blast type Symbol Material

03 23 - NBR
B04 04 [] S Silicone rubber

05 05 — U Urethane rubber

06 26 - F FKM
B06 06 [ ) GN Conductive NBR

07 o7 - GS | Conductive silicone rubber
B08| o8 [ ]

Pad ype 20 990157 03 |B04| 05 | 06 |BOG| 07 |BO8
U (Flat) o |le | —[—[—[T—[—
C (Flat with rib) — | —[==1e @] e
UT (Thin flat) — [ — el —]—1]—
B (Bellows) — =TT el=-—T]Te@
Dimensions: Pad Unit
ZP2-03U] ZP2-B04UC] ZP2-05UTO ZP2-06UTC]  ZP2-B06B[] ZP2-B08B[]
o7 o7 o7 a7 a7 o7
& & & [} e}
N B ¥ 1] < T wI
0 ® - f
21.6 o 21.6 © 20.8 S 22.5 225
23 24| 26 3.3 04.7,
23.5 24.7 26 28
o7 29
29 210
ZP2-B06C[] ZP2-07CO ZP2-B08C] - - -
Adapter Mounting Dimensions
o7 o7 a7
If an adapter will be made by the customer,
design the adapter with the dimensions shown below.
04.9
] ] ] .
o o of | pkg
— — &S
0 [ |4
2 R
025 || S 025 3 025 3 Mol R (/7%
26 o7 @8 o -
a7 28 29 | 025 ‘
03.8
04.9

1176

Note) R part has to be smooth with no corners.
+ Refer to page 1249 for adapter applicable to the ZP series.




Short-type Pad

ZCEELEEY 02, ¢3.5, 04, 05, 96, 08, 910, g15

Symbol/Type

MU: Flat

ESpace-saving in the height

direction

How to Order

| Padunit p4PE B02 MU

Pad dlameter

% Pad material

Symbol [Pad diameter| Blast type ymbo\ Material
B02 | o2 [ Pad type NBR
[B035| 035 [ ] [Symbol] Type | S Silicone rubber
04 04 [ MU Flat |[ U Urethane rubber
| BOS 05 [ ] F FKM
06 06 [ ] GN Conductive NBR
| BO8 28 [ ] GS | Conductive silicone rubber
10 210 [ ]
15 o15 [ ]
+ Blast type: Work pieces can be
R R . removed easily.
Dimensions: Pad Unit
ZP2-B02MUC] ZP2-B035MUC] ZP2-B04MUC] ZP2-B0O5MUC]
o4 o4 o4 o4
23 23 23_ 23
22 02 22 22
] © 0 0
< < < <
= - = - - -
o1 © o1 e 014 2 01.4 | b
22 23.5 o4 25
02.4 3.8 4.8 25.8
ZP2-Bo6MUC] ZP2-B0sMU]
7.5 28
6 26 If an adapter will be made by the customer,
25 — design the adapter with the dimensions shown below.
o4 24 Applicable pad
B02MU/B035MU/B04MU/BO5MU
0 o
© ( ( <
02_ 3 02| o
26 28
6.7 08.8
Applicable pad
ZP2-B10MUO ZP2-B15MUO B06MU/B08MU/B10MU/B15MU
08 29 | |
06 26
04 (L
<
o~
o
N &
o 02
I o4
22 o 22 26
210 | m;» Note) R part has to be smooth with no corners.
210.6 015.6 \_ = Refer to page 1246 for adapter applicable to the ZP2 series.

1177

P2y

>~ |I[NNI[N [N N
=Rk
-] -]



Series ZP2

ZP2-T B02 MU

Vacuum inlet direction

How to Order

-A3
TMounting

Thrond one 24 998RLSY | Bo2 [B035| Bo4 | BS | BOG | B08 | B10 | B15
A3 (M3 x 0.5 Male thread) e & o o - — | — | —
Pad diameter H5 (M5 x 0.8 Male thread) -l —-]/—-—1—-—1@/® & | e
b0l [Fad dameter]_Blast type B5(M5x08Femalethread) ]| — | — | — | — | @ | @ | @ | @
B02 02 [ ] .
[BO35| 035 ) Pad material Replacement Part No.
L 04 [ ] Symbol Material Model Pad unit part no. | Adapter part no.
25 [ ] NBR P2-TB02MU[I-A3 | ZP2-B02MULC]
06 [ ) S Silicone rubber P2-TB035MU1-A3 | ZP2-B035MUL] | .
08 [ ] U Urethane rubber P2-1 ZP2-B04AMUL] ZP2A-MO1TP
010 [] F FKM P2-T ZP2-Bo5MUL]
015 [ ) GN Conductive NBR P2-1 ZP2-B06MUL]
+ Blast type: Work pieces can be GS | Conductive silicone rubber P -: ZP2-B08MUL] ZP2A-M02P
removed easily. P2- ZP2-B10MUL]
P2-1 ZP2-B15MUL]
Pad type P2-1 ZP2-B06MUL]
= Moy
[MU] Flat | P2-T O ZP2-B15MUC]
Note) O in the table indicates the pad material.
Dimensions: With Adapter
ZP2-TB02MU[CI-A3 ZP2-TB035MUI-A3 ZP2-TB04MULCI-A3
Width across flat 5 M3x0.5 Width across flat 5 M3x0.5 Width across flat 5 M3x0.5
A 1L 7L
N (8 o
1o} [t} [T}
s &[T s 3 [T s 3 [T
< | ] < || < ’
o1 3 o1 3 1.2 3
22 23.5 o4
02.4 23.8 24.8

ZP2-TBO5MUI-A3

Width across flat 5 M3x0.5
[Ie}
S\
0
s [T
J |
©
ol1.2 =]
25
05.8

1178

ZP2-TB06MULCI-H5

(11.5)

0.8

ZP2-TB08MUI-H5

M5 x 0.8 M5 x 0.8
215 215
© -
] r‘— o8 f r*; o8
; Width across flat 1.5 & Width across flat 1.5
© ~
P |

1.2




Dimensions: With Adapter

ZP2-TB10MUC-H5

M5 x 0.8
1.5

15_ 35

08

(12)

7

Width across flat 1.5

Width across flat 8

210
210.6

1.2

ZP2-TB0O6MUO-B5

M5 x 0.8

(14.5)

55

6.5

Width across flat 8

02
26
06.7

0.8

ZP2-TB10MUC-B5

M5 x 0.8

(15)

5.5

1.2

Short-type Pad Series ZP 2

ZP2-TB15MUC-H5

M5 x 0.8

1.5

1.5 35

28

(13)

Width across flat 1.5

Width across flat 8

ZP2-TB08MUO-B5

M5 x 0.8

(15)

=

Width across flat 8

1.2

ZP2-TB15MUC-B5

M5 x 0.8

5.5

(16)

|

15
215.6

1179

P2y

>~ |I[NNI[N [N N
=Rk
-] -]



Symbol/Type
Short-type Pad
EU: Flat
ELEENEEY 02, 04, 06, 08, 015
ESpace-saving in the height How to Order
Pad dlameter ad material
Symbol |Pad diameter| Blast type Symbol Material
|B02 | o2 J N NBR
04 o4 J S Silicone rubber
06 06 ] U Urethane rubber
08 08 - F FKM
15 o015 — GN Conductive NBR
= Blast type: Work pieces can be GS | Conductive silicone rubber
removed easily.
Pad type
[Symbol_Type |
[EU [ Fiat |
Dimensions: Pad Unit
ZP2-B02EUC] ZP2-B04EUO]
a7 a7
02.6 22.6
. o @
< - 7 o < S o
| —
01.2 o 015 3
22 | o4
22.6 24.8
ZP2-BO6EU] ZP2-08EU]
o7 o7
22.6 22.6
L 0
< — ) o < S— N
— < — L
215 | 3 215 | 3
06 08
6.7 29
ZP2-15EU0 [ Adapter Mounting Dimensions \
a7 If an adapter will be made by the customer,
02.6 design the adapter with the dimensions shown below.
NE
o ©
. S 2 e
_[ &)
2 2
22 1.5
L — 04.4
015.7
Note) R part has to be smooth with no corners.
Refer to page 1247 for adapter applicable to the ZP2 series.

1180




Short-type Pad Series ZP 2

How to Order

IR zP2 - T B02 EU[N]- A5

Vacuum inlet direction Mounting
Symbol| Thread size Adapter type
A5 M5x0.8 Hexagon O.D.
H5 M5 x 0.8 |Hexagon socket head
Pad diameter i
Symbol[Pad diameter] _ Blast type Pad material Replacement Part No.
02 22 [ Symbol Material Model Pad unit part no. |Adapter part no.
04 o4 [ NBR ZP2- 2EUL-A! ZP2-B02EUL]
06 06 [ S Silicone rubber ZP2-TBO4EULI-A! ZP2-B04EUL]
08 08 - U Urethane rubber ZP2- 6EULI-A! ZP2-BO6EUL] ZP2A-Z01P
15 015 — F FKM ZP2-TOBEULI-A5 ZP2-08EUL]
* Blast type: Work pieces can be GN Conductive NBR ZP2-T15EUC]-A5 zP2-15EU0]
removed easily. GS | Conductive silicone rubber ZP2- -] ZP2-B02EUL]
ZP2-TBO4EULI-H5 | ZP2-BO4EUL]
Pad type ZP2-TBOGEULI-H5 | zP2-BOGEULT | ZP2A-Z02P
[Symbo] ZP2- EULCI-H5 ZP2-08EUL]
ZP2-T15EUC]-H5 zP2-15EU0]
Note) (I in the table indicates the pad material.
Dimensions: With Adapter
ZP2-TB02EUI-A5 ZP2-TBO4EUI-A5
Width across flat 7 M5 x 0.8 Width across flat 7 M5 x 0.8
4\ g A\
© )
cEillos R lllos
<« ] < 1
1.2 0 015 0
=] o
02 24
02.6 94.8
ZP2-TBO6EUI-A5 ZP2-TO8S8EU[I-A5
Width across flat 7 M5 x 0.8 Width across flat 7 M5 x0.8
] 0
© ©
SEEoe clkiliow
< — | < —
21.5 e 01.5 @
26 28
26.7 29
ZP2-T15EU-A5
Width across flat 7 M5x0.8
n
5 il
wn
= o \
© — |
21.5 0
215
015.7

1181

N
-
w

P2y

MEL S|

NN
-l
-

><
=
=23
S
p=



Series ZP2

Dimensions: With Adapter

ZP2-TB02EU-H5
M5 x 0.8
3 2 — 97 \idth across flat 1.5
4
1.2 g
22
2.6
ZP2-TBO6EULI-H5
M5 x 0.8
5 = — o7 \Wigth across flat 1.5
4
21.5 2
06
06.7

ZP2-T15EUO-H5

01.5

15 35

L

M5 x 0.8

97 Width across flat 1.5

(10)

5

= G

215

015.7

| e

1182

ZP2-TB04EUI-H5
M5 x 0.8
© [1; L 97 Width across flat 1.5
“ I
215 2
o4
24.8
ZP2-TO8EULI-H5
M5 x 0.8
w0 £ a7
- ! Width across flat 1.5
T e
215 2
28
29




Symbol/Type

Short-type Pad

AU: Flat
FLEENCEY 02, 03, 04, 06, 08
ESpace-saving in the height How to Order (-
[ Pad unit_ -
Pad diameter Pad material
Symbol|Pad diameter| Blast type Symbol Material
| 02 22 — NBR
3 03 — S Silicone rubber
4 o4 — U Urethane rubber
6 26 — F FKM
B08 08 [] GN Conductive NBR
« Blast type: Work pieces can be GS | Conductive silicone rubber
Note) The mounting adapter is available as a special order. removed easily.
Pad type
[Symbol[ Type ]
[AU | Flat ]
Dimensions: Pad Unit
ZP2-02AUO] ZP2-03AUO ZP2-04AUC]
o4 o4 o4
02, 82 22
0 [To} 1o}
(3] 3] (3]
< < <
01.2 b= 01.2 - 01.2 2
22 23 o4
92.5 3.5 4.5
ZP2-06AUC] ZP2-B08AUC]
26 26
02.7 02.7
(el «®
[} o) ]

i5l
1.2

02.2 02.2
06 28
26.3 28.3

1183

P2y

>~ |I[NNI[N [N N
=Rk
SNE < E



Symbol/Type

Nozzle Pad

ZCEELEEY 0.8, 01.1

AN: Nozzle

Vs

HFor adsorption of small How to Order Order

components (such as IC chips)
[ Padunit ARy 0 AN @
Pad material

Pad dlameter

Symbol| Pad diameter Symbol Material
08 20.8 NBR
1 01.1 E Silicone rubber
U Urethane rubber
Pad type F FKM
[Symbo Type | GN Conductive NBR
AN | Nozzle | GS | Conductive silicone rubber

Dimensions: Pad Unit

ZP2-08ANL] ZP2-11ANDJ ( Adapter Mounting Dimensions |

24 04 If an adapter will be made by the customer,
22 ‘ 02 design the adapter with the dimensions shown below.
[t} [t} L J\ J
«® 0
o
© —_— © —
20.8 1.1 .
Note) R part has to be smooth with no corners.
01.6 92 \_* Refer to page 1247 for adapter applicable to the ZP2 series. Y,

How to Order

TR zP2 - T 08 AN[N]- A5

. . Mounting
Vacuum entry direction Pad material
Symbol Material [A5] M5x08 |
NBR
Pad diameter S Silicone rubber
Symbol|_Pad diameter Pad type U Urethane rubber Replacement Part No.
08 0.8 Symbol[_ Type F FKM Model Pad unit part no. | Adapter part no.
11 211 Nozzl GN Conductive NBR ZP2-TO8ANLI-A5 ZP2-08ANL] .
[AN] Nozzle | GS | Conductive silicone rubber ZP2-T11ANC]-A5 ZP2-11ANC] ZP2A-z21P
. . . Note) [ in the table indicates the pad material.
Dimensions: With Adapter
ZP2-TO8AN[CI-A5 ZP2-T11ANO-A5
Width across flat 7 - M5x08 _ Width across flat 7 M5x08
0 v
o o
[ [
& o '
i 3
= rJ
© © |
20.8 o1.1
01.6 22

1184



Symbol/Type

Thin Flat Pad UT: Thin flat

EULELEEY o5, 66, o111, 014, 318, 020 (Skirt)

HFor adsorption of soft work How to Order
pieces such as thin sheets or

vinyl. Wrinkling or deformation m ZP2-11 UT @
i Pad material

during adsorption is reduced. Pad diametere—— 1

MApplicable for the ZP series Sytol Fad aneler Pad types  Simbd Matorial
o5 | fombol_ Type |
adapter 0€ 26 - S Silicone rubber
011 Thin flat (Skirt U Urethane rubber
4 014 F FKM
8 018 GN Conductive NBR
20 920 GS | Conductive silicone rubber
Dimensions: Pad Unit
ZP2-05UTO ZP2-06UTO] ZP2-11UTO ZP2-14UTO
o7 o7 o7 o7
o o o 8
3 Ne
N n
01.2 2 20.8 pi 02.5 F‘ 02.5 -
05 26 211.5 214.5
212.5 215.5
ZP2-18UTO
o7
Qo
( Adapter Mounting Dimensions |
02.5 i} If an adapter will be made by the customer,
218 design the adapter with the dimensions shown below.
4.9
219
i e
ZP2-20UTO] z
o7
~olS) @ '7‘\‘%‘5
« |
< 025
« 3.8
4.9
Note) R part has to be smooth with no corners.
fqi * Refer to page 1249 for adapter applicable to the ZP series.
- - J
2.5
220
221

1185

P2y

>~ |I[NNI[N [N N
=Rk
SNE < E



Symbol/Type

Flat Pad

ZLEENEED 610, 015, 920, 25, 330

H Adsorption I S| How to Order
surface with /| S,

2T zr2-B10 MT@
Pad material

Pad diameterI
O Q Symbol|Pad diameter| Blast type Symboll Material
0 010 [ ] N NBR
- 5| o015 [] S Silicone rubber
20 020 [ ] F FKM
Ql Q [B25] o025 ° GN Conductive NBR
30| 030 [ ] GS | Conductive silicone rubber
+ Blast type: Work pieces can be

removed easily.

MT: Thin flat
(with groove)

H For adsorption of thin sheets or film Pad type
Deformation of the flat surface during adsorption is reduced. i (i goo)
Note 1) Not suitable for transferring work pieces which apply a load.

Note 2) Wrinkling may be generated depending on the sheet thickness.
Confirm the thickness before use.

Dimensions: Pad Unit

ZP2-B10MTC ZP2-B15MTO ZP2-B20MTC ZP2-B25MTC]

8.5 8.5 213.5 215

26 _ 06 _ 210, 010,

o4 o4 26 26

— 7 — |
o It QI 1 m] — m[ — =
mI — | oy i 0 A [ f [t} | [t}

o
_(03)]
)
(&)
(©03)
)

o -
03],
=)

(&
(03)

ZP2-B30MTCI

Adapter Mounting Dimensions

5.5

T ] If an adapter will be made by the customer,
215 ’6‘ design the adapter with the dimensions shown below.
<)
30 Applicable pad Applicable pad
231 B10MT/B15MT B20MT/B25MT/B30MT
pa— ]
= : > i
(i | :
(AN o s
w&g y& o4 26
an JUU 06 010
%Cﬁ
&Ej Note) R part has to be smooth with no corners.
\* Refer to page 1246 for adapter applicable to the ZP2 series. )

1186



Flat Pad Series ZP2

How to Order

(Y2 zP2 - T B10 MT[NJ-H5

Vacuum inlet direction Mounting
I Pad diameter
Thread size (Symbal] (Symbol)| B10 | B15 | B20 | B25 | B30
) HS5 (M5 x 0.8 Male thread) o e o o o
Pad diameter e——— B5 (M5 x 0.8 Femalethread) | @ | @ | — | — | —
Symbol| Pad diameterl _ Blast type Pad type
10| 010 TR Pad material Replacement Part No.
15 215 - Symboll Material Model Pad unit part no. |Adapter part no.
Thin flat (With groove) _ it
[B20] 020 N NBR ZP2-TB1OMTL-H5 | ZP2-B1OMTL] | o, oo
[B25| 025 S Silicone rubber ZP2- 5 | zP2-B15MT0J 3
30| 030 F FKM ZP2-Ti H5 | zP2-B20MTO]
* Blast type: Work pieces can be GN Conductive NBR ZP2-1 H5 | zP2-B25M ZP2A-M03
removed easily. GS | Conductive silicone rubber ZP2- 5 | ZP2-B3OMTL]
Note) Use a commercially available ZP2- 0-B5 | zP2-B1oMTL] ZP2A-MO4
sealant for mounting. ZP2-TB15MTJ-B5 | ZP2-B15MTO 3
Note) [ in the table indicates the pad material.
Dimensions: With Adapter
ZP2-TB1OMTO-H5  ZP2-TB15MTCI-H5 ZP2-TB20MTCI-H5 ZP2-TB25MTCI-H5
08 28 214 o14
M5 x 0.8 M5x 0.8 . ) M5 x 0.8 )
- 11 Widthacross — | | Width across M5x0.8) Width across #4"—'1 Width across
< H: flat 1.5 < q: flat 1.5 S H: flat 2.5 < D: flat 2.5
QL= 7 oty @l v @
2|0 I 2l w I 2wl ) gwf
Oy o= ¥ © e ¥ 0y S— ¥ © ¥
o1.5 ’5‘ 015 8‘ 215 8‘ 215 8‘
=3 I S| e 925 S
210 215 220 264.
o1 216 021 2
1= NNV
W)
PV
?
ZP2-TB30MTI-H5 ZP2-TB10MTI-B5 ZP2-TB15MTI-B5 7T
o14 Width across flat8 M5 x 0.8 Width across flat8 M5 x 0.8 ZPR
M5 x 0.8
Width across LOI ] XT661
< ﬂ’: flat 2.5 a®° © &l ® N ©
o - I o
=] ] Z Z
z|w 0 0
wn (o} [Ie}

1
w
03)‘
8
o
©3)
Y
o
3.

IS}
W
o

(

1187 ®



Symbol/Type

Bellows Pad
ZCEELEEY 6, 09, 010, 014, 015, 316, 925, 630

J: Bellows
(Multistage type)

HFor use where there is no How to Order
space for the buffer (spring -

type) IEETEIN zP2- 06 J [N]- X19
i i Pad diameter -
l}Notkpleces Wlth- Symbol[Pad dameter]_Blast fype Pad material
inclined adsorption _ 060 o6 - Symbo] ___ Weaterial
= NBR
surface 3013'0 :190 D) S Silicone rubber
HApplicable for the 14 | o4 — J | Urethane fubber N
. | B15| 015 D F FKM With/Without
ZP series adapter 16 | oi6 = GN [ Conducive NBR | |6k ring
B25| o025 0 GS | Conductive silicone rubber [N Wi lock ing_|
B30| 230 [ ] Pad type X19 | Without lock ring Note)
+ Blast type: Workpieces can be [Symbol] Type | Note) 06, 210, 215 are
removed easily. \ J \ Bellows (Multistage type) \ not available.

Dimensions: Pad Unit

ZP2-06J0] Locktng ZPZ;:.)SQJEI ZP2-B10J0O (‘]

o7 o7 If an adapter will be made by the customer,
— - design the adapter with the dimensions shown below.
r r Applicable pad
0 = © 0 iy 06J/B10J/B15J
0 p— - 6 o 04.9
S/ w T <) v
S ‘dl H- ‘dl
22.8 22.5 N
26 ] 6.8 ©
a7 210
28 211
212
~ ZP2-14J0 ZP2-B15J0 ~ ZP2-16J0 Applicable pad
Lockring 213 Lock ring o13 09J/14J/16J
7
JE— . ™t 3.
H j S =3
3 < L & o < &
1 o F
© 0 S @~
H— - © e N
| < gl 018 o) )
Fe 2.5
23 02.5 24 | ‘ 04.5
014 011.8 07.2 05
215 215 216 06.6
016
17 017.5 Applicable pad
B25J/B30J
ZP2-B25J0] ZP2-B30J0J kj\ H
Lockring @15 T 09.8
Lockring  o15 — e
7% S e
:% —h o <,
_r > - < o &8
N — o T I~ =
3 =K o F TP = 5
< H— > 1 1) e
E I S 777< 23.5
027 T 232 25
i I 26
044» ﬂ, 28
210.2 213.8 Note) R part has to be smooth with no corners.
TZE; 230 = # f:]zf?;cggzg: 1249 for adapter applicable to
226 233 G . J

® 1188



Bellows Pad

Symbol/Type

HFor use where there is no

space for the buffer (spring

type)

HBWorkpieces with inclined
adsorption surface

Dimensions: Pad Unit

« Blast type: Workpieces can be removed easily.

MB: Bellows
ZCCELEEY 04, 06, 98, 210, 915, 620
How to Order
Pad dlameter iPad material
Symbol | Pad diameter|  Blast type. Pad type Symbol| Material
04 04 [ NBR
S ;
06 06 [ S Silicone rubber
08 08 [ [MB | Beliows ] U Urethane rubber
0] o10 [ F FKM
5| o015 [ GN | Conductive NBR
20| 020 [ GS | Conductive silicone rubber

-

ZP2-B04MBC ZP2-BO6MBC] ZP2-B0SMBC]
4.5 08 8
03 06 o6 _
22 %.‘ o4
014 ‘u;; [ N# [ Nt
o o
] ° — o —— ] )
© = VI 096 [ VI
04.6 ,,Kd - K"I >—H &
21.5 225 | 22,5
23.3 04.7
4.1
26 o8
24.8 o7 29
28.4
ZP2-B10MBC ZP2-B15MBO ZP2-B20MBC
015
211
o11 0108 ZP3
078 24.6
2 e
04.6 u?]
wn «®
7 | Bl P
o, )
e = ) i P — S 7P
3| 108 C_ 2144 SN m‘I o
— "’I R ~ ZPT
26.8 29.4 ‘ 212 ZPR
210 015 220 XT661
211 216 821
Adapter Moun Dimensions
If an adapter will be made by the customer, design the adapter with the dimensions shown below.
Applicable pad Applicable pad Applicable pad Applicable pad
B04MB B06MB/B08MB B10MB/B15MB B20MB
M5 x 0.8
02.5
" M5x0.8 4j
(S
fa—fle "l ’ I :
o
= 2 <« 0
! 21.2 @ 015 N L o
22 o4
Width across flat 3 Width across flat 3
23 26
o o
Note) R part has to be smooth with no corners.
* Refer to pages 1246 and 1247 for adapter applicable to the ZP2 series. 27.8 0108

J

1189 ®



Series ZP2

How to Order @

TR zP2 - T B04 MB[N]- A3 .

Vacuum inlet direction IMounﬁng
Trvead se B el BO4 | BOG | BO8 | B10 | B15 | B20
A3 (M3 x 0.5 Male thread) [ ] — - - - -
Pad diameter H5 (M5 x 0.8 Male thread) — ® & e e e
Symbol|Pad diameter| Blast type [BS (M5 x 0.8 Female thread) | — L] L] — L= 1=
04 04 [ ] i
[B06| o6 ° sta? maten;lt - Replacement Part No.
| BO8 08 [ ) y: g z;;a Model Pad unit part no. [Adapter part no.
0 210 [ ] = Silicone rubber ZP2- -4 ZP2-B04MBL] ZP2A-M0O1P
5| 015 [ ) N ZP2- O-l ZP2-B0O6MBL] |
0 220 0 Urethir}\fwiubber ZP2- ;: ZPZ-BOSMBE ZP2A-M02P
* Blast type: Work pieces can be GN Conductive NBR ‘E; = = ZP2-B10MBL) ZP2A-M05
removed easily. GS | Conductive silicone rubber :E: = %ggg;gmg: ZPoAMOG
ZP2-TB0O6MBL-| ZP2-B06MBL]
Pad type ZP2-TB0BMBL-B5 | zP2-osmBL] | 27 2AM04
[MB | Bellows | Note) O in the table indicates the pad material.
Dimensions: With Adapter
ZP2-TB04MB[I0-A3  ZP2-TB0O6MBLI-H5 ZP2-TB0SMBLCI-H5 ZP2-TB10MB[I-H5
o11
M5 x 0.8 M5 x 0.8 M5 x 0.8
Width across flat 5 M3x0.5 215 215 92.5
\ 9 I: 0 I: -
o ©, @ : Width across
o 1l 08 —— 08 “ Tﬁ [AAJMS
. “N’ g o Width across flat < © Width across flat 5 L
= hat - 15 z — 15 -
z — S ~| v
— o o — | :
©| o046 L: ) 084 ) —»Z“Q'G -~ % stos =X
— '-"’i . < |l = ™
o < J—
21.2 23.3 24.7 210 ‘
26 28 211
241 -
a7 29
4.8
ZP2-TB15MB-H5 ZP2-TB20MB-H5 ZP2-TB06MB[I-B5 ZP2-TB08MB[I-B5
215
— M5XO08  yish across Width across
M5 x 0.8 225 flat8 M5 x 0.8 flat8 M5x0.8
22.5 ] — —
© Width across \ 0 0
i Width across i3 e © © ©
flat 3 [
< ™ ;] ~ 4% -~ 4%
== ) T wsgitiiii Q\
0144 - 9 0 |84 — | 996, |
—— —— > —i o]
215 220 22 22
216 221 23.3 04.7
26 28
a7 29

1190



Symbol/Type

Bellows Pad
02, 04, 25, 06

ZJ: Bellows

BWork pieces with inclined

MFor use where there is no How to Order
space for the buffer (spring
type) BTN Zp2 - 02 20 @
P.

. Pad diameter ad material
adsorption surface Symbol]Pad dameler] Symbol Matorial
2 02 NBR
4 04 S Silicone rubber
5 05 U Urethane rubber
6 06 F FKM
GN Conductive NBR
GS | Conductive silicone rubber

Note) The mounting adapter is available as a special order.

Pad type
[[ZJ [ Beliows ]
Dimensions: Pad Unit
ZP2-02ZJ(10.1g] ZP2-04ZJ(1 [0.1g] ZP2-05ZJ[1 [0.2g] ZP2-06ZJ[1 [0.3q]
08
04 06.4 262
02.2 043 LI
02
23.8 1 -
02.5 "t
C\IJ o 77 < | @ -
=T SR & ”
ﬂj 01.5 02.6 3.3
92 24 25 26
02.5 24.3 05.7 6.7 sz
3.8 06.4 28

> |I[NNI[N [N N
= ||uo

1191 ®



\)



Symbol/Type

W For adsorbing workpieces flowing at high speeds

HFollows various shapes of workpieces.

HPad material: Silicone rubber
(Rubber hardness: A40, A50, A60)

® Short thread type —

© One-touch fitting type
Built-in One-touch fitting

Seal washer
ey —p

MLarge opening size (short thread type): 05 to 22 = |
For vacuum blower pumps with high suction flow rates =
How to Order @ 2
- I

Vertical vacuum inlet ZP2 -TB1 5 ZJ -A1i 0 - 06 4 ‘é

e
e = -
Pad diameter Pad type -

Vacuum inlet
Symbol | Pad diameter \Symbol\ Type \ ] Mounting thread size
B15 215 ‘ ZJ ‘ Bellows ‘ Symbol| Vacuum inlet A10]A16

with adapter

A20 | A30 | AL12 | AL14
B20| 020 Nil | Shortthread | @ (@ [@ [ @ | — | —
B30 030
One-touch
40 040 06 fiting (@6) | — |~ |~ | — LA
46 046
Pad material Mounting thread size
. Applicable pad diameter Type Symbol | Thread size (Male thread)| @15 | @20 | 230 | 040 | 246
Symbol Material
¥ 915 | 920 | 930 | 240 | 246 Shortthread | A10 | M10x 1 e e — | — | —
N_[NBR —_ [ — | — e | ®
U |Urethane rubber N R R N Y A16 | Mi6x15 | — | — | @ | — | —
F |FKM — - —le] e A20 | M20x15 | — | — | — | @ | —
GN |Conductive NBR — | -] —]®e| e A30 | M30x15 | — | — | —| — | @
GS |Conductive silicone rubber (Whl}‘-{ea?'dnessAmNme) ; : ; : : One-ouch fting AL12| wizes olel _|_|_
S |Silicone rubber (White) Hardness AS0 — T — T — e e
S6 |Silicone rubber High-hardness type (White) |Hardness A60 e o o —  —
Note) Identification of rubber hardness: Painted with pink 1 dot Al M14x1 —|—|e|®|®
Replacement Part No. (Short Thread Type) Replacement Part No. (One-touch Fitting Type)

Product part no. Pad unit part no. Adapter part no. Product part no. Pad unit part no. Adapter part no.
ZP2-TB15ZJSC-A10 ZP2-B15ZJS0 ZP2A-Z31-1P ZP2-TB15ZJS[-AL12-06 | ZP2-B15ZJSO ZP2A-Z32-1
ZP2-TB20ZJSC-A10 ZP2-B20ZJSO ZP2A-Z31-2P ZP2-TB20ZJS[-AL12-06 | ZP2-B20ZJSO ZP2A-Z32-2
ZP2-TB30ZJSCI-A16 ZP2-B30ZJSO ZP2A-Z31-3P ZP2-TB30ZJS[-AL14-06 | ZP2-B30ZJSO) ZP2A-732-3
ZP2-T40ZJ-A20 ZP2-40ZJS ZP2A-Z31-4P ZP2-T40ZJ-AL14-06 ZP2-40ZJS ZP2A-Z32-4
ZP2-T46ZJ-A30 ZP2-46ZJS ZP2A-Z31-5P ZP2-T46ZJ-AL14-06 ZP2-46ZJS ZP2A-Z32-5

11911 @



Series ZP2

Dimensions
HVacuum inlet: Short thread type
ZP2-TB15ZJS1-A10 ZP2-TB20ZJS(1-A10 ZP2-TB30ZJS(1-A16
Width across flat 21 M16x 1.5

Seal washer
| ] L
=] ﬂ: Seal washer 5 ﬂ: Seal washer W 224
Y, ﬂﬂ 016 W | ot6 [=Y
{1 v
: >

11.8)

Width across flat 14 M10x 1 Width across flat 14 M10x 1
|

52

38.5

21
lvsz
&
[T
NAAY
16 T
40.2
28.
[

~
=]
«

23.5

o11
213 219.5
o019 229
820 230
ZP2-T40ZJ-A20 ZP2-T46ZJ0-A30
Width flat 30 M20 x 1.5 Width across flat 38 M30 x 1.5 Weight [g]
e acess T I ‘ x ZP2-TB15ZJSC-A10 | 9.0
= Seal washer 5] Seal washer ZP2-TB20ZJST-A10 | 9.0
b= = . ZP2-TB30ZJS[-A16 | 20.5
W o034 042 ZP2-T40ZN-A20 51.0
-4 $ — % ZP2-T40ZJSU-A20 50.0
0 C o ( ZP2-T40ZJU-A20 51.0
R = 8 > SN I > ZP2-T40ZJF-A20 60,0
© 3 0 © 3 0 ZP2-T40ZJGN-A20 51.0
‘ > 8 ‘ > 8 ZP2-T40ZJGS-A20 | 51.0
[ —> [ > ZP2-T46ZJN-A30 84.0
ZP2-T46ZJS-A30 82.0
016 022 ZP2-T46ZJU-A30 84.0
229 035 ZP2-T46ZJF-A30 95.0
040 046 ZP2-T46ZJGN-A30 84.0
044 050 ZP2-T46ZJGS-A30 84.0
HVacuum inlet: One-touch fitting type
ZP2-TB15ZJS-AL12-06 ZP2-TB20ZJSI-AL12-06 ZP2-TB30ZJS[1-AL14-06
M14x1 __ Applicable tubing: o6
M12x 1 Applicable tubing: 06 M12x1 Applicable tubing: o6 Width across flat 19
Width across flat 17 Width across flat 17 —
< < ~
= ] @m!
g 2 I‘I = j ’; <1 Widh acvcssfaﬁ 024
2; L~ S ' < ‘ t 215 0
~ ~ I [ ) 0
& Q 3 = == ol & 1> o
7 /3 - N ==
Width across flat 14 5‘5_5 Width across flat 14/ | 24 | 24 |
ol 019.5
214 219 229
215 920 230
ZP2-T40ZJ(1-AL14-06 ZP2-T46ZJ(1-AL14-06
M14x1 Applicable tubing: 66 M14 x 1 ___ Applicable tubing: o6 Weight T
Width across flat 19 S Width across flat 19 . ZP2-TB15ZJS-AL12-06 | 17.0
< < ZP2-TB20ZJS[-AL12-06 | 17.0
(0 o ZP2-TB30ZJS[-AL14-06 | 26.5
& B 8 o
ZP2-T40ZJN-AL14-06 46.0
Width across flat 30 Widt [
il b L o34 <Tiovansun L] 042 ZP2-T40ZJSC-AL14-06 | 45.0
o c = o c = ZP2-T40ZJU-AL14-06 46.0
~ . > ~ . > ZP2-T40ZJF-AL14-06 55.0
S = 0 % = 0 ZP2-T40ZJGN-AL14-06 46.0
N ‘ > &8 ¥ ‘ > 8 ZP2-T40ZJGS-AL14-06 46.0
c 777> [ > ZP2-T46ZJN-AL14-06 56.0
ZP2-T46ZJSU-AL14-06 54.0
04 | 04 | ZP2-T46ZJU-AL14-06 56.0
029 035 ZP2-T46ZJF-AL14-06 67.0
040 046 ZP2-T46ZJGN-AL14-06 56.0
044 250 ZP2-T46ZJGS-AL14-06 56.0

® 1191-2



Pad diametero—_l_

Symbol | Pad diameter
B15| oi5 Pad type
B20| 020
B30| 030
40 240 Pad material
46 046 Appli i
. pplicable pad diameter
Syl Material 015 | 220 | 230 | 040 | 046
N |NBR |- —1®| e
U |Urethane rubber | -1 —1®| e
F |FKM —|l—1—1 e e
GN |Conductive NBR —|—|—]® | @
GS |Conductive silicone rubber (White) — |- —] e | @
N . HardnessA40N)| @ | @ | @ | — | —
S [Silicone rubber (White) Hardness A0 — T _— 1 —Te e
S6 | Silicone rubber High-hardness type (White) |Hardness A60 [ K e | — | —
Note) Identification of rubber hardness: Painted with pink 1 dot
Dimensions: Pad Unit
ZP2-B15ZJSO] ZP2-B20ZJSO] ZP2-B30ZJSO]
215
o11 515
@T @.‘
gi‘ 0 ©
8 p == e 8 &
© ==
. 213
6.7 219
o214 | 220
215
ZP2-40ZJ01 ZP2-462J0) Weight [
ZP2-B15Z2JS0O 2.0
024 030 ZP2-B202JSCI | 2.0
021 ‘ 027 ZP2-B30ZJSO 4.5
‘ ZP2-40ZJN 16.0
! ‘ ZP2-40ZJS0__ | 15.0
— ZP2-40ZJU 16.0
t ZP2-40ZJF 25.0
3| ¢ 3 3 S ZP2-40ZJGN 16.0
¥ — ¥ ZP2-40ZJGS | 16.0
| ZP2-46ZJN 19,0
ZP2-46ZJS0] 17.0
— Zp2-a620F 500
LI o ZP2-46ZJGN__| 19.0
044 050 ZP2-462JGS | 19.0

4.5-Stage Bellows Pad Series ZP2

How to Order

Applicable pad

-

Applicable pad

Applicable pad

Applicable pad

If an adapter will be made by the customer, design the adapter with the dimensions shown below.

Applicable pad

Note) R part has to be smooth with no corners.

ZP2-B15ZJSC] ZP2-B20ZJSO ZP2-B30ZJSO ZP2-40ZJ0 ZP2-46ZJ0]
R R QR R R AR R R
| - ‘ S
o : © ] & ) ]
i ‘M wof : ‘ R i ‘ ‘m me 3 1 ‘ A\R i \* ] ‘ R\ R
o/l R ~PRAN T AR ~ TN w0 ‘ R -rzT ‘ i
- 286 - 29.6 - o15 |\R - - R
o1l 2125 218.5
-~ -~ -~ 022.5 229
227 232.5

J

1191-3 ®



Series ZP2

Component Parts

M Short thread type (Pad with adapter)

Component Parts

H One-touch fitting type (Pad with adapter)

Component Parts

No. Description Material (Surface treatment) No. Description Material (Surface treatment)
1 Pad Refer to the pad material (page 1191). 1 Pad Refer to the pad material (page 1191).
2 | Adapter Aluminum alloy (Anodized) 2 | Adapter Aluminum alloy (Anodized)
3 | Seal washer Structural steel/NBR 3 | Seal NBR
4 | Cassette —
5 | Nut Structural steel (Trivalent chromated)

® 1191-4




4.5-Stage Bellows Pad Series ZP2

Pad Displacement to Vacuum Pressure (Pad material: Silicone rubber)

’ The data shown below are not guaranteed but actual measured (initial
L value). These values depend on the operating environment, workpiece
L l weight and transfer method, so they cannot be guaranteed by SMC.
e — Thorough research and confirmation are necessary before use.
" ——
—_—
~—=_

Displacement

ZP2-B15ZJS ZP2-B15ZJS6
10 10
€ — €
E ¢ E ¢
g ° 5 o
£ £
8 4 8 4
S S
& 2 g 2
[s} [s}
0 0
0 -0 20 -30 -40 -50 -60 -70 -80 -90 0 -0 20 -30 -40 -50 -60 -70 -80 -90
Vacuum pressure (-kPa) Vacuum pressure (-kPa)
ZP2-B20ZJS ZP2-B20ZJS6
14 14
T 12 —— £ 12 ——
£ £ 1 —
€ €
o) 8 o) 8
£ / £
g 6 7 g 6
© ©
g ‘7 g ¢
a 2 a 2
0 0
0 -10 -20 -30 -40 -50 -60 -70 -80 -90 0 -10 20 -30 -40 -50 -60 -70 -80 -90
Vacuum pressure (-kPa) Vacuum pressure (-kPa)
ZP2-B30ZJS ZP2-B30ZJS6
20 20
€ — B
E 15 E 15 —
;s |/ :
g 10 g 10
< K]
& s g 5
o [=]
0 0
0 -0 -20 -30 -40 -50 -60 -70 -80 -90 0 -0 -20 -30 -40 -50 -60 -70 -80 -90
Vacuum pressure (-kPa) Vacuum pressure (-kPa)
ZP2-40ZJS ZP2-46ZJS
35 35
€ 30 € 30 —
£ // £
§ 20 § 20
g / £ /
g 15 / g 15 /
© ©
5 10/ = 10 /
8 s 8 s
0 0
0 -10 20 -30 -40 -50 -60 -70 -80 -90 0 -10 20 -30 -40 -50 -60 -70 -80 -90
Vacuum pressure (-kPa) Vacuum pressure (-kPa)

11915 ®



Pad size

Oval Pad

3.5x7t0o8x30

Symbol/Type

W: Oval

BFor work pieces with limit-

ations on the adsorption

surface

How to Order

2T zP2 - 3507 w@

Pad size Pad material _
T - Symbol Material
Symbol | Size Symbol | Size NBR
3507 | 35x7 |[6020] 6x20 : _
4010] 4x10 |[8020] 8x20 7 Li”é'fﬁ;:erf:;;err
5010 5x10 |[4030| 4x30 F FRM
6010| 6x10 |[5030] 5x30 -
40201 4x20 6030, 6x30 gg Cond?lzg\?:(:\ll‘i/:o:szbber
5020| 5x20 |[8030| 8x30
Pad type
(W [ Oval |
Dimensions: Pad Unit
ZP2-[__wO ZP2-[_ 20wl ZP2-[_ 300w
- A A A ==
12 20 30
@© - © © —
— ! ! !
>t >t >
JE {6 N )
(&)
¢ ¢
b 20 30
B 21 31
Dimensions Dimensions Dimensions
Model a/lAlb/B| C |Y Model al/lA| C |Y Model alA| C |Y
ZP2-3507W0|35/45| 7| 8 |, .. ZP2-4020WC1| 4 | 5 [2x18 ZP2-4030W1| 4 | 5 |2x1.8
ZP2-4010WCI |4 |5 ) 05 ZP2-5020WC| 5 | 6 | 2x2 |05 ZP2-5030WC1| 5 | 6 0.5
ZP2-5010WD)[5 [6 |10 11 | , 5 ’ ZP2-6020WC1| 6 | 7 | 25 ZP2-6030WL1| 6 | 7 |2x25|
ZP2-6010WCI |6 |7 i ZP2-8020W(J| 8 | 9 | 3 |08 ZP2-8030WC1| 8 | 9 0.8
Adapter Mounting Dim ons
If an adapter will be made by the customer, design the adapter with the dimensions shown below.
Applicable pad Applicable pad Applicable pad
3507W/4010W/5010W/6010W 4020W/5020W/6020W/8020W 4030W/5030W/6030W/8030W
A-A A-A
©
1 E ( 28.8 VI % ﬁ:tﬂfl.s
A A A
‘ i} r_J 1 < “‘+ s )] r—J 1
ass==
o &
23, S 23,
012.8 020.4
Note) R part has to be smooth with no corners.
\* Refer to page 1246 for adapter applicable to the ZP2 series. Y,

1192



ZP2-T 3507 W

Oval Pad: With Adapter (Vacuum Inlet Direction: Vertical) Series ZP2

How to Order

B5

(&

Vacuum inlet direction Vacuum inlet Replacement Part No.
[Symbol] Thread size | Model Pad unit part no. [Adapter part no.
[B5 | M5x08 | P2-T3507W[- ZP2-3507WCJ
P2-T4010W- ZP2-4010W0
Pad size Pad material P2-T5010WC- ZP2-5010WE] ZP2h-001
Symbol | Size Symbol | Size Symbol Material P2-T6 WL ZP2-6010WL]
3507 | 35x7 |[6020| 6x20 NBR P2-T4020WL- ZP2-4020WLJ
4010| 4x10 ||8020| 8x20 S Silicone rubber P2- W- ZP2-5020WL] ZP2A-002
5010| 5x10 ||4030| 4 x 30 U Urethane rubber P2- W- ZP2-6020WL]
6010] 6x10 |[5030] 5x30 F FKM P2-T8020WL1- ZP2-8020W0J
4020 4 x20 030| 6x30 GN Conductive NBR P2-T4030WLI- ZP2-4030WL]
5020| 5x 20 030 8x30 GS | Conductive silicone rubber P2-T5030WLI- ZP2-5030WL] ZP2A-003
P2-T6030WLI- ZP2-6030WL]
Pad type P2-T8030WLI- ZP2-8030WLJ
Note) O in the table indicates the pad material.
Dimensions: With Adapter
ZP2-T[__|W[I-B5 ZP2-T[__20/W[1-B5
~ ~ 3
© {ep
12 20
M5x0.8 28 M5 x 0.8 ol
! |
T T T
g s =
el || = .
==\ >t >-T
g 1 ==
¢
= °
b 20
B 21
Dimensions Dimensions
Model a A b B (o] Y Model a A (o] Y
ZP2-T3507W0-B5 | 35 | 45 7 8 %15 ZP2-T4020W0-B5 | 4 5 | 2x1.8
ZP2-T4010WO-B5 | 4 5 i 05 ZP2-T5020W0-B5 | 5 6 2x2 | 05
ZP2-T5010W0-B5 | 5 6 10 11 25 : ZP2-T6020W0-B5 | 6 7 25
ZP2-T6010W-B5 | 6 7 i ZP2-T8020WCI-B5 | 8 9 3 0.8
ZP2-T[__30/W[1-B5
Nyl € T
N 2y
30
219
M5 x 0.8 |
o [
’?_? T |
= 0
i !
} >
/ \ Dimensions
< ® - = Model a | A [ Y
K \2 c ZP2-T4030WC-B5 | 4 | 5 | 2x18
ZP2-T5030WC-B5 | 5 6 0.5
30 ZP2-T6030W-B5| 6 | 7 | 2x25
31 ZP2-T8030WC-B5 | 8 9) 0.8

1193

P2y

> |I[NNI[N [N N
=Rk
SNE < E



Series ZP2

How to Order

K10-B5

Vacuum inlet (H)
Symbol| _Applicable tube O.D.
. B;l‘ffer;tioke (%) B5 M5 % 0.8
o Yool roke) 04 | 4 One-touch fitting
Symbol | Size Synz: : ::zzee ;g ;g e 106 [ 06 One-touch fiting _|
i mm
3507|35x7](6020] 6x20 | | = Pbald mahtﬂethll(D) 3 30 mm
4 4x10 |[8020] 8x20 HILE I 4 40 mm
5 5x10 | [4 4x30 N NBR | 5 50 mm
6 6x10 5x30 S Silicone rubber
[4020] 4 x 20 6x30 g U’e’h’j‘:’mu*’bef Replacement Part No.
5020 5x20 8x30 GN | Conductive NBR Model Pad unit part no. | Adapter part no. Buffer part no.
Pad type LGS [ Conductive silicone rubber ; . e J\‘;vvf 2::: éggig%“i ZPB2K KM
Buffer specification® [ZP2-T5010WLIKk-B | zP2-5010wr] | 2 2A001 _
[Symbol]_Specification | [ZP2-T6010WLIK-M | ZP2-6010WL] Vacuum inlet
|_ K| Non-rotating | | ZP2-T4020WLIK>-M | ZP2-4020W] | Buffer stroke symbol| APPlicable
P2-T5020WLIK%-H | ZP2-5020W[] ZP2A-002 Symbol| Stroke tube O.D.
T - P2-T( OWLIKk-M | ZP2-6020W] | a 10 | 10 mm B5| M5x0.8
Buffer Specifications P2-T8020WLIKok- M | ZP2-8020WL] 20 [20mm | [ 0,1 04 one-
P2-T4030WLIK>*-H | ZP2-4030WJ 30 | 30 mm touch fitting
Stroke (mm) 10, 20, 30, 40, 50 P2-T5030WCIK-M [ ZP2-5030WE] | 000 0o 40 | 40mm | | gof 06 one-
Spring reactive [At 0 stroke 0N P2-T6030WLIK>-M | ZP2-6030WL] 50 | 50 mm touch fitting
force | At full stroke 30N P2- 3 OWL (f"- ZP2-8030WL] - — -
Nut tightening torque 25t03.5N-m Note 1) O in the table indicates the pad material. Note 3) M in the table indicates the vacuum inlet.
Note 2) % in the table indicates the buffer stroke.
Dimensions: With Buffer
ZP2-T[__IWOK%-B5 ZP2-T[_20)W[JK%-B5
Width across fIatS\ M5 x 0.8 Width across flat 8 M5 x 0.8
o0 © o0 o
" Width across flat 14 - Width across flat 14
"L 1Al
G
w =B u B
€ |of Jol w0 T | o Tl mi0x1
a J_L M5 x 0.8 =] J_L M5 x 0.8
o I ©f ]
o= o B
> Dimensions > Dimensions
< o &) Model a[A[B[BIC IV of of : Model alA] C [V
—=4C ZP2-T3507W(IK%-B5|3.5(4.5] 7| 8 e IBS o ZP2-T4020WK*-B5] 4 [ 5 [2x18
b _ZP2-T4010WOK%-B5[4 |5 “los 20 ZP2-T5020WIK-| 5/6[2x2|05
B ZP2-T5010WLIK%- 5 [6 |10[11 25 : 21 ZP2-T6020WLIK%- 6|7]25
el ZP2-T6010WLIK - 6 |7 i ZP2-T8020WL K- 8|/9| 3 |08
ZP2-T[_30W[IK%-B5
Width across flat 8 M5 x 0.8 Dimensions common for all —
o three drawings
@ % Dimensions (per buffer stroke)
Width across flat 14 Stroke (%) D E 3
© ’r p 10 115] 23 | 615
20 21.5 99.5
w ol 30 a15] O [H095
i M10 x 1 40 415 1455
L | ,H: . M10x1 50 515 77 [1555
a L M5 x 0.8
of J
@ Lzﬁﬂ ) . .
1 Dimensions
<1 NI odel a A (o] Y
ZP2-T4030WLIK - 4 5 |2x18
30 ¢ ZP2-T5030WLKX-B5| 5 | 6 05
ZP2-T6030WLIK%- 6 7 _|2x25
3 ZP2-T8030WLIK*- 8 | 9 08




Oval Pad: With Buffer (Vacuum Inlet Direction: Vertical) Series ZP2

Dimensions: With Buffer

ZP2-T[ WK% ZP2-T[20/WIKk-3¢
Width across flat J oH Width across flat J oH
S Width across flat 8 M5 x 0.8 S Width across flat 8 M5 x 0.8
2| Width across flat 14 | Width across flat 14
° [ ° i
w RE w RE
L | ,k:, M10x 1 T | o ’kﬁ M10x 1
=] L M5 x 0.8 a L M5 x 0.8
© i © il
- = - =,
>t >t
9 = 4 =)
IR == N o
b 20
B 21
Dimensions Dimensions
Model a A b B Cc Y Model a A (o} Y
ZP2-T3507WL K- 35 | 45 7 8 2%15 ZP2-T4020WLIK%- 4 5 |2x1.8
ZP2-T4010WOIK*- 4 5 i 05 ZP2-T5020WIK%- 5 6 | 2x2 | 05
ZP2-T5010WLIK%- 5 6 10 | 11 25 ) ZP2-T6020WIK%- 6 7 25
ZP2-T6010WLIK%- 6 7 i ZP2-T8020WLIK%- 8 9 3 0.8
ZP2-T[30WIK%-3
Width across flat J oH
c Width across flat 8 M5 x 0.8
2| Width across flat 14
° i
w B
[y - WL M10x 1
[a] u M5 x 0.8
© J
® Lzﬁﬂ ¥
>!
< =)
o Dimensions common for all three drawings
30 Dimensions (per buffer stroke)
= Stoke() | D | E | F |-Higd | H:o6
. . G J G J
Dimensions 10 115] 23 | 615
Model a A C Y 20 21.5 99.5
ZP2-T4030WLIK%- 4 5 |2x1.8 30 315 51 109.5 | 139 | 8 |14.7| 10
ZP2-T5030WLIK*-3 | 5 | 6 05 20 45 1255
ZP2-T6030WIK%- 6 | 7 |2x25 50 5151 /7 1555
ZP2-T8030WLIK%- 8 9 0.8

1195

> |I[NNI[N [N N
=Rk
SNE < E



Series ZP2

Male thread mounting

Female thread mounting

How to Order

e,
LUy ZP2 - R 3507 W |N|— 04 - A5
. . . T Mounting
Vacuum inlet direction Symbo Threadses
Pad material (CJ) A5 [ M5x0.8 (Male thread) |
[Symbol] Material B5 | M5 x 0.8 (Female thread
e e NBR )
5 mﬁ:’adssi;:e S Silicone rubber Vacuum inlet (H)
,y.n7 35x7 Pad type U Urethane rubber Symbol| Applicable tube O.D.
2 ; . ’;0 [Symbol[_Type | F FKM 04 04
50 10 W [ Oval | [GN]| Conductive NBR 06 06
E 0 5 i 10 GS [Conductive silicone rubber|
14 ;gg gigg Replacement Part No.
(6020 6x 20 Model Pad unit part no. |Adapter partno.|  Type R adapter part no.
8020 8x20 > | ZP2-R3507WL] ZP2-3507WL]
rac 4x30 ZP2-R4010WLI-M-B5[ZP2-4010WH | pn0 014
5% 30 ZP2-R5010W ZP2-5010W[] ZPRS-M-A5
6% 30 P2-R6010W ZP2-6010W]
8 x 30 P2-R4020WI ZP2-4020W(] ZPRS-E-B5
; -R5020WI ZP2-5020WL] | 0,0 105 Tvﬂcuum inlet
il — ZP2-6020WL] | Symbol | Applicable tube 0.D.
P2-R8020W ZP2-8020WJ 04 o4
P2-R4030W0] ZP2-4030W] 06 26
P2-R5030W ZP2-5030WL] | 55, 10a
P2-R W ZP2-6030W]
P: P2-R8030W1-M-B5 | ZP2-8030W]
Note 1) J in the table indicates the pad material.
Note 2) M in the table indicates the vacuum inlet.
Dimensions: Without Buffer
ZP2-R[__|W[I-%-A5 ZP2-R[__20/W[1-3¢-A5 ZP2-R[__30/W[]-3-A5
Width across flat 8 Width across flat 8 Width across flat 8
Width across flat 10 Q Width across flat 10 Q Width across flat 10 Q
N : "
- \ B - 10 - 10 }
N i M5 x 0.8 « L M5 x 0.8 o L
« x0. < x0. R M5 x 0.8
i . ] : ’ M i
ST v = R st i~ i
P i ° T ® iy
> ul > al o il H]
= T R - . R A 1 R
of J of I of M5 x 0.8
© ) >~ msxos © k [~ M5x08 © [ X
= =— —
> >t >t
e c JI ==
b 20 30
B 21 31
Dimensions Dimensions Dimensions
odel alA|lb|B|[ C |Y Model alA[ C |Y alA| C |Y
P2-R3507W 35[45] 7] 8, .. ZP2-R4020V 4[5 2x18 P2-R4 4 [48]2x18
P2-R4010W| 4 |5 °los  ZP2-R5 56 [2x2|05 ZP2-R5 56 05
_ZP2-R5010W 5 16 |10 11 ], |~ ZP2-R6! 67|25 P2-R6! 6[7 |2x25|
P2-R6010W| 6 |7 - _ZP2-R8| 8[9] 3 [08 _ZP2-R8| 8 [9 08

Dimensions common for all
three drawings
Dimensions (per applicable tube)

Applicable tube O.D. (W)| P Q R S
4 4 20.6 | 15.6 | 10.4
26 6 216 | 16.6 | 12.8

1196



Oval Pad: Without Buffer (Vacuum Inlet Direction: Lateral) Series ZP2

Dimensions: Without Buffer

ZP2-R[_JW[-§3-B5

Width across flat 10

M5 x 0.8

ZP2-R[_20W[I-33-B5

Width across flat 10

M5 x 0.8

Q
ji;lﬂ_mt P
— |
b M [V
=| ™
8 o I H®
<
s
M5 x 0.8
© Lj X328
S
< = {==he
b |
LBl
Dimensions
Model a A b B (o] Y
ZP2-R3507W[]-M-B5 | 35 | 45 7 8 2%15
ZP2-R4010WCI-MW-B5 | 4 5 i 05
ZP2-R5010WCI-M-B5 | 5 6 10 | 11 25 i
ZP2-R6010W(CI-M-B5 | 6 7 i

ZP2-R[_30W[I-§¢-B5

M5 x 0.8

Width across flat 10 Q
\ﬂ; T o} P
= |
1= [1] 11777)
8o [ e
hi R
o} il N
© L L M5x08
>t

30
31
Dimensions
Model a A Cc Y
ZP2-R4030W[-W-B5 | 4 5 2x1.8
5 6 0.5
6 7 | 2x25
ZP2-R8030W[I-M-B5 | 8 9 0.8

Q
WE= |~
— il
= M [¥'en
= ™
3 | L H°
s R
— IS
®¢ DU k M5 x 0.8
X 0.
® — y
>
I ==
(o]
20
21
Dimensions
Model a A (o] Y
ZP2-R4020W(C-W-B5 | 4 5 2x1.8
ZP2-R5020W[I-M-B5 | 5 6 2x2 0.5
ZP2-R6020W[-M-B5 | 6 7 25
ZP2-R8020W(-M-B5 | 8 9 3 0.8

Dimensions common for all three drawings
Dimensions (per applicable tube)

Applicable tube O.D. (W)| P Q R S
o4 4 20.6 | 15.6 | 10.4
26 6 21.6 | 16.6 | 12.8

1197

N
-
W

P2y

MEL S|

NN
-l
-

><
=
=23
(=2
p=



Series ZP2

How to Order
K 10 o Vacuum inlet (H)
Symbol Applicable tube O.D.

04
06 26
Buffer stroke (%)

KIEYEEE ZP2 - R 3507 W
5y

Vacuum inlet direction

Pad size e——— Buffer specification (| Stroke
Symbol|_Size || Symbol|_Size Pad type _. 10 [ 10mm
3507 3.5x7|[6020] 6x20 | [Symbol[ Type | 20 | 20mm
40 4x10 |[8020] 8x20 | [W [ Oval | 3 30 mm
50 5x10 ||4 4x30 ﬁ ggmm
9 mm
50100 6 x 10 5x80 Replacement Part No.
4020 4x20 6x30 -
(5020 5 x 20 8x 30 Model -~ Pad unit part no. |Adapter partno.| Type R adapter part no. | Buffer part no.
o 507WO ZP2-3507W|
i owd ZP2-4010W|
Pad material () oW ZP2-5010W ZP2A-001 | ZPRS-M-B5 ZPB2Kk
Symbol Material - = =
NBR )10WO ZP2-6010W| Tv inlet
S Silicone rubber R4020WL) | ZP2-4020W al':uuAm "n ‘;‘ %%or::e
U R5020W] ZP2-5020W| pplicable J
F Umhi?f,\,{wber ZP2-R6020W] ZP2-602ow]_| 2724002 P ube 0.0. 0 [10mm
)-| O ¥ 0O 04 04 20 mm
GN Conductive NBR | ZP: —RSOZOW: ZP2-8020W 06 5 g 30
GS [Conductive silicone rubber = | ZP2-4030W1 2 mm
ZP2-R5030W0] ZP2-5030W0_| 550 003 40 [ 40 mm
[ ZP2-R6030WL] ZP2-6030WCJ 50 [ 50 mm
ZP2-R8030W LK - | ZP2-8030W[]

Note 1) O in the table indicates the pad material. Note 3) M in the table indicates the vacuum inlet.
. . . Note 2) % in the table indicates the buffer stroke.
Buffer Specifications (Non-rotating)

Stroke (mm) 10, 20, 30, 40, 50
Spring reactive | At 0 stroke 10N
force | At full stroke 3.0N

Nut ti ing torque 25t03.5N-m

Dimensions: With Buffer

ZP2-R[_JWOK*-0¢ ZP2-R[20W[IK%-¢ ZP2-R[_30WOK%-J¢
Width across flat 6 Width across flat 6 Width across flat 6
| Width across flat 14 E | Width across flat 14 E I Width across flat 14 E
| Lk |
w coiis w =B w aailii =)
) H M10x 1 [ H M10x 1 ) H M10 x 1
— ] —
Py Q — Q — Q
c° c° g °
] ; 1 ; J i
Width across flat 10 P Width across flat 10 P Width across flat 10 P
i i S i A i
o ol o il @ ol
3 R h 7L R pi = R
© ©, ©
t !‘J% M5 x 0.8 t ”H M5 x 0.8 t L "ﬂ M5 x 0.8
® L: J ¥ @ lﬁ: 11 © —— 1
>t > >
| ® < ©) A - < ©
<=1 =¥ [ f=r=ic
b 20 30
B 21 31
Dimensions Dimensions Dimensions
odel a/lAlb/B| C |Y odel a/lA| C |Y odel a/lA| C |Y
ZP2-R3507WLIKX-M |35(45| 7| 8 2x15 ZP2-R4020WLIK»-M | 4 | 5 [2x18 ZP2-R4030WLIK*-M | 4 | 5 [2x18
P2-R4010WIK*-M [4 |5 °los  ZP2-R5020WLIK*-M |56 [2x2]05 “ZP2-R5030WLIK*-B | 5 | 6 05
“ZP2-R5010WLIK*-M [5 [6 | 10| 11|, |" ZP2-R6020WIK*-B | 6 [ 7 | 25 “ZP2-R6030WLIK*-M | 6 | 7 |2x25|
ZP2-R6010WLIK*-H [6 |7 : "ZP2-R8020WIK*-M [8 [ 9| 3 (08 "ZP2-R8030WLIK*-M [ 8 | 9 08
Dimensions common for all three drawings
Dimensions (per stroke) Dimensions (per applicable tube
Stroke (%) D | E F Stroke (%) D | E F Applicable tube O.D. (W) P Q R S
10 11 | 23 | 84 0 31 | 51 | 132 o4 4 206156 [ 104
20 21 [ 51 | 122 40 41| o, [ 168 06 6 [216]166 [ 12.8
50 51 178

1198



Symbol/Type

Pad with Ball Spline Buffer

ZLEENCEY 02, 04, 06, 08

U: Flat

HBall spline guide is used to the buffer.

Buffer Specifications

How to Order

ZP2-T02U[N]|S 6

Vacl:jl_lm‘:lplel: TBuffer stroke
(6 6mm |
Pad diameter Buffer specification
Symbol]Pad diameter]
02| o2 [s [ Balspine ]
04 04
06 06 Pad material
08 08 [Symbol Material
NBR
Pad type S Silicone rubber
[Symbol] Type ] U Urethane rubber
[ U [ Flat | F FKM
GN Conductive NBR
GS |Conductive silicone rubber

Replacement Part No.

Specifications Ball spline Model Pad unit part no. [Adapter part no. | Buffer assembly part no.
Stroke 6 mm E: -T02U jg ZPo2UL]
Spring reactive ‘ At 0 stroke 08N E, :. gt’%s éggggz ZPT1-B5 ZP2B-T3S6
force | At full stroke 11N ZP2-T08UCIS ZPosul]
Note) [ in the table indicates the pad material.
Dimensions
—
ZP2-TIUCIS6 18
|
A1
o |
Ix 3
X34
M5 x0.8
1 -l
- Width across flat 8
" | |
* ~ o1 04? 009
oi ~
g
ol N H
3 -
o
0
o~ Width across flat 7
i Dimensions
= Model A | B|C|Y
oC ZP2-T02UCIS6 2 | 26| 12|05
! ZP2-T04UL1S6 4 | 48 | 16 08
2A | ZP2-T06UCIS6 6 [7 | ,, |
oB ZP2-T08ULIS6 8 |19 ) 1

1199

P2y

> |I[NNI[N [N N
=Rk
SNE < E



Mark-free Pad Series

Minimizes the transfer of rubber constituents to the workpiece.

\ Standard silicone rubber
Analysis equipment:

Scanning probe microscope
Measurement conditions:

Measurement mode

Atomic force microscope DFM mode

Sample conditions:

i board !
Si boar Press the vacuum pad to the Si board
for 1 hour.
| — B . .
Enlarged 5 im Monitoring location:
view Monitored at a randomly selected

location where adsorption marks were
likely due to contact between the
vacuum pad and Si board.

Adsorption mark

———
Mark-free NBR Pad

(-
Minimizes the transfer of rubber constituents which is
supposed to be the cause of adsorption.
Pad diameter: ¢4 to 0125

Heavy-duty type

=3

AStuck Fluororesin Pad

Fluororesin sheet is baked onto the pad adsorption
surface. Prevents the transfer of rubber constituents.

Pad diameter: 240 to 0125

—

5um
AResin Attachment
PEEK material is used for the pad adsorption surface.
Prevents the transfer of rubber constituents.
Pad diameter: o6 to 532
STm Attachment

Related Pad
m'mCyclone Pad
No adsorption mark is left because

the vacuum pad does not come into
contact with the workpiece.

—
5um

‘The above adsorption marks show sample data. Actual results will depend on the conditions. ‘
1200 ZsvC




Series ZP2

Material of the Adsorption mark *1 S 5
B eAaT Operating | trict
Pad type (Part in contact with Condition *2 (Initial value) ten?peratugre fr:;::gn
the workpiece) Visual checking | Vapormethod “3|  range (°C)
Mark-free : Mark-free NBR
NBR pad (Specially treated *4) o o 5t040 06
NBR + Stuck fluororesin [ ) [ ) 510 60
w Stuck 02
o fluororesin pad |
)
(7} FKM + Stuck fluororesin [ ) [ ) 5to 100
3
%
3 y
& a PEEK [ ] (]
x
] Resin
]
= attachment 51040 0.2

" | Conductive PEEK
" (Volume resistivity: 1 x 10° Qcm) . ‘
Standard:

!‘ Cyclone pad ln = _ o Y —5t0 60 -
- (No freezing)

NBR
o FKM X X
§ Series ZP Conductive NBR/Silicone rubber
& | (Standard material) - -
(7] Silicone rubber 0 X

Urethane rubber

Adsorption mark characteristics [@: Little or no influence O: Can be used depending on the conditions. X: Not suitable]

= The above table is for reference when selecting the pad.
Values and evaluation are reference data only. Preparatory testing under actual operating conditions is recommended.

«1 Adsorption mark Indicates the transfer of rubber constituents from the pad.

%2 Condition —————————— Visual evaluation of the adsorption mark

%3 Vapor method ——— Method of applying vapor to the workpiece to visually check for adsorption marks
=4 Specially treated NBR is specially treated to modify and reduce the transfer of rubber constituents.

=5 Static friction ratio Static friction ratio when the workpiece (glass) is adsorbed by the pad. (NBR = 1 as a benchmark)
When the cyclone pad is used, the pad does not come into contact with the workpiece (glass).
The customer needs to install a guide for holding.

Cleaning method [Mark-free NBR pad/Stuck fluororesin pad/Resin attachment]

* Always clean the product before operation and when carrying out regular maintenance.
1) Hold the part other than the adsorption surface.
* Non particle-generating vinyl gloves are recommended.
2) Soak a non particle-generating cloth in 2-propanol (isopropyl alcohol) (purity > 99.5%).
# This solution is a recommendation. If not available, use a solution with high purity which does not affect the material properties.
3) Wipe the adsorption surface (pad/resin attachment) and the part that comes into contact with the workpiece.
4) Dry them with clean air blow. (Or, wipe again with a dry non particle-generating cloth.)

1201

O
2

N
-
w

P2V

MEL <

NN
-l
-

><
=
=
b=
p=q



Symbol/Type

Mark-free Pad

U: Flat
ZECCELEEY 04, 06, 08, 310, 616, 925, 332, 940, 50
M Pad which reduces the How to Order J-
adsorption marks left on the
workpiece by rubber m ZP2-04U -X19
M The pad is made from Pad diameterl o :
mark-free NBR, and the NBR Symbol[Pad diameter With/Without lock ring
. . 04 4 [Nill | _With lock ring |
is then specially treated to 06 | ot [X19] Withoutlock fing Noto |
minimize the transfer of 08 o8 Note) @10 orlarger
rubber constituents to the ;g 2t Pad material
. [2] S) i
workpiece. 32 [ o032 e ]
. M 4 040
H Applicable for the ZP series 5 050 Pad type
adapter
Dimensions: Pad Unit
ZP2-04 to 08UCL ZP2-10 to 50UCL
Lock ring oD
o7
ﬁ w
— 4 >
B [
oc| || > oC
oA oA
oB oB
Dimensions Dimensions
Model A[BJ[C]J[Y Model A[B[C[DIJE][Y
ZP2-04UCL | 4 [ 48[ 16| o ZP2-10UCL | 10 | 12 15 12 |3
ZP2-06UCL 6 7 25 ) ZP2-16UCL 16 18 4 125 | 35
ZP2-08UCL 8 9 i 1 ZP2-25UCL 25 28 15 14 4
ZP2-32UCL | 32 | 35 145 | 45
ZP2-40UCL | 40 | 43 - 18 18.5 | 6.5
ZP2-50UCL | 50 | 53 195 75
Adapter Mounting Dimensions
If an adapter will be made by the customer, design the adapter with the dimensions shown below.
Applicable pad Applicable pad Applicable pad Applicable pad
04U/06U/08U 10U/16U 25U/32U 40U/50U

04.9 %5 [ as.s [ -
Lot &l <,
L 3 = A
”

L_ Q
<
= @ g ~ o .
~olol P '7‘{35‘., bdIN @ 5P S KL
©
[ Q\& b > \5 N DS
N [ | - Q/\u}, Nt (©3 o (©)
< be & «
02.5 2.5 3.5 24.5
23.8 04.5 25 28
24.9 @5 6 29
Note) R part has to be smooth with no corners. 066 08 o11.7

\* Refer to page 1249 for adapter applicable to the ZP series.

® 1202




Mark-free Pad

ZCEELEEY 940, 950, 963, 980, 100, 3125

Symbol/Type

H: Heavy-duty
(Flat with rib)

M Pad which reduces the
adsorption marks left on the
workpiece by rubber

H The pad is made from
mark-free NBR, and the NBR
is then specially treated to
minimize the transfer of
rubber constituents to the
workpiece.

H Prevents rubber constituents

How to Order

IEZETETN zP2- 40 HICL]

Pad diameter

Symbol| Pad diameter
40 240
50 250
63 063
80 280
100 | 0100
125| 0125
Pad type

Stuck fluororesin

Pad material

Material

Mark-free NBR

. [Symbol] Type | NT NBR + Stuck fluororesin
of the pad from transferring by [_H_| Heavy-duty (Flat with rib) | FT FKM + Stuck fluororesin
baking the fluororesin sheet to
the adsorption surface.
Dimensions: Pad Unit
ZP2-8HO ZP2-§3HO ZP2-13%HO
oC
oC oC © ©
- —_— b ea=—
31 T — QI / N INEEN + & B — 0
ha f I o { [ 10 [t}
o] |ete o8 > < 010, °
oA oA oA
oB oB oB
Dimensions Dimensions Dimensions
Model A B (9 Model A B (9 D Y Model A B (o)
ZP2-40HC] 40 42 32 ZP2-63HC] 63 65 50 | 145 ] 35 ZP2-100HO 100 | 103 80
ZP2-50HC] 50 53 42 ZP2-80HLC] 80 82 61 | 16.5] 4.5 ZP2-125HC] 125 | 128 | 104

1203

P2y

XT661

Bl < H



Resin Attachment
ZLEELEED 06, 08, 610, 913, 916, 020, 25, 332

H No adsorption marks (rubber constituents)
are left on the workpiece.

Avoids direct contact between the workpiece and the

rubber by installing a PEEK attachment to the bellows

pad to prevent the transfer of rubber constituents.
H Prevents sticking of the pad (rubber) and the 06

workpiece.

M Ideal for the ZP series bellows pad (¢6 to 932)

-

How to Order (When ordering with a pad)

s

Attachment

Dimensions
w
w >
o y
ef o€ >
oA
oB

1204

Bellows pad

How to Order

Pad di t Attachment material
Symbol| Pad diameter Symbol Material
ZP06BL] P PEEK
08 | zPo8BO GP_|Conductive PEEK
ZP10BO
ZP13B0]
ZP16B0]
20 | zP20BO
25 | zpP25B0J
32 | zpP32BOJ

L -

e When ordering with a pad, put “+”, below the part number of the pad as shown
below. Note that the pad is not delivered with the attachment assembled.

® This attachment can only be assembled onto SMC’s standard bellows pad.
® When the attachment is made of conductive PEEK, use conductive material for

the pad.

Ordering ZPT06BNJ10-B5-A8

Bellows pad part no.

example =+ ZP2-06KP <—{ Resin attachment part no. ‘
Dimensions
Model Applicable pad A B (o] D E F Y

ZP2-06KH ZP06BL] 6 7 1.6 3 | 135
ZP2-08KH ZP08B[] 8 9| 8 )
ZP2-10KH ZP10BO 10 12 35| 05 35|165| 05
ZP2-13KH ZP13B0O 13 | 15 4 5519
ZP2-16KH ZP16B0 16 | 18 6 |205
ZP2-20KH ZP20B] 20 | 22 | 8 85 245
ZP2-25KH ZP25B0] 25 | 27 10 1 125 1
ZP2-32KH ZP32BL] 32 | 34 11.5 | 30

Note 1) W in the table indicates the attachment material.
Note 2) O in the table indicates the pad material.

«Precautions»
Clean the product before using the attachment.
This product is not cleaned after machining. If the product is used in the
condition in which it is shipped, residual material may be left on the work
pieces. Clean before usage. If you have any questions, please contact

SMC.

« If contact with hard material is a problem, do not use this product.

* PEEK material and cut parts fall under the security trade control.



Symbol/Type

Sponge Pad

ZLEENEEY 04, 06, 08, 010, 015

H For adsorption of work pieces How to Order

with bumps
T 20636 @
LMJ Pad O.D—.l_ Pad material
Symbol| Pad diameter Symbol Material

04 04 GS | Conductive silicone
06 26 GC | Conductive CR
08 28

T 10} 010 Pad type
15l o5

Dimensions: Pad Unit

ZP2-04S] ZP2-06S] ZP2-08S]
1.5 23 o4
24 26 28
ZP2-10S ZP2-15S0
06 210
210 215

> |I[NNIN [N N
=Rk
SNE < E

Adapter Mounting Dimensions

If an adapter will be made by the customer, design the adapter with the dimensions shown below.

Applicable pad Applicable pad Applicable pad Applicable pad Applicable pad

04S 06S 08S 108 158

S L L - L - [ o N — >

T e el belee (e ] A

0 © n ] ©

—~| 208 ~| 915 - 02.5 - 4.1 - 4.1
01.6 23.1 4.1 6.1 210.1
2.1 23.9 4.9 6.9 210.9

\# Refer to pages 1247 and 1248 for adapter applicable to the ZP2 series.

1205



Series ZP2

ZP2-T 06 S[GS|- A3
—J:;ounting

Vacuum inlet directionT

How to Order

" Applicable pad 0.D. symbol
Symbol Thread size 0410610810 [15
A3 | M3 x 0.5 (Male thread) e —|—|——
Pad O.D. A5 [M5x0.8 (Malethread) |— @ [@ |@ [ @
Symbol | Pad diameter B3 |M3x0.5 (Female thread) | @ | — | — | — | —
04 o4 B5 [M5x0.8 (Femalethread)| — | @ | @ | @ | @
06 06
08 08 Pad material
10 210 Symbol Material
15 | o15 GS [ Conductive silicone Replacement Part No.
GC Conductive CR Model Pad unit part no. |Adapter part no.
ZP2-T04S[-A: ZP2-04S[] ZP2A-S01P
ZP2- CI-A! ZP2-06S[] ZP2A-S02P
P2- C-A! ZP2-08S[] ZP2A-S03P
P2-T10SCI-A! ZP2-10S[] ZP2A-S04P
P2-T15S[-A! ZP2-15S[] ZP2A-S05P
P2-T04S[- ZP2-04S[] ZP2A-S11
P2-T06SL- ZP2-06S[] ZP2A-S12
P2-T08SL- ZP2-08S[] ZP2A-S13
P2-T10SC- ZP2-10S[] ZP2A-S14
P2-T15S0- ZP2-15S[] ZP2A-S15

Dimensions: With Adapter

ZP2-T04S[1-A3

ZP2-T06S[1-A5

Width across flat 7 M5x0.8 _

Width across flat 5 _M3x0.5 (Hexagon)

(Hexagon)

—

(10
25
(1)

35

25

i

20.8

21.5
o4

1206

Note) (I in the table indicates the pad material.

ZP2-T08S[1-A5

Width across flat 8 M5x0.8
(Hexagon) \
wn
©
[
wn
= o
wn
1
-
¥
22.5
04 |
28




Dimensions: With Adapter

ZP2-T10S[1-A5

Width across flat 10

M5 x 0.8

Sponge Pad Series ZP2

ZP2-T15S[1-A5

Width across flat 15

M5 x 0.8

]
© ©
= ‘
o T
5 3 g 3

r ] '
- -
i t

2.5 92.5

06 210

210 215

ZP2-T04S-B3 ZP2-T06S[1-B5 ZP2-T08S[1-B5
Width across flat 5 M3x 05 Width across flat 7 M5 x 0.8 Width across flat 8 M5 x 0.8
3 ° . .
& - J ~ ~ |
= f g = J g —
'
‘_‘ © C © r

20.8 ! _*‘ J‘
} ¥

Width across flat 10

21.5

o4

ZP2-T10S[1-B5

M5 x 0.8

215
23

2.5

28

ZP2-T15S[1-B5

Width across flat 15

M5 x 0.8

(10)

A

:

4.1

26

210

(10

A

-

241

210

215

1

1207

P2y

> |I[NNIN [N N
=Rk
-] -]



Symbol/Type
Heavy-duty Pad " Fiat with i

P, 32, 6150, 0250, 0300, 0340 T o o with o)

HReinforced pad to prevent How to Order

deformation when transferring ..
heavy or large work pieces m ZP2-32 ﬂ@ -
Pad material ‘

Pad diameter
Symbol|Pad diameter| Symbol Material
32 232 N NBR
150 | 2150 |_S |Silicone rubber®
250 | 9250 F FKM
300 | 300 C CR
340 | 0340 Note) Silicone rubber is only applicable
to the 232 pad.
Note) The mounting adapter is available as a special order. Pad type—Pad diameter
Pad e s 90kl | 32 |150| 250 300|340
H (Flat with rib) e — | — el e
HT (Thin flat with rib) — o @ —|—
Dimensions: Pad Unit
ZP2-32H0]
026 0
o
=
© i
+ N
25 o
232
034
ZP2-300HC ZP2-340H0C
2240
4xM8x1.25
0276
2160 -
71 ® -
] Hie—=
© ] 3 e
o Qe
052 2 052
2298 2340
2301 9344

1208



Dimensions
ZP2-150HT
2103
=
? il 4
-
220 | o
2150
2155

Heavy-duty Pad Series ZP 2

ZP2-250HT]

2150
4xM8x1.25
0124

10

Q
a
o

17

1209



Heavy-duty Pad

ZLEELEEY 032, 0150

Symbol/Type

HB: Heavy-duty

(Bellows)

HFor heavy or large work pieces

How to Order

2T zP2-32HB @
Pad material

Pad diameter

Symbol

Pad diameter| Symbol Material

32

032 NBR

150

2150

Note) The mounting adapter is available as a special order.

Dimensions: Pad Unit

ZP2-32HBO

226

3x 85

3xe3

13

1210

FKM

Silicone rubber™e®

()‘!’I‘U}‘

CR

Note) Silicone rubber is only applicable

to the 932 pad.

Pad type

Symol[  Type |
[ HB | Heavy-duty (Bellows)

ZP2-150HBO

2109

4x014

4 x 09

66

| R

47

2105

2150

2152

2154




Symbol/Type

Heavy-duty Pad

RS 30 X 50

HW: Heavy-duty
(Oval)

BFor heavy or large work pieces How to Order -
T zr2- 3050 HW

Pad S|ze ad material
Symbol] __ Material

(3050] 30x50 | N NBR

S | Silicone rubber
F
C CR
Pad type

Syl Type ]
i

Note) For details about the mounting bracket, refer to pages 1253, 1254, 1264, and 1265. m Heavy-duty (Oval)

Dimensions: Pad Unit

ZP2-3050HW]

232
wn
| [
=
9[ J N
@
26

A

//7@\ ns

33
30

1211

P2y

> |I[NNIN [N N
=Rk
SNE < E



Heavy-duty Ball Joint Pad

LV EEY 40, 050, 063, 280, 100, 125

Symbol/Type

H: Heavy-duty
(Flat with rib)

B For adsorption of work pieces
with inclined surface

Replacement Part No.

How to Order

CEr zP2-TF 40 H
1

Vacuum inlet direction

Specification (mechanism)

Vacuum inlet direction

Pad material ((J)

| Balljoint | .
Model Pad unit part no. | Adapter assembly part no. . al jon Symbol Material
P2-TF40HO | ZzP4oHO With three Pad ¢ = o _NBR
P2-TF50HC] ZP50HC] ZP2A-TF1 | Vi3 bolts Symbol[Pad diameter] S | Silicone rubber
P2-TF63HL] ZP63HL] With four 4 240 Pad type U | Urethane rubber
P2-TF8OH | zpsoHl | 272ATF2 | M4 bolts 050 | [Symbol Type F FKM
P2-TF100HO | zP100HO With four | 63 | 063 | Heavy-duty E EPR
P2-TF125HC1 | zPiasH] | 2-2ATFS | M5 bolts 080 H | (Frat with rib)
Note) O in the table indicates the pad material. }gg s}gg
Dimensions: With Adapter
ZP2-TFiHO
Width across flat 19 Mi4 x 1
Width across flat 19 Rc1/8
\
|
—| 0, O
Nl ) 1 3
0 1\
BRI
= —|w
oy 030, T
<1} e]
9 a0 \eo!
han 3xM3x10
22—‘ Dimensions
218 | Model Al B
oA ZP2-TF40HO | 40 | 42
oB ZP2-TF50HC] | 50 | 52
63 100
ZP2-TFgHO ZP2-TFi28HO
Width across flat 22 M16x 1.5
Width across flat 22 M16x 1.5
Width across flat 22 | Rc1/8
Width across flat 22 _Re1/8 \
1)
w|o©, ¢ 3
| © O Nl o lont
N o B 0 IR=y
o = S CL
I3 &) [IR]
Mk © o g )
=2 7 2| |&|glero =l
| 2(050 o [ A -
i x = ﬁﬁ s
[\ == o o =
a T\ T
[30°) >t 30° @
4xM4x10 ~
%.J 04 | 4 x M5 x 12
234 240
oA oA
oB oB
Dimensions Dimensions
Model A B|D|E | XY Model A | B
ZP2-TF63HL] | 63 | 65 [14.5| 74 |23.6| 3.5 ZP2-TF100H | 100 | 103
ZP2-TF80HL] | 80 | 82 [16.5| 76 |25.6| 4.5 ZP2-TF125H] | 125 | 128

1212




With adapter
Vacuum inlet direction I
Specification (mechanism)

Pad dlameterI

Symbol] Specification]

Heavy-duty Ball Joint Pad Series ZP2

How to Order

ZP2-XF40H

Pad material (OJ)
|Symbol Material
N NBR
S | Silicone rubber
U | Urethane rubber
F
E

Vacuum inlet direction

Ball l°"“ E’;"R" Replacement Part No.
Model Pad unit part no. | Adapter part no.
Symbol]Pad diameter ZP2-XF40HI ZP40H] With three
40 | o040 Pad type ZP2-XF50 zpsoHE] | 2P2AXF1 | ‘M3 bolts
0 050 \Symbo\\ Type ZP2-XF63 ZP63HL ZPoA-xF2 | With four
3 063 | H_[Heavy-duty (Flat with rib) \ ZP2-XF80HUJ ZP8oHO - M4 bolts
0 080 ZP2-XF100HU] | zP100HO] With four
100 | 0100 ZP2-XF125H0| zPiasH | 272AXF3 | M5 bolts

125| o125

Dimensions: With Adapter

ZP2-XF{HO
M14 x 1
Width across flat 19

[(4)]

Note) O in the table indicates the pad material.

S
T
- o) et
- 22 3xM3x10
018 Dimensions
oA Model A | B
B ZP2-XF40HI | 40 | 42
ZP2-XF50HC] | 50 | 52
ZP2-XF$HO ZP2-XFi%¥HO
M16x 1.5 M16x1.5
Width across flat 22 Width across flat 22
= © [
| © ﬁ © 3
Nl o L 3 =
1
©
i 5% Rcl/8 .
o = H RALALL SN
G Rc1/8 8| o 4x M5 x 12
~ s Z ~ln 2
N | 2| 870 ? |
SIS * <t I
& e 1 7T -
o *>< Y ﬁLd\ SO, ®
30" > L30°) "
4xM4x10 J ~
24 — 04
234 240
oA oA
oB oB
Dimensions Dimensions
Model A|B|DJ|E|X]|Y Model A | B
ZP2-XF63HO | 63 | 65 |14.5| 95 |23.6] 3.5 ZP2-XF100H | 100 | 103
ZP2-XF80HO | 80 | 82 [16.5| 97 |25.6] 4.5 ZP2-XF125H | 125 | 128

1213

N
-
W

P2y

MEL <

NN
-l
-

><
=
=23
(=2
p=



Series ZP2

How to Order

KM= zP2-T F 40 H[N|JUB 25

Vacuum inlet direction Buffer stroke (H)
Applicable| ZP40H | ZP63H | ZP100H
Stroke ad) Zp5oH | ZP8OH | ZP125H
25 [ [
Specification (mechanism) ?0 (] '
100 ———
Pad diameter Buffer spegifigation
|Symbol Specification
| Symbol| Pad diameter Rotating
£ 040 JB |  With bushing
:gg Material: Brass
280 JE Wi?hogﬁlsnhging Vacuum inlet direction
100| o100 Material: Steel
125] o125
Pad type Pad materla_ll (0)
Symboll Material
[Symbol] Type _ | NBR
[ H_[ Heavy-duty (Fiat with rib) | S 1 Siioone rubber
U | Urethane rubber
F FKM
E EPR
Replacement Part No.
Model Pad unit part no. Buffer part no.
P2-TF40HCI(JB/JF)25 ZP2B-TF1(JB/JF)25
P2-TF40HCI(JB/JF)50 ZP40HO ZP2B-TF1(JBIJF)50
P2-TF40HCI(JB/JF)75 ZP2B-TF1(JBIJF)75 With three
P2- JB/JF)25 ZP2B-TF1(JBAJF)25 M3 bolts
P2- HO(JB/JF)50 ZP50HO ZP2B-TF1(JB/JF)50
P2-TF50HCI(JB/JF)75 ZP2B-TF1(JBIJF)75
P2-TF63HCI(JB/JF)25 ZP2B-TF2(JB/JF)25
P2-TF63HCI(JB/JF)5( 2P63HL ZP2B-TF2(JB/JF)50
P2-TF63HCI(JB/JF)7! ZP2B-TF2(JBIJF)75
P2-TF63HCI(JB/JF)100 ZP2B-TF2(JB/JF)100 With four
P2-TF80HCI(JB/JF)25 ZP2B-TF2(JB/JF)25 M4 bolts
P2-TF80HCI(JB/JF 2P8OHD] ZP2B-TF2(JB/JF)50
ZP2-TF80HCI(JB/JF)7' ZP2B-TF2(JBIJF)75
ZP2-TF80HCI(JB/JF)100 ZP2B-TF2(JB/JF)100
ZP2-TF100HCI(JB/JF)25 ZP2B-TF3(JB/JF)25
ZP2-TF100HCI(JB/JF)5! ZP2B-TF3(JB/JF)50
F100HO(JB/JF)7 ZP100HL] ZP2B-TF3(JBIJF)75
F100HI(JB/JF)100 ZP2B-TF3(JB/JF)100 With four
F125HC1(JB/JF)25 ZP2B-TF3(JB/JF)25 M5 bolts
JB/JF)50 ZP2B-TF3(JB/JF)50
JBIJF)75 ZPi2sh0] ZP2B-TF3(JBIJF)75
ZP2-TF125H01(JB/JF)100 ZP2B-TF3(JB/JF)100

Note) [J in the table indicates the pad material.

Buffer Specifications

Pad diameter 240, 650 263, 280, 0100, 0125
Stroke (mm) 25,50,75 25, 50, 75, 100
. . At 0 stroke 69N 10N
Spring reactive force |y 1 stroke 118N 15N
Rotating
With bushing
JB Buffer body material: Brass

Nut tightening torque: 28 to 32 N-m|Nut tightening torque: 45 to 50 N-m

Buffer specifi
Rotating

With bushing

JF Buffer body material: Steel

Nut tightening torque: 48 to 52 N-m|Nut tightening torque: 75 to 80 N-m

1214



Heavy-duty Ball Joint Pad Series ZP2

Dimensions: With Buffer

ZP2-TFHOIEN

Width across flat 14 Rc1/8
2 Width across flat 27 W\H
3¢
[ Bushing
0 o
« cn%
M18x 1.5 \
- I~
Wi O width across flat 13 I
w0
oi
<~ 0 &
Y 230 g I o
2 391 Dimensions
@ 0 oo\ \| of del ATB[DE
s < ZP2-TF40HLI(JB/JF)25 40 | 1495
. 02 3xM3x10 ZP2-TF40HCI(JBIJF)50 | 40 | 42 [ 75 [1845
018 ZP2-TF40HCI(JB/JF)75 111 | 2205
A ZP2- C0(JB/JF)25 40 [ 1495
oA ZP2-1 O(JB/JF)50 | 50 | 52 | 75 | 1845
oB ZP2- OBNF)75 111 [ 2205
ZP2-TFEHIEM ZP2-TFi%HOEm
Width across flat 17 Rc1/8
Width across flat 17 Rc1/8
< Y
< \ % « %
- f mlki
— Width across flat 30 .
: Bushin
Width across flat 30 H Bushing o @ 9
| © 3 3 B| o
O oo
| I M22 x 1.5
. M22x 1.5 &l o
Low w
Width across flat 17
Width across flat 17
wn
o 7
8 ‘ uq\
@
| 2 ,asol N | 4xM5x12 —
o I ? = ®
30° >t 9
o4 4xM4x10 ~
234
oA
oB
Dimensions Dimensions
odel A B D E F X Y del A B D E
] 44 | 187 O(JB/JF)25 44 | 1945
80 | 223 JB/JF)50 | 80 [ 230.5
63 | 65 | 145400 [ 263 | 236 | 35 JB/JF)75 | 1001103 50 [ 2705
155 | 298 JB/JF)100 155 | 305.5
44 | 189 JB/JF)25 44 | 1945
80 | 225 JB/JF)50 | 80 | 230.5
80 | 82 | 16550 [ 265 | 256 | 45 JBIIF)75 | '2° | 28 920 (2705
155 | 300 C(JB/JF)100 155 | 305.5

1215

N
-
W

P2y

MEL <

NN
-l
-

><
=
=23
(=2
p=



Series ZP2

How to Order

KON zP2- X F 40 H[N]JB 25

Vacuum inlet direction Buffer stroke (H)
Applicable| ZP40H | ZP63H | ZP100H
Stroke ad| Zp50H | ZP8OH | ZP125H
25 ) [
Specification (mechanism) 50 [ ] '
e e r
Pad diameter Buffer specification
- Symbol Specification
Symbol| Pad diameter Rotati
2 240 Rotating
JB With bushing
522 Material: Brass
Rotatin,
280 JF | With bushging Vacuum inlet direction
}gg z}gg Material: Steel
Pad type Pad material ((J)
Symbol Material
[Symbol] Type | NBR
[ H_[Heavy-duty (Flat with rib) | S | Siicone rubber
U | Urethane rubber
F FKM
E EPR
Replacement Part No.
Model Pad unit part no. Buffer part no.
ZP2-XFA40HCI(JB/JF)25 ZP2B-XF1(JBIJF)25
ZP2-XF40H(JB/JF)50 ZP4oHO ZP2B-XF1(JBAJF)50
ZP2-XFA40H(JB/JF)75 ZP2B-XF1(JBIF)75 With three
ZP2-) B/JF)25 ZP2B-XF1(JBIJF)25 M3 bolts
ZP2-) B/JF)50 ZP5OHC ZP2B-XF1(JBAJF)50
ZP2-, ZP2B-XF1(JBIF)75
ZP2- ZP2B-XF2(JB/JF)25
ZP2- ZP2B-XF2(JB/JF)50
ZP2- ZP63HL] ZP2BXF2(JBIJF)75
ZP2- ZP2BXFR(BIENI00 | |\
ZP2- ZP2B-XF2(JB/JF)25 M4 bolts
ZP2- p—— ZP2B-XF2(JB/JF)50
ZP2- HO ZP2B-XF2(JB/JF)75
ZP2-) HO ZP2B-XF2(JB/JF)100
ZP2-) HO ZP2B-XF3(JB/JF)25
ZP2-) HO ZP2B-XF3(JB/JF)50
ZP2- HO ZP10oHD ZP2B-XF3(JB/JF)75
ZP2- HO ZP2B-XF3(JB/JF)100 | With four
ZP2-XF125H0 ZP2B-XF3(JB/JF)25 M5 bolts
ZP2-XF125H0 ZP2B-XF3(JB/JF)50
ZP2-XF125H0 ZP125H0 ZP2B-XF3(JBAJF)75
ZP2-XF125H0(JB/JF)100 ZP2B-XF3(JB/JF)100

Note) O in the table indicates the pad material.

Buffer Specifications

Pad diameter 240, 650 063, 080, 6100, 0125
Stroke (mm) 25,50, 75 25, 50, 75, 100
Sori tive At 0 stroke 6.9N 10N
pring reactive 1oree I"at full stroke 11.8N 15N
Rotating
With bushing
JB

Buffer body material: Brass

Nut tightening torque: 28 to 32 N-m|Nut tightening torque: 45 to 50 N-m

Buffer specifi
Rotating
With bushing

JF Buffer body material: Steel

Nut tightening torque: 48 to 52 N-m|Nut tightening torque: 75 to 80 N-m

1216



Heavy-duty Ball Joint Pad Series ZP2

Dimensions: With Buffer

ZP2-XF{HLIEM

Width across flat 14
©[ Width across flat 27 W ‘
] )
Y Bushing
® cn%
Mi8x15 |
—~| 0O
w Width across flat 13
M5 x 0.8
wn
o
O
@
i } oq]
g1 2 Dimensions
© © @ ol Model A B|DIE
- < 02 P2-XF40HLI(JB/JF)25 40 [ 153
- - P2-X F)50 | 40 | 42 | 75| 188
018 3xM3x10 P2-XF: F)75 111 | 224
raA. P2-X F)25 40 [ 153
P2-X| F)50 | 50 | 52 | 75| 188
oB P2-XF! F)75 111 | 224
ZP2-XFEHOEM ZP2-XFi%HOEM
Width across flat 17
Width across flat 17
. | ; bil:]
o
- Width across flat 30
Width across flat 30 . o w Bushing
o } Bushing B o
O o
=1 M22x 1.5
M22 x 1.5 a
g )
- Width across flat 22
Rc1/8 %
Rel/8 % L
N
] Width across flat 22
wn = 0
~ O o 1
© 0 < 0
< - 2 —
) 7 [
&| 2| o50 =R ] f 4xM5x12 —
A T axmaxi0 o _ [ =
(a] I \ N ™

[30°) > [302)

Q
IS
1
7.5

234 240
oA oA
oB oB
Dimensions Dimensions
odel A B D E F X Y Model _ A B D E
ZP2-XF63HLI(JB/JF)25 44 | 197 ZP2-XF100HCI(JB/JF)25 44 | 204.5
ZP: 80 | 233 Z 100HCI(JB/JF)50 80 | 2405
ZP. 65 | 145450 [o73 | 236 | 35 7 OHOWBMWF)75 | "% | 193 20 [ 2805
ZP. 155 | 308 ZP2-. 00HLCI(JB/JF)100 155 | 315.5
ZP: 44 | 199 ZP2-XF125HCI(JB/JF)25 44 | 2045
_ZP: 80 | 235 'ZP2-XF125HCI(JB/JF)50 80 | 240.5
zP 82 | 165 450 [ 275 | 256 | 45 ZP2-XF125HI(WBIF)75 | '2° | 128 [120 [ 2805
ZP: 155 | 310 ZP2-XF125HCI(JB/JF)100 155 | 315.5

1217

N

MEL <

NN
-l
-

><
=
=23
(=2
p=



Symbol/Type

HB: Heavy-duty

(Bellows)
H For adsorption of work pieces How to Order {E’L
with inclined or curved ;

surface ZP2-TF40HB e

|
Vacuum inlet direction T . l
Specification (mechanism) Vacuum inlet direction
Replacement Part No. Specwflcalwn
Model Pad unit part no. | Adapter assembly part no. Ball jomt Pad material (OJ)
Symbol Material
M3 bolts |Symbol | Pad diameter NBR

DI | S o Y| 2D
ZP2-TF63HBO) | ZP63HBO | ,op0 1y | With four 4 240 Pad type ¢ ["s™ [ Silicone rubber
ZP2-TF80HBO] | ZPsoHBL] M4 bolts 050 Symbol Type U | Urethane rubber
ZP2-TF100HBLI| zP100HBO With four 063 Heavy-duty F FKM
ZP2-TF125HBL| zPi2sHB] | 27 2ATF3 | M5 bolts 080 | | HB|  (Beliows) E EPR
Note) [J in the table indicates the pad material. 100| o100
125] o125
Dimensions: With Adapter
ZP2-TFXHBL  Width across flat 19 M14 x 1
Width across flat 19 | Re1/g
1
. )
Nlm 1 3
0 \[
~
DNE
=l Jeso [ T I
wl e jﬁlﬁ?k I
5| SRR
30° 3xM3x 10
02
218
oD | Dimensions
2A Model | A[B|D|E[F|G[X]Y
oB ZP2-TF40HBO | 40 | 41 | 28 | 43 [205 |68 |27.8]|13
oE ZP2-TF50HBO | 50 | 52 | 36 | 54 |24 |715]313] 165
ZP2-TF$HBO ZP2-TF1¥HBO

Width across flat 22 M16x1.5

Width across flat 22 M16 x 1.5 Width across flat 22 | Rc1/8

Width across flat 22 \ Re1/8 w0l o e
Nlo [0 3
| =
0l 10 3 p s
" © (\£ o 4xM5x12
2 On ~ |glale0 SN
0 g [ M
G |2 oles0 ’ = i
=~ | 2| e : S i)
—
i " v
w / x =i >
S7 > /
/
30° 4xM4x10 30°
ot Tea|
L2k o4
034 240
oD oD
oA oA
oB B
oE oE
Dimensions Dimensions
Model A|B | D|E|F|G|X]|Y Model A B D E F G X Y
ZP2-TF63HBL] | 63 | 65 | 46 | 68 | 31.5 | 91 40.6 | 21.5 ZP2-TF100HBCJ| 100 | 103 | 69 | 107 | 47.5 | 108 576 | 355
ZP2-TF80HBLI | 80 | 83 | 58 | 85 |37 |96.5|46.1|27.5 ZP2-TF125HBO| 125 | 129 | 89 | 135 | 56 116.5 | 66.1 | 44

1218



How to

With adapter

ZP2-XF40HB
Vacuum inlet direction

Heavy-duty Ball Joint Pad Series ZP2

Order

Pad material (OJ)

Symbol Material

NBR

Specification (mechamsm]

Silicone rubber

[ Specification |

Urethane rubber

<, =
N

Vacuum inlet direction

Replacement Part No.

Pad dlameterl

Ball |o|m FKM
EPR ___ Model Pad unit part no. | Adapter assembly part no.
P2-XF40HBL] ZP40HBL] With three
Sy‘;ngol Pad diameter Pad type P2-XF50HBC] ZP50HBL] ZP2A-XF1 | ‘w3 bolts
040 P2-XF63HBL | ZP63HBL] With four
50 | 050 Symbal] Type \ P2-XF8OHBL] | zPsoHBLl | 2 2A%F2 | M4 bolts
gg 063 HB | Heavy-duty (Bellows) | P2-XF100HBL | ZP100HBLT | o0 - With four
o P2-XF125HB0] | zP125HB0] M5 bolts
125 | 0125 Note) O in the table indicates the pad material.
Dimensions: With Adapter
ZP2-XF#HBO wmi4x1
Width across flat 19
&[5’, FH B
[
] T
)
>
>
3xM3x10
Dimensions
Model A|/B|D|E|F|G|X]|Y
ZP2-XF40HBL] | 40 | 41 | 28 | 43 | 20580 |27.8 |13
ZP2-XF50HBC] | 50 | 52 | 36 | 54 |24 |83531.3)|165
ZP2-XF§HBO ZP2-XFI%¥HBLI misx 1.5
M16x 1.5 Width across flat 22 _
Width across flat 22 | ©,
— Nl © od 3
& $ T 3 Width across flat 22
= - Rc1/8 m
Width across flat 22 © =2 A
0 > 4 xM5x12
8 Rc1/8 —
~% &)
S |9,
5 )
&| 2| v50 e
/ x
x
s = - s
30° 4xM4x10
24 |
234
oD
oA
oB
oE
Dimensions Dimensions
Model A|B|D|E|F|G|X]|Y Model A B D E F G X Y
ZP2-XF63HBL] | 63 | 65 | 46 | 68 | 31.5 112 | 406 | 215 ZP2-XF100HBCJ | 100 | 103 | 69 | 107 | 475 | 129 57.6 | 355
ZP2-XF80HBL] | 80 | 83 | 58 | 85 |37 [117.5|46.1 | 27.5 ZP2-XF125HBC] | 125 | 129 | 89 | 135 | 56 1875 | 66.1 | 44

1219

N
-
W

P2y

MEL <

NN
-l
-

><
=
=23
(=2
p=



Series ZP2

How to Order

KM= zP2 - T F 40 HB[N]JB 25

Vacuum inlet direction Buffer stroke (H)

Applicable] ZP40HB | ZP63HB |ZP100HB

Stroke 2d) ZP50HB | ZP8OHB | ZP125HB
25 0
Specification (mechanism) ?0 o
e e

Pad diameter Buffer specification

- Symbol Specification
Symbol[Pad diameter| Rotati
40 240 | otating
JB With bushing
g 250 Material: Brass
0 Zgg Rotating
100 o100 dI? With bushing Vacuum inlet direction
Material: Steel
125| o125
Padtypel  Con )
ST —— Na
[HB [ Heavy-duty (Bellows) S | Silicone rubber
U | Urethane rubber
F FKM
E EPR

Replacement Part No.

Model Pad unit part no. Buffer assembly part no.
F40HBLI(JB/JF)25 ZP2B-TF1(JBJF)25
F40HBLI(JB/JF)50 ZP40HBO] ZP2B-TF1(JBIJF)50

2-TF40HBLI(JB/JF)75 ZP2B-TF1(JBIF)75 With three
F50HBLI(JB/JF)25 ZP2B-TF1(JB/JF)25 M3 bolts
F50HBLI(JB/JF)50 ZP50HBL] ZP2B-TF1(JBIJF)50
F50HBLI(JB/JF)75 ZP2B-TF1(JB/JF)75
F63HBLI(JB/JF)25 ZP2B-TF2(JB/JF)25
F63HBL(JBMFIS0 | oo o ZP2B-TF2(JBIJF)50
F63HBL(JB/JF)75 ZP2B-TF2(JBIJF)75
F63HBLI(JB/JF)100 ZP2B-TF2(JB/JF)100 With four
F80HBLI(JB/JF)25 ZP2B-TF2(JB/JF)25 M4 bolts
F8OHBLI(JB/JF)50 | ZP2B-TF2(JB/JF)50
FSOHBLI(JB/JF)75 ZP8oHBL] ZP2B-TF2(JBIJF)75
F80HBLI(JB/JF)100 ZP2B-TF2(JB/JF)100
F100HBLI(JB/JF)25 ZP2B-TF3(JB/JF)25
F100HBO(JB/JF, ZP2B-TF3(JB/JF)50
F100HBLI(JB/JF)7! ZP100HBL o poR TRaUBIAITS
F100HB(JB/JF)100 ZP2B-TF3(JB/JF)100 With four
F125HB1(JB/JF)25 | [ ZP2B-TF3(JB/JF)25 | M5 bolts
F125HBLI(JB/JF)50 ZP2B-TF3(JB/JF)50
F125HBL(JB/JF)75 ZP125HBL] ZP2B-TF3(JBIJF)75
F125HBO(JB/JF)100 ZP2B-TF3(JB/JF)100

Note) O in the table indicates the pad material.

Buffer Specifications

Pad diameter 040, 650 063, 280, 6100, 0125
Stroke (mm) 25,50, 75 25, 50, 75, 100
. . At 0 stroke 69N 10N
Spring reactive force | I stroke 118N 15N
Rotating
With bushing
JB Buffer body material: Brass

Nut tightening torque: 28 to 32 N-m | Nut tightening torque: 45 to 50 N-m

Buffer specifi
Rotating

With bushing

JF Buffer body material: Steel

Nut tightening torque: 48 to 52 N-m | Nut tightening torque: 75 to 80 N-m

1220



Heavy-duty Ball Joint Pad Series ZP2

Dimensions: With Buffer

ZP2-TF4HBIF M

Width across flat 14 Rc1/8
21 Width across flat 27
N
0 o N Bushing
@ o L
[
M18 x 1.5 ‘
T ©
~ Width across flat 13
L
g w
& 230 [ =}
w G >
@ 30° 3xM3x10 )
= 02 | Dimensions
218 A[B[D[EJF[G[H|X][Y
- ZP2-TF4 40] 1585
oD, F 41 | 28 | 43 |205 [ 75[1935]27.8|13
oA 1112295
- 401 162
2B 0 52 | 36 | 54 |24 | 75[197 |31.3|165
oE HBOI(JB/JF)75 11123
ZP2-TFEHBIEM ZP2-TFi%HBLI;FM
Width across flat 17 Rc1/8
Width across flat 17 Rc1/8
& Width across flat 30
| Width across flat 30 *ﬂ ”’
”> o S O Bushing
w0
o © U= Bushing ®
[re © _|
M22x1.5 |
M22 x 1.5 1 ° ) ‘
~ © T Width across flat 17
E3 Width across flat 17
0 _
8|
w S )
~ 2 L 270
I 3 Ty S i T 4xM5x 12
@ of  o50
A = 4 x M4 x 10
I S x w = >
w =/ —e >_I >
L3 [_s0- )
o4 | o4
234 40
oD oD
oA oA
oB oB
oE oE
Dimensions Dimensions
__ Model A|B|D|E|F|G| H|X]|Y Model A|B|D|E|F|G| H|X|Y
ZP2-TF63HBLI(JB/JF)25 44 | 204 P2-TF100HBLI(JB/JF)25 44| 21
63HBO(JB/JF)50 | 80240 'ZP2-TF100HBO(JB/JF)50 | 80 257
53HBLI(JB/JF 63 | 65 | 46 | 68 | 31.5 5 1o | 406|215 P2-TF100HBL] (JB/JFL 100|103 | 69 (107 475 =, o 576 355
_ZP2-TF63HBLI(JB/JF) 155 | 315 P2-TF100HBLI(JB/JF) 155 | 332
ZP2-TF80HBLI(JB/JF 44| 2095 P2-TF125HBCI(JB/JF)25 44| 295
2-TF80HBLI(JB/: ) | 80 | 2455 ZP2-TF125HBL(JB/JF)50 | 80 | 2655
= HBLI(JB 80 | 83 | 58 | 85 |37 |5 e 461275 2p: 25HBLIWJB/JF 125129 | 89 |135|56 o010 66.1 (44
- HBLCI(JB/JF)100 155 | 3205 ZP2-TF125HBLI(JB/JF)100 155 | 3405

1221

N

MEL <

NN
-l
-

><
=
=23
(=2
p=



Series ZP2

How to Order

KON zP2 - X F 40 HB[N]JB 25

Vacuum inlet direction IBuffer stroke (H)

Appiicable] ZP4OHB | ZP63HB |ZP100HB

Stroke ad) ZP50HB | ZPSOHB | ZP125HB
25 0
Specification (mechanism) 30 L]
- e

Pad diameter Buffer specification

Symbol|Pad diameter Syl Sp:gg::;t;on
40 040 JB With bushing
E 250 Material: Brass
£ 063 Rotating
0 080 JF With bushing
100 | 0100 Material: Steel Vacuum inlet direction
125| 0125
Pad type SP::(‘:I ma:Aerlgll(D)
-
[ HB | Heavy-duty (Bellows) o __NBR
S | Silicone rubber
U | Urethane rubber
F FKM
E EPR

Replacement Part No.

Model Pad unit part no. Buffer assembly part no.
P2-XFA0HBLI(JB/JF)25 ZP2B-XF1(JBIJF125
P2-XF40HBLI(JB/JF)50 ZP40HBL] ZP2B-XF1(JB/JF)50
P2-XF40HBLI(JB/JF)75 ZP2BXF1(JBIF)75 | With three
P2-XF50HBLI(JB/JF)25 ZP2B-XF1(JB/JF)25 M3 bolts
P2-XF50HBLI(JB/JF)50 ZP50HBL] ZP2B-XF1(JB/JF)50
P2-XF50HBLI(JB/JF)75 ZP2B-XF1(JBIJF)75
P2-XF63HBL] ZP2B-XF2(JBIJF)25

ZP2-XF63HBL] ZP2B-XF2(JB/JF)50

ZP2-XF ZPe3HBL] ZP2B-XF2(JBIJF)75

ZP2-XF ZP2B-XF2(JBF)100 | With four

ZP2-XF ZP2B-XF2(JBIF)25 M4 bolts

ZP2-XF ZP2B-XF2(JBIJF)50

ZP2-XF 7 ZP8OHBL ZP2B-XF2(JBIJF)75

ZP2-XF F)100 ZP2B-XF2(JB/JF)100
P2-XF O F)25 ZP2B-XF3(JB/JF)25
P2-XF100HBLI(JB/JF)50 ZP2B-XF3(JB/JF)50
P2-XF100HBLI(JB/JF)75 ZP100HBL] ZP2B-XF3(JBAF)75
P2-XF100HBLI(JB/JF)100 ZP2B-XF3(JBJF)100 | With four
P2-XF125HBLI(JB/JF)25 ZP2B-XF3(JB/JF)25 M5 bolts
P2-XF125HB(JB/JF)50 ZP2B-XF3(JB/JF)50
P2-XF125HBLI(JB/JF)75 ZP125HBL] ZP2B-XF3(JBAJF)75
P2-XF125HBLI(JB/JF)100 ZP2B-XF3(JB/JF) 100

Note) O in the table indicates the pad material.

Buffer Specifications

Pad diameter 240, 650 063, 280, 6100, 2125
Stroke (mm) 25,50, 75 25, 50, 75, 100
. . At 0 stroke 69N 10N
Spring reactive force | I stroke 118N 15N
Rotating
With bushing
JB Buffer body material: Brass

Nut tightening torque: 28 to 32 N-m | Nut tightening torque: 45 to 50 N-m

Buffer specifi
Rotating

With bushing

JF Buffer body material: Steel

Nut tightening torque: 48 to 52 N-m | Nut tightening torque: 75 to 80 N-m

1222



Heavy-duty Ball Joint Pad Series ZP2

Dimensions: With Buffer

ZP2-XF{HBLIEM

Width across flat 14
o Width across flat 27 ﬂ[ ]
] )
™ o S Bushing
@ o T
[l
Mi8x15 |
T Width across flat 13
M5 x 0.8
wn
8 o
o v
& 230 [,
w Wi =i
@ L] 3xM3x10 . .
hs 02 —  Dimensions
218 Model AIB|D[E[F[G[H[X]Y
— ZP2-XF40HBLI(JB/JF)25 40 162
Q» ZP2-, =‘0HBD!JB/JF)50 40 | 41 | 28 | 43 |205| 75[197 |27.8|13
2] FA0HBLI(JB/JF)75 111233
oB | F50HBLI(JB/JF)25 40] 1655
F50HBLI(JB/JF)50 | 50 | 52 | 36 | 54 |24 7512005 31.3|16.5
oE F50HBLI(JBIF)75 1112365
ZP2-XF$HBOJEM ZP2-XFi%HBLI;2 M

Width across flat 17

Width across flat 17 & Width across flat 30 ]
& Width across flat 30 H ‘
il
\ o © O } Bushing
O
ol © U= 3 Bushing
Ol ©
M22 x 1.5
M22x 1.5 o
= i 3
z Width across flat 22 =
Rci1/8 g "
3
wn ©o
~ <
© 19
<
w x
w
30°
04 ]
240
oD
oA
oB
oE
Dimensions Dimensions
Model A[B[D[E[F[G[H[X][Y Model A[B[D[E[F[G[H[X][Y
ZP2-XF63HBLI(JB/JF)25 44214 P2-XF100HBLI(JB/JF)25 44 281
ZP2-XF63HBLI(JB/JF)50 80| 250 'ZP2-XF100HBO(JB/JF)50 80 | 267
ZP2-XF63HBL(JB/IF)75 | O | &5 | 46| 68 | 315 Hpq o | 406|215 P2-XF100HBL(JB/JF)75 | 00 | 103| 69| 107 478 pq Ty | 576|365
ZP2-XF63HBOI(JB/JF)100 155 825 P2-XF100HBCI(JB/JF)100 155 | 342
ZP2-XF80HBLI(JB/JF)25 442195 P2-XF125HBOI(JB/JF)25 44| 295
ZP2-XF80HBOI(JBJF)50 | 80| 255 'ZP2-XF125HBOI(JB/JF)50 80 2755
ZP2-XF80HBL(JB/J 80 | 83| 58 | 85 |37 [qo0ags| 61275 ZP2-XF125HBO(WBIWF)75 | 125|129 89 | 135156 950 15| %01 |44
ZP2-XF80HBOI(JB/JF)100 155 8305 ZP2-XF125HBOI(JB/JF)100 155 8505

1223

N

MEL <

NN
-l
-

><
=
=23
(=2
p=



Symbol/Type

H: Heavy-duty
(Flat with rib)
HB: Heavy-duty

(Bellows)

ZCEEL O 540, 050, 63, 980, 9100, o125

M Reinforced pad prevents
deformation when
transferring heavy or large
work pieces.

How to Order

BT zP4oH @
Pad diameteTl_ Pad material

Symbol

Pad diameter|

|Symbol Material
40 240 N NBR
50 050 S | Silicone rubber
63 063 U | Urethane rubber
80 280 F FKM
100 2100 E EPR
125 | 0125
Pad type
Symbol Type
H | Heavy-duty (Flat with rib)
HB Heavy-duty (Bellows)
Dimensions: Pad Unit
ZP{HO ZPSHO ZPI¥HO
oC 0 oC ] oC ©
—— g T
" ==
[ —— of —HH S EATEAN
i i F—h t i -
o 06 m? = 08 >'? 2 010 0|
- oA oA oA ~
oB oB oB

Dimensions

Dimensions Dimensions
Model A|B|C Model A|B|C|D|Y Model A|B|C
ZP40HO | 40 | 42 | 32 ZP63H | 63 | 65 | 50 |145|3.5 ZP100H1| 100 | 103 | 80
ZP50HO | 50 | 52 | 42 ZP80HLI | 80 | 82 | 61 |165]| 4.5 ZP125H0]| 125 | 128 | 104
ZPHBO ZP3HBO ZPi%¥HBO
oF oF
oF 4x08 4x09.5
3 x06.5 4x05 4 x 06
3x04 3 N f I} Y
= 5 i FEi—= ﬁ
= Ut ©
‘| =)ol ‘| = R
06 | 28 | 210
018 034 240
oC oC oC
oA oA oA
oB oB oB
oD oD oD
Dimensions Dimensions Dimensions
Model AIB|C|D|E|F|Y Model A/B|CIDIE|F|G]|Y Model A/B|C|D|E|F|Y
ZP40HBL]| 40 | 41 | 28 | 43 |205[30 |13 ZP63HBL]| 63 | 65 | 46 | 68 [31.5] 50 | 4.5 215 ZP100HBC][ 100|103 | 69 [107 [475| 80355
ZP50HBC| 50 | 52 | 36 | 54 [24 [40.5]165 ZP80HB[]| 80 | 83 | 58 | 85 (37 |64 |5 [275 ZP125HBC][125]129| 89 [135[56 | 105 |44
1224




Heavy-duty Pad Series ZP

How to Order t\"%ﬁ i
EIYTEe ZPT 40 HN]- A14 gg;*t —u

— ~
Pad diameter : o . ‘ =
Symbol[Pad dlameter Vacuum inlet direction
40 240 : -
0 250 Moun“ng.thread size Symbol Thread Pad diameter
3| o63 (Vacuum inlet) size__| 040, 50 | 63, 080 [0100, 0125
0 [ 080 A14 Rc1/8 — —
100 [ o100 Mi14x1 [A14N| NPT1/8 — —
125] o125 A14T | NPTF1/8 — —
Male thread
ale fhrea [A16 Rol/8 —
Pad type (x) Mounting M16x15 [A16N| NPT1/8 —
Symbol Type A16T | NPTF1/8 —
H_| Heavy-duty (Flat with rib) mox 1-122 : —
Heavy-duty (Bellows) x1. —
HB y-duty ( ) Female thread Mi2 3175 = °
Pad material (C) Mi6x15 | — o
Symbol] _Material Replacement Part No.
o S NBR b Model Pad unit part no.| Adapter part no. Pad unit part no.| Adapter assembly part no.
U Urlelfl'?::er:‘ub;err PTA40:[]-A14 ZPA-T1-B01 P spagx] | ZPAT1-B8
F FKM PT40:-A14N_|ZzP40* [ZPA-T1-NO1 P ZPA-T1-B10_| With three
E EPR PT40+[J-A14T ZPAT1-TO1_| With three || ZP1 Jroosl] | ZPAT1-BB | M3 bolts
[ZPT50%+(0-A14 ZPA-T1-B01_| M3 bolts || ZPT ZPA-T1-B10
50*+J-A14N_|zP50*[]  [ZPA-T1-NO1 P ZPA-T2-B8
[ZPT50%0-A14T ZPA-T1-TO1 P ZPA-T2-B10
P 6 ZPA-T2-BO1 P ZPe3*0) [7paToB12
P 6N _|zP63:#[0  [ZPA-T2-NO1 P ZPA-T2-B16_| With four
P 6T ZPA-T2-TO1_| With four ||_ZPT ZPA-T2-B8 | M4 bolts
P 6 ZPA-T2-B01 | M4 bolts || ZPT Zpgosy | ZPAT2BI0
P 6N _|zP8ox[] [ZPA-T2-NO1 [ ZP] ZPA-T2-B12
P T ZPA-T2-TO1 [ ZP] ZPA-T2-B16
P 6 ZPA-T3-BO1 P . ZPA-T3-B12
P 6N | zP100%(] [ZPA-T3-NOT P 2ZP100%H] 1o PATaB16 | With four
P 6T ZPA-T3-T01 | With four P Zp1o5w[] |ZPAT3-B12 M5 bolts
P1 6 ZPA-T3-B01_| M5 bolts P ) ZPA-T3-B16
P 6N | zP125%0] [ZPA-T3-NO1 Note 1) * in the table indicates the pad type.
LeFl1co 6T ZPA-T3-TO1 Note 2) O in the table indicates the pad material.
Dimensions: With Adapter
ZPT #H-A14 (Male thread) ZPT$H-A16 (Male thread) ZPTi%¢HJ-A16 (Male thread) m
Midx1 /8 (Re, NPT, NPTF) M16x1.5 1/8 (Re, NPT, NPTF)

Width across fiat 19

Width across flat 22 / M16x1.5 ZPZV
R Width across flat 22 1/8 (Re, NPT, NPTF)

-y \,

©
el [
o7 | o @ ZP
¥ . 345, 4xMdx8 8 mi [E o AxMEx10

3 w o T A ‘ PT
©l Width across flat 24 | ‘W\dmacmssﬂam - ZPR
[ — e
q . L
3y
©
1 Vf
Dimensions Dimensions Dimensions
Model A | B Model A B|C |  D|E|Y Model A | B
ZPT40HO-A14| 40 | 42 ZPT63HJ-A16| 63 | 65 |145| 26 | 56 | 3.5 ZPT100HCI-A16 | 100 | 103
ZPT50HC-A14| 50 | 52 ZPT80H[1-A16| 80 | 82 |16.5| 28 | 58 | 4.5 ZPT125H0-A16 | 125 | 128

1225



Series ZP

Dimensions: With Adapter

ZPT #HB[-A14 (Male thread) ZPT $3HBJ-A16 (Male thread) ZPTI¥HB[I-A16 (Male thread)

M16 x 1.5

Width across flat 22 1/8 (Re, NPT, NPTF)

M16x 1.5
N mn
M14 x 1 Width across flat 22 1/8 (Rc, NPT, NPTF) © A= Width across flat 24
Width across flat 19 1/8 (Re, NPT, NPTF) - Qo o 3@70 X M5 10
o] © TR wehaoos aizs —— [0, xR
qN| ©
& 3 ‘%% Width across flat 19 ! r_L B4ixM4x8 ,j F
4} = E
. 'AFF:&F 3xM3x8 o i ; ‘% I
= w
S FEFFK - - “ =
™ w >
| = =< i
23 | 28 | 08 |
218 234 240
oC oC oC
oA oA oA
oB oB oB
oD oD oD
Dimensions Dimensions Dimensions
Model A B (9] D Model A B Cc D Model A B C D
ZPT40HBO-A14| 40 | 41 | 28 | 43 ZPT63HB-A16| 63 | 65 | 46 | 68 ZPT100HB-A16 | 100 | 103 | 69 | 107
ZPT50HBCI-A14| 50 | 52 | 36 | 54 ZPT80HB[]-A16| 80 | 83 | 58 | 85 ZPT125HBCI-A16| 125 | 129 | 89 | 135
Model E F |G| Y Model E F |G| Y Model E F |G| Y
ZPT40HB-A14|205 |32 |62 |13 ZPT63HBI-A16|31.5|43 |73 |215 ZPT100HB[I-A16 | 47.5 | 60.5 | 90.5 | 35.5
ZPT50HB-A14 |24 |35.5|65.5| 16.5 ZPT80HB[I-A16| 37 | 485|785 |27.5 ZPT125HBI-A16 |56 |69 |99 |44
ZPT $HO-BLI (Female thread) ZPT$3HO-BJ (Female thread)
Width across flat 24 c
\ o288 /)

3xM3x8

Dimensions Dimensions
Model A B (o Model A B (o D E Y
ZPT40HO-B8 40 | 4o | M8x1.25 ZPT63HCI-B8 M8 x 1.25
ZPT40HO-B10 M10x 1.5 ZPT63HO-B10 63 | 65 | 145 | 26 M10x 1.5 a5
ZPT50HC-B8 50 | 52 M8 x 1.25 ZPT63HO-B12 : M12x1.75 |
ZPT50HC-B10 M10x 1.5 ZPT63HCI-B16 M16x 1.5
ZPT80H-B8 M8 x 1.25
ZPT80HOI-B10 M10x 1.5
ZPTBOH-B12 | ° | 82 | 185 28 yoszs | 45
ZPT80HCI-B16 M16 x 1.5

1226



Dimensions: With Adapter

ZPT{22H[-B[] (Female thread)
Width across flat 60 [}
[ 9‘7” | _4xMsx10
¥ _ 2
b \

Dimensions

Model A B C
ZPT100H-B12 M12 % 1.75
zpT100H-B16 | ' | ' [Mi6x15
ZPT125HO-B12 | . | o[ M12x1.75
ZPT125HC1-B16 M16x 15

ZPT$3HB-BL] (Female thread)

Heavy-duty Pad Series ZP

ZPT4HO-BJ (Female thread)

Width across flat 24 028 G
o |
w TEer
==
o6 ]
218
oC
oA
oB
oD
Dimensions
Wodel AIB]CIDJ[EJF] G
ZPT40HBL-B8 M8x 1.25
ZPT40HBO-B10| “0 | 41 | 28 | 431205132 yinsis]'®
ZPT50HBLI-B8 M8x 1.25
zpTsonBO-B10] *° | %2 | % | % |** |35 wroxis] "0

ZPTi%¥HBI-B] (Female thread)

270
Width across flat 60 G 4xM5x10
Width across flat 37 045 G :I }’
|1 axmaxs T jJ__& 1
2 |
[—‘ w
w - L enN
w ) | >
= i < > ‘
‘ }
o8 | 210
034 240
oC oC
oA oA
oB oB
oD oD
Dimensions Dimensions
Model B|C|D|E|F G Model A B|C|D|E]|F G Y
ZPT63HBOI-B8 M8 x1.25 ZPT100HBO-B12 M12x 1.75
ZPT63HBL-B10 o5 | a6 | 68 |515|4s [MIOXTE], ZPT100HBOI-B16| 0 | 103| 69 | 107|475]605 e 5 1359
ZPT63HBO-B12 : M12x1.75 : ZPT125HBC-B12 125 [ 120 | 80 | 13556 |69 M12x1.75 44
ZPT63HBCI-B16 M16x 1.5 ZPT125HBC]-B16 M16x 1.5
_ZPT80HBLI-B8 | M8 x1.25
ZPT80HB[I-B10 M10x1.5
ZPT80HBL-B12 83|58 | 8537|485 15,1520
ZPT80HB[-B16 M16x 1.5

1227

> |I[NNIN [N N
=Rk
SNE < E

P2y



Series ZP

How to Order

-B01—-B8

IVacuum inlet
M

IS ZPX 40 H
JE—

Pad diameter

Symbol[Pad diameter] Pad type (x)
4 240 Symbol] __Type thread size ) ) Vacuum inlet direction
i 250 W | Heavy-dity Symbol| Thread size ounting thread size
063 (Flat with rib) BO Rci/8 R Pad diameter
80 | 080 np | Feav-duty No1| neryg | [Om°| Threadsize |57, 550 | 063, 080 [0100, 0125
100 | 2100 (Bellows) T01| NPTF1/8 B8 | M8x1.25 [] — —
125| o125 B10| M10x1.5 [ [ [
Pad material (C) B2l M12x1.75 = L] L)
Symbol|  Material Replacement Part No.
= i NBR b Model Pad unitpartno.| Adapter assembly part no. Pad unit partno.| Adapter assembly part no.
> US' 'fr?"e L bbe’ ZPX40% ZPA-X1-B01-B8 Z ZPA-X2-B01-B10
- re aFrm“ er ZPX40% ZPA-X1-N01-B8 [Z ZPA-X2-N01-B10
ZPX40+[] ZPA-X1-T01-B8 | With three| |2 ZPA-X2-T01-B10__| With four
= * L& E3
E EPR ZPX40%0] 2P40+ 0 1750 x1-Bo1-B10 | M3 bols |2 2P80+ L 17pn xe-Boi-B12_| Mé bolts
ZPX40[] ZPA-X1-N01-B10 2 ZPA-X2-N01-B12
ZPX40[] ZPA-X1-T01-B10 2 ZPA-X2-T01-B12
ZPX50%[] ZPA-X1-801-B8 ZPA-X3-B01-B10
ZPX50%[] ZPA-X1-N01-B8 2 ZPA-X3-N01-B10
ZPX50[] ZPA-X1-T01-B8__|With three| |2 ZPA-X3-T01-B10__| With four
<2 = ZP50% ZP100%
[ ZPX50%[] S0*0) 7 x1-BO1-B10 | M3 bols |[Z 0L 17 paxaBoi-B12_| M5 bolts
[ ZPX50% ZPA-X1-N01-B10 2 ZPA-X3-N01-B12
ZPX50% ZPA-X1-T01-810 2 ZPA-X3-T01-B12
ZPX63% ZPA-X2-B01-B10 E ZPA-X3-B01-B10
ZPX63% ZPA-X2-N01-B10 ZPA-X3-N01-B10
*[J-T01-B1 ZPA-X2-T01-B10__| With four E .1 [ZPA-X3-T01-B10 | With four
Z| *#[]-B01-B12 ZPes ] ZPA-X2-B01-B12 | M4 bolts 1250 ZPA-X3-B01-B12 | M5 bolts
Z *[J-N01-B12 ZPA-X2-N01-B12 ZPA-X3-N01-B12
Z #[J-T01-B12 ZPA-X2-T01-B12 ZPA-X3-T01-B12

Note 1) * in the table indicates the pad type.
Note 2) I in the table indicates the pad material.

Dimensions: Without Buffer

40 B8 63 B10 100 B10
ZPX5HO-[01]-8% ZPXgHO-[ 01812 ZPXi32HO-[01]-813
1/8 (Re, NPT, NPTF) Cc
18 (Ro, NPT, NPTF), )
% __[ 1/8 (Re, NPT, NPTF)
Width across flat 21 [ Width across flat 21
.
Q 118 (Re, NPT, NPTF) c
S . o
028 = Width across flat 21 =
3 w . 045 4xM4x8 “J WP 070
@Q 3xM3x8 ¥ L 4xM5x10
] YL : e /
m =11 @ > 0
Nm el :
- I L ¢ 3[&[ : T | ~
2] e 1
i ’
OSJ f i_J
oA oA
°B oB
Dimensions
lodel A|B C G | A B (3]
ZPX40HL-L01-B8 | VB x 125 10| Wiox15  ZPX100HL03-B10] Mi0x15
ZPX Cor-B10] 4% | *2 [miox 15 2] 53|65 (14526 | 41|63 |35 yipy1ss  ZPX Con-B12] "% | ' [wrexizs
ZPX Cot-B8 | VB x1.25 10| Woxi5  ZPX Co1-B10] Mi0x15
ZPX Cor-B10] *° | 5 [miox15 2] 80|82 (16528 |43 | 65 |45 ypyizs  ZPX Con-B12] '°| "2 [irexizs




Heavy-duty Pad Series ZP

Dimensions: Without Buffer

ZPX¥HBO-[01-8% ZPX§HBO-[01-813 ZPX1%HBO-[01-513
1/8 (R, NPT, NPTF) 1
o
1/8 (Re, NPT, NPTF) 1 Width across flat 21 :I
1/8 (Rc, NPT, NPTF) I }7' 4xM5x10
Width across flat 21 ;H/ hal I ‘ 070
Width across flat 21 - 1 )‘},
< 045 J
- I
\ 228 | 4xM4x8 H&
T 3xM3x8 j% & N 1
© el
o IP, o [ —IER w =
w [ w = >
w _ 44,’>>I <i>
23, | 04 | 04
018 034 240
oC oC oC
oA oA oA
oB 0B oB
oD oD oD
Dimensions Dimensions
B]/C|[D[E[F Model AIBIC[D[E[F AIBIC[D[E[F
PX63HBL]
41| 28 | 43 |205|32 ~IPXG3HBCLCa-B12| 63 | 65 | 46 | 68 |315|43 100{103| 69 (107 [475|605
52 | 36 | 54 |24 |355 7 80 | 83 |58 | 85|37 |485 125(129| 89 (13556 |69
—_ Model G|H T Y —_ Model G|H T Y i Model G|H 1 Y
ZPX40HB(I-[01-B8 M8 x 1.25 “ZPX63HBOI-[01-B10] 10X 15 7 310| 10X 15
zPxaoHBO-Cot-810] ¥ % [miox15]" ¥ 58 180 hrexizs |2 f 55| 915241751 %55
ZPX50HB 8 M8 x 1.25 7 10] Mi0x15 y | M10x 15
ZPX50HBO-Co1-B10] °*° | "*% [w1ox 15 | '%° B -B12 %35 |85 [iaxzs | 270 8 1% Tyyrpxizs |
ZP3
id|
e
ZPT
ZPR

1229



Series ZP

K zPT40 H
—

Pad diameter

How to Order

J 25-B01-A18

acuum inlet [ y15nting thread size

Symbol] Pad diameter Pad type (*) Symbol Thread size i irecti i
Vacuum inlet direction Y[FIg{{=]
ﬁ 240 Symbol Type A18| M18 x 1.5 (240 to 280) Vertical
2 250 H | Heavy-duty A22[M22 x 1.5 (2100, 0125)
g 2 063 (Flat with rib)
080 Heavy-dut
100| o100 HB (Be‘ll\yows)y
125[ o125 Buffer stroke (M)
i 250 | 663 | 280 |6100|6125 |
Pad material (O) ) o (e (o | e
Symbo Material Buffer body ® & o o o
NBR material (%) ® o o o o
S | Silicone rubber Sl s — el — (] (]
all
p—-rethane wbber 1= T uminum alloy acement Part No
E EPR JB | Brass + With bushing Model Pad unit part no. Buffer assembly part no.
JF | Steel + With bushing #[1%25-(B/N/T)01-A ZPB-T1%25-(B/N/T)01
40+ 1%50-(B/N/T)01-A ZPB-T1%50-(B/N/T)01
#[1%75-(B/N/T)01-A ZPB-T1%75-(B/N/T)01 With three
. " " *[1%25-(B/N/T)01-A ZPB-T1%25-(B/N/T)01 M3 bolts
Buffer Specifications (Rotating) #CIk50-(BIN/T)OT-A ZPB-T1%50-(BINT)OT
— [ 75-(B/N/T)01-A ZPB-T1%75-(B/IN/T)01
i [ 1%25-(B/N/T)01-A ZPB-T2k25-(B/N/T)01
Baddlameter £30110]680 ZPT63+I%50-(B/N/T)01-A18 ZPB-T25k50-(BINT)O1
Stroke (mm) 25,50, 75 ZPT63:+ I 75-(B/N/T)01-A18 ZPB-T2%75-(B/NT)01___| With four
Spring [At 0 stroke 6.9N ZPT80:[1%25-(B/N/T)01-A18 ZPB-T2%25-(B/N/T)01 M4 bolts
ZPT80:[1%50-(B/N/T)01-A18 ZPB-T2%50-(B/N/T)01
force | At full stroke 118N ZPT80+ 1% 75-(B/NT)01-A18 ZPBT2X75-(BINT)01
ZPT100:[J%25-(B/N/T)01-A22 ZPB-T3%25-(B/N/T)01
Nut Tightening Torque | ZPT100: 1% 50-(B/N/T)01-A22 ZPB-T3%50-(B/N/T)01
~ ZPT100+1%75-(B/N/T)01-A22 ZPB-T3%75-(B/N/T)01
Buffer bod i B
Moo material | Aluminum rass ZPT100:[1%100-(B/N/T)01-A22 ZPB-T3 100-(BINT)0O1 | With four
e aloy | with bushing [ZPT125+1%25-(B/N/T)01-A22 ZPB-T3%25-(BINT)OT | M5 bolis
M8 xT5 9510105 Nm] 281032 Nm ZPT125%1%50-(B/N/T)01-A22 ZPB-T3%50-(B/NT)01
M22x T8 19510705 Nm| 4510 50N ZPT125% 1% 75-(BIN/T)01-A22 ZPB-T3%75-(BINT)01
* : * ZPT125+[1%100-(B/N/T)01-A22 ZPB-T3%100-(B/N/T)01
Note 1) * in the table indicates the pad type.
Note 2) I in the table indicates the pad material.
. . . Note 3) % in the table indicates the buffer body material.
Dimensions: With Buffer
ZPTHHx M- 01]-A18 ZPTSHOXM-[01-A18 ZPTI®HOx M- 01]-A22
dth across fit 14 1/8 (Rc, NPT, NPTF)
T \\
§ I * I:ﬂ 1/8 (Re, NPT, NPTF) Wit across flat 17 /8 (Re, NPT, NPTF)
o> & Width across flat 30
B} ) < o} X
MI8x1.5 /
gl M22x1.5
© ‘Uaszsxe 4xM4x8 e
. i J' |, L | | 4);M5x|o
Q| 1 - q & [T<] . - - R
' $ ' &
w0 Oﬂan A ot 34-
A oB oA J oA
0B | oB

Dimensions

D B][C[D[E[F]Y odel A[B[C]D
1185 H 66 [1215 O 251 0i-A22 78152
[1535 H 65 |14.5| 26 [101[1565] 3.5 O*50-01-A22 |, | 0. [114]188
1895 137 [1925) O 75 0i-A22 [154]228
1185 [ 68 [1235] O%100-[01-A22 189263
[1535 82 |16.5| 28 [103[1585] 4.5 O 25 0i-A22 78] 152
1895 139 [1945 O*50-01-A22 |, | 1,0 [114]188

O 75 0i-A22 [154 228

O%100-[01-A22 189263




Dimensions: With Buffer

Heavy-duty Pad Series ZP

ZPT{HB 1% M-[01-A18 ZPT3HB % M- 01-A18 ZPT{%HB % M-[ 01]-A22
<! Width across flat 17 1/8 (Re, NPT, NPTF)
1/8 (R, NPT, NPTF) b Mg x1.5
Width across flat 14 1/8 (Re, NPT, NPTF) Width across flat 14 - - Width across flat 30 \1 ‘
.
2 Width across flat 27 \ﬁu 2 @ ABE|
% width across flat 27 \ﬂ[ & W © (-
s il o AGH|
o \OE B o - !
0 T 1l b
° " T M18x1.5 = | o70
_ = x 1. “‘ IR 4xM5x 10
T M18x 1.5 ‘ ‘ ‘ = 245 I
028 [l Taxwmaxs © %
© [1]}] 3xmaxs o = %g JS— §
Y w ‘#% i = i 5
w ""I . w = D >'I ‘ <
03 | 03] 04
018 034 240
oC oC oC
oA oA oA
oB oB oB
oD oD oD
Dimensions Dimensions Dimensions
Model A|/B|C|D|E Model A/B|C|D|E Model A|/B|C|D|E

PT40HBI%25-[01-A18 | PT63HBCI%25-01-A18 | ZPT100HBCI%25-(01-A22

PT40HBOI%50-C01-A18 | 40 | 41 | 28 | 43 |205 PT63HBLIk50- 01-A18] 63 | 65 | 46 | 68 (315 ZPTI00HBOXS0-LTI-A22 | 0| 40a | 60 | 107 475

PT40HB%75-[01-A PT63HBCI%75-[01l-A ZPT100HBCI%75-01-A22 :

PT50HBI%25-01-A18 | _ZPT80HBO%25-[01-A18 | ‘ZPT100HBO100-[01-A22

PT50HBOIX50-L01-A18 | 50 | 52 | 36 | 54 |24 “ZPT80HBO%50-[01-A18 | 80 | 83 | 58 | 85 |37 ‘ZPT125HBOI%2

PT50HBI%75-01-A’ “ZPT80HBOI%75-C01-A ‘ZPT125HBOIX5! 89 | 135 |56

PT125HBI%7!
Model FIGIH|Y Model FIGIH|Y “ZPT125HBCI%100- 01-A22|

PT40HBL %25-01-A1¢ 7 |15 PT63HBLX25-L01-A18 | & |135 [ —

PT40HBOIX50-C01-A18 |32 [107_|1625] 13 PT63HBCIX50-C0i-A18 |43 [118 [1735|21.5 Model FIG[H[Y
_ZPT40HBLI%75-[01-A 1431985 PT63HBLI%75-[01-A 154 | 2095 ZPT100HBCI%25-01-A22 1045|1785
ZPT50HBOX25-C01-A18 | | 755131 PT80HBLIX: 885 144 ZPTI00HBOKS0-CU1-A22 | o - [14052145] .. ZP3
_ZPT50HBLCIX50-[011-A18 | 355 (1105 [ 166 | 16.5 _ZPT80HBO | 1235[179 |27.5 ZPT100HBOI%75-[01-A22 |~ [1805 2545 | ™
ZPT50HBO%75-01-A 1865 202 ZPT80HBO%75-C01-A 1595215 ‘ZPT100HBO %100 ] m

‘ZPT125HBOX2!
ZPT125HBI%5!
ZPT125HBIAT P2V
ZPT125HBCI%100-|
E

1231

NN
-}
-

><
=
=23
(=2
p=q



Series ZP

How to Order

J 25-B01-A18

- o

Pad diameter Vacuum inlet IMounting thread size
Sy‘mbu\ Pad d\:geter Pad type (*) St:bzra'l'(r‘\r::i - Symbol Thread size
2 Symbol Type s 2 A18| M18x 1.5 (94010 080) |  Vacuum inlet direction [EIGE]
050 W | Heavy-duty BO Re1/8 A22 | M22 x 1.5 (9100, 9125) Lateral)
263 (Flat with rib) NO NPT1/8
280 Heavy-duty T01| NPTF1/8
100] 0100 HB | (geliows)
125] o125 Buffer stroke (W)
Stroke | 940 | 950 | 963 | 980 |0100|2125 |
Pad material () gg o | ¢ ) | O | ¢ D
Sy Materal o | ¢ ) | @ | ¢ )
e HBre Buffer body 75 o | ) [ 0 | ]
S | Silicone rubber ST m’;lt:er.lelll (%) 100 — — — — L ]
mbol aterial
'F' Urethe;r:(ewll'ubber yJ Aluminum alloy Replacement Part No.
E EPR JB | Brass + With bushing Model Pad unit part no. Buffer part no.
JF | Steel + With bushing ZPX40: 0% 25-(B/N/T)01-A ZPB-X1%25-(B/N/T)01
ZPX40:J%50-(B/N/T)01-A ZP40x[  [ZPB-X1%50-(B/N/T)01
ZPX40 0% 75-(B/N/T)01-A ZPB-X1%75-(B/N/T)01 ‘méhfe
e - - ZPX50:J%25-(B/N/T)01-A ZPB-X1%25-(B/N/T)01 olts
Buffer Specifications (ROtatmg_) ZPX50%1%50-(B/N/T)01-A zP50+0]  [ZPB-X1%50-(BINT)01
ZPX50:: 0% 75-(B/N/T)01-A ZPB-X1%75-(B/N/T)01
i ZP. *#[1%25-(B/N/T)01-A ZPB-X2%25-(B/N/T)01
Pad diameter 040 to ¢80 | 100, 0125 3 . T01-A P63+ | ZPBxak50-ENTO1
Strc'bke (mm) 25,50,75 |25,50,75,100 ZP. * IT)01-A ZPB-X2% 75-(B/N/T)01 With four
Spring \Awstroke 6.9N 10N ZPX80* /T)01-A ZPB-X2%25-(B/N/T)01 M4 bolts
force | Atfull stroke 11.8N 15N | ZP. /T)01-A ZPg0L] | ZPB-X2%50-(BINT)O1
01-A18 ZPB-X2%75-(B/N/T)01
b B/N/T)01-A22 ZPB-X3%25-(B/N/T)01
Nut Tightening Torque (N-m) b B/N/T)01-A22 | 5,00, |ZPB-X3%50-(B/NM)01
Buffer body|  mrumimam Brass Steel b B/N/T)01-A22 ZPB-X3%75-(B/N/T)01 )
Mounting~material I + + A [T)01-A22 ZPB-X3%100-(B/N/T)01 With four
thread size &y With bushing | With bushing 1A 01-A22 ZPB-X3%25-(B/N/T)01 M5 bolts
M18x 1.5 95t0105Nm| 28t032N-m | 48t0 52 N-m ), 01-A22 |5 55, [ZPB-X3%50-(B/N/T)01
M22x1.5 | 9.5t010.56Nm| 451050 N-m | 75to 80 N-m ZPX125%(1%75-(B/N/T)01-A22 | ZPB-X3%75-(BNT)01
ZPX125[1%100-(B/N/T)01-A22 ZPB-X3%100-(B/N/T)01
Note 1) * in the table indicates the pad type.
Note 2) O in the table indicates the pad material.
. . . Note 3) % in the table indicates the buffer body material.
Dimensions: With Buffer
ZPX{HxM-[01-A18 ZPXBHO X M- 01-A18 ZPX12H M- 01-A22
Width across flat 14
! With across flat 14
g Width across flat 27
Width across flat 30 Width across flat 17
\
Migx1s / .
5 Migx1.5 /
7| |18 Re. NPT, NPTF) z
- ! = 1/8 (Re, NPT, NPTF)
| | Widthacrossflat21 [\| |
P (o]
Dimensions Dimensions Dimensions
odel A/B|C|D Model A/B|C|D|E[F|[G|H|Y odel A/B|C|D
ZPX40HCIx25-[01-A1¢ 100151 ZPX63HI % 25-(01-A18| 103[154 ZPX100HIx25-(01-A22 115]186
‘ZPX40HO#*50-C01-A18| 40 | 42 [135[186  ZPX63HLIk50-L01-A18| 63 | 65 |145| 26 | 41 | 63 [138[189]35  ZPX100HO 1031311222
ZPX40HO % 75-01-A 171222 ZPX63HO%75-C01-A 174225 ZPX100HO [191]262
ZPX50H%25-(01-A18)| 100151  ZPX80HCI%25-[01-A1¢ 105156 ZPX100HD 206297
ZPX50HCOIX50-(01-A18| 50 | 52 [135]186  ZPX80HLIX50-(0i-A18| 80 | 82 [16.5| 28 | 43 | 65 [140[191|4.5  ZPX125HO 115186
ZPX50HCOI*75-C01-A 171]222.  ZPX80HO*75-(0i-A 176227 ZPX125HOX50-(00-A22 |, | g [ 1511222
ZPX125HO% 75-(01-A22 (191262
ZPX125H0 -A22 226[207

1232




Dimensions: With Buffer

ZPX$HBIxM-[01-A18

ZPX$HBIxM-[01-A18

Heavy-duty Pad Series ZP

ZPX1%¥HB kM- 01]-A22

Width across
1/8 (Re, NPT, NPTF) flat 17
& [Hﬂ M22x 1.5
1/8 (Re, NPT, NPTF) Width across flat 14 1T¥
1/8 (Re, NPT, NPTF) Width across flat 14 L i ol © T 1 Width across
Y - Hm[ Width across flat 27 O o [GERS) flat 30
© H[ ][ Width across flat 27 ol [_”ﬁ—“
w] © L 3| 2] 1
o 1
@ M18 x 1.5 |
‘ M18x 1.5 ‘ 3 Width across flat 21 |
= i | 3 Width across flat 21 i \ g 4xM5x 10
~ Width across flat 21 |\ | 4xM4x8 Y 970
_ N - 045 |
028 T [ 7%%i T o
T P
o TZ@P 3xM3x8 ol ™ = >
w w
= = - K
i 1 y
03] o3 04|
218 | 234, | 240
oC oC oC
oA oA oA
oB oB oB
oD oD oD
Dimensions Dimensions Dimensions
Model AIB[C|D[E[F — Model AIBIC[D[E[F —__ Model A[B[C|D[E[F
ZPX40HBLI%25-[01-A18] ZPX63HBL1k25-[01-A1¢ “ZPX100HBIx25:
ZPX40HBLI%50-[01-A18| 40 | 41| 28 | 43 [205|32 ZPX63HBLI%50-01-A18| 63 | 65 | 46 | 68 [315|43 _ZPX100HBLI%50: 2 103| 69 | 107|475 605
_ZPX40HBLI%75-[01-A ZPX63HBLI%75-L01-A _ZPX100HBU %75 S
ZPX50HBI%25-[01-A18| ZPX80HBIk25-[01-A1¢ “ZPX100HBOIX10
ZPX50HBCIk50-[01-A18] 50 | 52 | 36 | 54 [2¢ 355  ZPX80HBIX50-[01-A18| 80 |83 |58 |85 (37 (485 ZPX125HBOI%25-C0T-i
ZPX50HBCI75-C01-A 'ZPX80HBOI%75-01-A “ZPX125HBIX50: 1991 89 135155 o9
PX125HBLI%75:
Model G H[I|J]|Y Model GIH[I[J]Y “ZPX125HBCI%100-C01-A22 |
ZPX40HBIk25-[01-A18 109|160 | ZPX63HBLIk25-[01-A18 |1 [—
ZPX40HBLI%50-[01-A18|47 (69 |14 [1%5 |13 ZPX63HBI 80 [155 [206 |215 B Model GIH[I[|J]Y ZP3
‘ZPX40HB%75-[01-A 180 |23 ZPX63HBO A ot o2 | “ZPX100HBO*25-[01-A22 1415|2125
ZPX50HBIk25-[01-A18] (1125 1635 ZPX80HBOI A18] 1255 1765 “ZPX100HBOI50- 2 || oo ms]2es]
ZPX50HBCI%50-C01-A18] 505 | 72.5[ 1475 1985] 165 ZPX80HBO A18]635| 8551605 [ 2115] 275 “ZPX100HBOX75: | 7 o175 2885 |
‘ZPX50HB%75-[01-A 1835 2345 “ZPX80HBLI%75-[01-A 19652475 “ZPX100HBO 10 2 25|05
“ZPX125HBO*25-[01-A22 | (150 |22t
“ZPX125HBOIX50- P P N SR P2y
“ZPX125HBOIX75: (26 o7
_ZPX125HBLI%10 %1 |39 | ZP

1233

NN
-}
-

><
=
=23
(=2
p=q



Vacuum Pad for Transferring Disks

BFor adsorbing and transferring disks of
digital household electric appliances
(CD, DVD)

* For adsorbing circular components like CD and
DVD

* Bellows mechanism is realized in the pad to
dampen the impact to the work.

Dimensions
ZP2-Z1-001-0J0

4 x 07

20

0.5

(228.5)

Ring-shaped adsorption area

SR
X5 \ , \
L)

&S

1234

How to Order

ZP2-21-001 —$
Pad material

Symbol Material
S Silicone rubber
GS | Urethane rubber

ZPT1-A5 is a recommended adapter.
(Four adapters are necessary.)

See below for mounting.

Refer to the pages 1241 and 1249 for details.

?0012-"

4xM5x08 Vac. Vac. Vac.

ZPT1-A5

Example of attachment



gy Vacuum Pad for Fixing Panel

HFor adsorbing and fixing the stage of LCD panels, etc. L =) (=)
HEBellows mechanism allows complete contact with curved work surface. u
= (3
Dimensions
ZP2-2002 ZP2-Z003
40
2053 ; : /<v

3%
o

20 A

A-A A-A

011 2 220 2
FL—‘ 218 90°
90°
4 x 04
3 4 x 04 sz
=P . [ Fa
N = Ef\ 3 © - ‘ @@

T
k! 95 (*) ‘ ‘4x22.4 012 (*) ‘ ‘4x52.4

>~ |I[NNI[N [N N
=2

o| n
- al =
29.4 018.4
Component Parts Component Parts
No. | Partno. | Description Material Note No. | Partno. | Description Material Note
1 | ZP2-Z2A Pad PTFE . 1 | ZP2-Z3A Pad PTFE .
2 | ZP2-72B Joint FKM — 2 | ZP2-Z3B Joint FKM —
3 | ZP2-Z2C |Mounting plate| Aluminum alloy | Clear anodized 3 | ZP2-Z3C |Mounting plate| Aluminum alloy | Clear anodized

1235 ®



\)



Vacuum Pad for Fixing Panel Series ZP2

Consider the following points when using the product.

1) Use the workpiece in a horizontal position.

2) The plate for air purging should be prepared by the customer.

3) Install supporting points on the mounting plate so that the workpiece weight is not applied to the pad directly.

When installing the supporting point, use the following position from the mounting surface of the product as reference.

Supporting point dimension Product stroke Mounting plate hole
(Reference value) dimension (*)
ZP2-Z002 2.9+0.1 mm 1.1 mm 05
ZP2-Z003 3.0+ 0.1 mm 2.0 mm 212

Mounting plate

Workpiece Supporting point

Supporting point | 12 7 7
dimension L & 1;@\}.%1 3 LJ)W&J\'\(A
o~

—
_\/\m N Vacuum

When a hole is made in the plate, the dimension shall be (*) or less.

4) The workpiece contact part is made of resin (PTFE). Leakage may occur depending on the equipment specifications or workpiece
conditions, etc.

5) Suction failure, air leakage, pressure drop, etc. may occur depending on the supporting point installation method, position, workpiece
conditions (shape, deflection, surface condition, etc.), and vacuum source performance (vacuum pressure, flow rate, etc.).

6) Avoid using the product at an intermediate stroke position or with a stroke exceeding the full stroke. Otherwise, suction failure, air leakage,
pressure drop, etc. may occur. (Use the product within the full stroke.)

7) Customers are required to conduct the evaluation to judge whether or not the product is used.

P2y

1235-1 ®



Vacuum Saving Valve

H Can restrict the reduction of How to Order
vacuum pressure even when
there is no workpiece. ZP2V-|A5]-|03]
When multiple vacuum pads are
operated by one vacuum generator,
and some of them are not holding ! Connection thread symbol for pad side
the workpiece, the reduction of Male thread connection
i i ‘Applicable fixed orfice si " e
vacuum pressure is restlrlcted and Symbol Tr;irze:d gﬁalcﬂb()fslxe%f;‘ce15fée Fixed orifice size
the workpiece can remain held by AT M5 OO0 — Symbol] Fixed oriice
the rest of pads. A8 M8 |— O[O0 size (mm)
AO1[ Ri8 |—[O[O]O 03 0.3
AG1| G18 [ —[O OO 05 0.5
= AN1[NPTIB[— O[O O % %
Female thread connection )
Thread |Applicable fixed orifice size
S| e 031050710
B5| M5 [O/O[O]—
& Ol © B6 | M6 [O[O[O[—
01| Ret/8 [— [ O |O | O
e — G1l G/ | — OO0 ! g
Without Suction of Without BN1[NPT1/8] — [ O [ O [ O |Padside
workpiece workpiece workpiece|
Specifications
———
Connection thread size for pad side M5, M6 M8, R1/8, G1/8, NPT1/8
Fixed orifice size (mm) 030507 |05 0710
Fluid Air
Max. operating pressure range (MPa) 0t0 0.7
Max. operating vacuum pressure range (kPa) 0to-100
Ambient and fluid temperature (°C) 5 to 60 (No freezing)
Element nominal filtration rating (um) 40
Min. operating flow rate (Umin (ANR)) | 3 | 5 | 8 | 5 | 8 [ 16

HENo need for switching operation when
changing work pieces
When the work pieces have different shapes, the
control circuit can be simplified.

Use of ZP2V

Existing wayﬁ

Vacuum generator Vacuum
generator
Vacuum

saving valve

The operation can
be switched simply.
Only the ZP2V is
needed.

The sensor checks the
workpiece size, and the
valve switches the pads.

1236



Vacuum Saving Valve Series ZPZV

Model Selection

Select the quantity of vacuum saving valves that can be used with one vacuum generator. ~ Chart 1. Flow-rate Characteristics of Vacuum

-100
Selection Conditions o0
Workpiece: No leakage and several sizes _80

Required vacuum pressure: -50 kPa or more of vacuum pressure per vacuum pad

s
Part number of vacuum saving valve used: ZP2V-A8-05 g -0
(Connection thread size for pad side: M8, Fixed orifice size: 80.5) S 60 ©0) @)
£ 50 = =
‘ 1 ‘ Check the flow-rate characteristics of the vacuum generator used. ‘ E
S 30
From the flow-rate characteristics of the vacuum generator (Chart 1), calculate the = 20
suction flow rate (Q1) of the vacuum generator from the required vacuum pressure. 10
=~ N\ 2 . . €
Vacuum pressure —50 kPa (1)—(2—(3)) = Suction flow rate (Q1) = 31 L/min (ANR). %920 30\3:0 5 80 79 50 90 00 10
‘ 2 ‘ Calculate the quantity (N) of vacuum saving valves. ‘ Suction flow rate (L/min (ANR))
Find the minimum operating flow rate (Q2) and the suction flow rate (Q1) of the Chart 2. Sel by Min. Operating Flow Rate
vacuum generator from the specifications table (page 1236), and calculate the -100
quantity (N) of vacuum saving valves that can be used with one vacuum generator. 90
Quantity of vacuum saving valves (N) = Suction flow rate of vacuum generator (Q1) 0
Minimum operating flow rate (Q2) &
< 70
[ Evar - ) | Table 1. Relationship between Minimum Operating | £
E le) V | : ZP2V-A8- — - i I
! xample) Vacuum saving valve used 8-05 ‘ Flow Rate and Fixed Orifce Size g ~°0[02=5.0 Limin (ANR)|
‘ From Table 1, Q2 can be calculated as 5.0 L/min (ANR). ‘ 5 =T [
- onnection thread size for pad side £ [T
' N= W =~ 6 (unit) 1 | Fixed orifice size (mm) 0.5 § -40 1
Li, {L/miin ( )} ‘ Minimum operating flow rate (L/min (ANR)) Q2| 5.0 < 0
- N=6 it] 1
The above selection example is based on a general method under the given selection 0 {uni |
conditions, and may not always be applicable. For vacuum piping, select equipment

and piping so that the “Minimum operating flow rate” in the specifications on page -10
1236 is secured. A final decision on operating conditions should be made based on
test results performed at the responsibility of the customer.

A\ Specific Product Precautions | 7p3

r
1 Be sure to read before handling. Refer to front matter 35 for Safety Instructions and pages 899 to 901 for Vacuum 1 ZP2
L Equipment Precautions.

0 5 10 15 20 25 30 35
Suction flow rate (L/min (ANR)) Q1 = 31 L/min (ANR)

1. The product is not equipped with a vacuum holding function,
and cannot be used for the purpose of holding vacuum.

2. Determine the quantity of products to be used by selection,
and keep the recc ded pad di per product shown
in Table 1. Also, check the operation with the customer’s
machine sufficiently beforehand.

5. For mounting and removing the product, strictly follow m
the instructions below. |:
P

When mounting and removing the product, use the specified |7

places shown in page 1239 to apply tools. Also, when mount-
ing, tighten to the specified torque shown in page 1239. Exces- |ZPT
sive torque or applying a tool to places other than the specified |ZPR

Table 1. R led Pad Di per Product place can cause damage or loss of original performance. YT661
Connection thread 6. The reduction of the vacuum pressure while the work piece is sucked

symbol for pad side 22](Bo] B6] [0 A01‘B01 AG1‘BG1 AN1‘BN1 and released depends on the flow-rate characteristics of the vacuum

Thread size M5 |[Mé|M8| Ri1/8 G1/8 | NPT1/8 generator. Check the flow-rate characteristics of the vacuum genera-
ggﬁgg:e(pndg;j Padl o5 or fess 32t0 50 tor before checking the operation with the ’s machi

~

. When the built-in element of the product gets clogged,
3.Do not disassemble the product. Once the product is

Ict. t replace the whole product.
mbled and r led, it will not be able to satisfy 8. When verifying the suction using such as a pressure
the original performance.

Vacuum denerator side]  [Vacuar generator sidel sensor, check the operation with the customer’s machine
4. When piping, do not get the i

©o

example if the workpiece is permeable, the quantity of products
that can be used with one vacuum generator is reduced.
Take the leakage between the pad and workpiece into account and check
the operation with the customer's machine sufficiently before using.

10. Any mounting direction is available with this product.

the wrong way round.
(Refer to Fig. 1.)

Enlarged view of name plate
(Vacuum generator side)

| sufficiently beforehand.
pad side and vacuum i . If there is leakage between the pad and a workpiece, for
generator side of the product '
AI { A }

(i} ZPoV-A5-03 _ == (Upward or lateral mounting is also available.)
[ BEC. 15k W oaan ] [Pad side ] [Pad side ] 11. For vacuum piping, select equipment and piping so that the “Minimum
(Pad side) Fig. 1. Mounting direction operating flow rate” in the specifications on page 1236 is secured.

Make sure that there are no unnecessary restrictions or leaks,
etc., along the course of the piping.

If the minimum operating flow rate listed in the specifications is
not secured, operation will be unstable, which may lead to
suction failure or cause damage to internal parts.

1237 ®



Series ZP2V

Working Principle

Initial condition When a workpiece is sucked When a workpiece is
Without workpiece With workpiece released
Vacuum Vacuum Q Breaking
air air
Py
. ]
o
=
=
<<
c
o
=
©
=
Q
o
(2]
S
=
©
P
(]
&
= Closed valve Opened valve
= | Since there is no air flow, the valve When the workpiece is separated | When the workpiece is sucked by | When the workpiece is released,
g remains opened by the spring force. from the vacuum pad, the valve is | the vacuum pad, the suction flow | the valve is opened by the vacuum
closed by the air flow, and the | reduces, and the valve is opened by | breaking air, and the path between
suction air can only flow through the | the spring force, which opens the | the valve and body will open.
fixed orifice. At this time, an amount | path between the valve and body for
of air corresponding to the fixed | suction.
orifice size is sucked.
Construction
——

1238

Vacuum generator side

ﬁﬁ‘

L

ZP2V-AL-0

Pad side

ZP2V-B-0

Vacuum generator side

Pad side

Component Parts

* For the mounting direction of the
product, refer to 4 on page 1237.

No. | Description Material Surface treatment
1 |Body A Brass Electroless nickel plated
2 |BodyB Brass Electroless nickel plated
3 |Valve Aluminum —
4 | O-ring HNBR —
5 | Spring Stainless steel —
6 | Element BC —
7 | Gasket NBR + Stainless steel —




Vacuum Saving Valve Series ZPZV

Note) When mounting and removing the product, apply a wrench or torque wrench to the place shown in Figure.
When mounting, tighten to the torque specified in the table.

Dimensions
—
:
M2
M2
§
ﬁ )
M2 H*
g | |3
3¢ s
2/ 3 =
)
—~ -
<
2
-
] i 3
M1
M1
M1 oD
ZP2V-A5-0] ZP2V-A01-0 ZP2V-AG1-0
ZP2V-A8-[1 ZP2V-AN1-O0
o0
M2
M2
]
o , ‘ -
M2 H"
3 1
|
< =5 9
3 =z 3
S ZSVC. o o~ -
3, o9 3|
b INNETE:
5 5| i .
M1 M1 M1
ZP2V-B5-[1 ZP2V-B01-O0 ZP2V-BG1-0J
ZP2V-B6-[] ZP2V-BN1-[J +1 The place at the vacuum generator side where the tool is applied.
*2 The place at the pad side where the tool is applied.
*3 Referential dimensions after the R, NPT thread is screwed.
(mm)
Model M1 M2 | 2| 13| La X gD | W |Tighteningtorque
(Width across flat) (9) (N-m) Note)
ZP2V-A5-[] M5 x 0.8 M5 x 0.8 3.4 4.5 14.7 18.1 8 —_ 6 1.0to15
ZP2V-A8-[] M8 x 1.25 M8 x 1.25 5.9 8 201 | 26 12 - 18 5.5t0 6.0
ZP2V-A01-0 R1/8 Rc1/8 3.1 6.2 226 | 257 12 — 18 7.0t09.0
ZP2V-AG1-0 G1/8 G1/8 5.1 8 225 | 276 13 14 23 5.5106.0
ZP2V-AN1-00 NPT1/8 NPT1/8 3.2 6.9 233 | 26.5 12 — 23 7.0t09.0
ZP2V-B5-[] M5 x 0.8 M5 x 0.8 BIS) 34 16.6 20 8 = 7 1.0t0 1.5
ZP2V-B6-0J M6 x 1 M6 x 1 5 4.5 16.2 20.7 8 e 7 2.0t0 2.5
ZP2V-B01-[] Rc1/8 R1/8 6.2 3.1 235 | 26.6 12 — 19 7.0t09.0
ZP2V-BG1-0 G1/8 G1/8 8 5.1 234 | 285 13 14 24 5.5t06.0
ZP2V-BN1-00 NPT1/8 NPT1/8 6.9 3.2 242 | 274 12 — 20 7.0t09.0

1239

N || N
0|9
N ||

M <

NN
-}
-

><
=
=23
(=2
p=q



Series ZP2/ZP
Adapter/Buffer Applicable Pad List

Series ZP2 Mounting Adapter Part No.
A e e Applicable pad model

Applicable pad model
plicable pa moe

Adapter model

ZP2-B02EUC]
ZP2-3507W01 %% ZP2-BO4EUCI
ZP2-4010W0 ZP2A-Z01P ZP2-BOGEUC] | P.1247
ZP2A-001 ZPo.sotowry | P 1246 A
@3 ZP2-6010W0 ZP2-15EUD]
ZP2-B02EUL]
ZP2-BO4EUL]
Egg% §S§";g§gwg ZP2A-Z02P ,%% ZP2-BO6EUC] | P.1247
ZP2A-002 : P.1246 ZP2-08EUC]
ZP2-6020W] ZP215EUD]
@E ZP2-8020W0]
ZP2-08ANC]
ZP2A-Z21P P.1247
ZP2-4030W0] %% ZP2-11AND
5 g ZP2-5030WL]
ZP2A-003 ZPa-s0zowD) | P 1246
@ ZP2-8030WLJ ZP2A-S01P % ZP2-04S0] P.1247
ZP2-B02MUL]
ZP2-B035MUL]
ZP2A-MO1P ZP2-BO4AMUL] | P.1246 ZP2A-S02P ZP2-06SC] P.1247
ZP2-B0O5MUL]
ZP2-B04MBL]
ZP2-Bo6MUL] ZP2A-S03P ZP2-08S0] P.1247
ZP2-B0SMUL]
ZP2-B10MUL]
ZP2-B15MUL]
ZP2A-M02+ P.1246
ZP2-BOSMBU ZP2A-S04P zp2-10S0 | P.1247
ZP2-B0SMBL]
ZP2-B10MTC]
ZP2-B15MTC]
ZP2A-S05P ZP2-15S0] P.1248
ZP2-B20MTL]
ZP2A-M03+ ZP2-B25MTL] | P.1246
ZP2-B30MTC]
ZP2A-S11 ZP2-04S0] P.1248
ZP2-B06MUL]
ZP2-B0SMUL]
ZP2-B10MUC]
ZP2-B15MUL] ZP2A-S12 ZP2-06SC] P.1248
ZP2A-M04 ZPo.BosMBL | P 1246
N ZP2-B0SMBC]
ZP2-B10MTC
ZP2-B15MTO] ZP2A-S13 ZP2-08SC] P.1248
ZP2A-M05 gg:g}gmgg P.1246
ZP2A-S14 [Egj ZP2-10SC] P.1248
ZP2A-M06 ZP2-B20MBLO] | P.1247 ZP2A-S15 [Eg] 2P2-15S0] P.1248

1240



\)



Series ZP2/ZP

Series ZP2 Mounting Adapter Part No.

Applicable pad part n Applicable pad part no.

ZP2A-Z31-1P é% ZP2-B15ZJSO |P.1248-1 ZP2A-Z32-1 ZP2-B15ZJS0 |P.1248-2

ZP2-B20ZJSO |P.1248-1 ZP2A-Z32-2 ZP2-B20ZJSO |P.1248-2

ZP2A-Z31-2P é

=

ZP2A-Z31-3P ZP2-B30ZJSO |P.1248-1 ZP2A-Z32-3 ZP2-B30ZJSO |P.1248-2

i ZP2-40ZJ0 P.1248-2
ZP2-46ZJ01 P.1248-2

ZP2A-Z31-4P ZP2-40ZJ01 P.1248-1 ZP2A-Z32-4

M, | i

ZP2A-231-5P ‘

‘ ZP2-46ZJ01  |P.1248-1 ZP2A-Z32-5

=]
I

ey

® 1240-1



Adapter/Buffer Applicable Pad List Series ZP2/ZP

Series ZP Mounting Adapter Part No.

Adapter model Applicable pad model
ZP2-03U0  ZP2-14UTD
ZP2-B04UD  ZP2-18UTD
ZP(02,04, 06, 08)UL | 7p; pogcy  zP2-20UTO)
ZP(06, 08)BLJ ZP2-07CC1  ZP2-06J0)
ZP(10, 13, 16)UTOI
ZPT1-A5, A6 ZP(10, 13, 16)CTD ZP2.B0SCC)  ZP2-B10JO |, .00
ZPT1-B4, B5 ZP2004UL] ZP2-B06BO  ZP2-B15J0 |
7P3507U0] ZP2-B08BL]  ZP2-04UCL
ZPa010U ZP2-05UTO  ZP2-06UCL
ZP2-06UTO  ZP2-08UCL
ZP2-11UTO
ZPT2-A5, A6 L ZP(10, 13, 16)UD) ggfijg
ZPT2-B5, B6 ZP(10, 13, 16)CC] 7P2.1600 P.1249
BO1, NO1 ZP(10, 13, 16)B0]
To1 ZP(10, 16)D0] ZP2-10uCL
g ZP2-16UCL
ZPT3-A6, A8 = ZP(20, 25, 32)uC) ZP2-B25J0]
ZPT3-B5, B6, B8 ZP(20, 25, 32)CC] ZP2-B30J01 P.1249
BO1, NO1 ZP(20, 25, 32)B0] ZP2-25UCL P.1250
To1 ZP25D0) ZP2-32UCL
ZPT4-A6, A8 R — ZP(40, 50)UC]
ZPT4-B6, B8 ZP(40, 50)CC] ZP2-40UCL P.1249
BO1, NO1 ZP(40, 50)BC] ZP2-50UCL P.1250
To1 ZP40D0)
%
ZP(02,04,06,08)UC1 | ZP2-03U0]  ZP2-14UTOI
ZP(06, 08)BC] ZP2-B04UD]  ZP2-18UTOI
E ZP(10, 13, 16)UTC ZP2-B06CCI  ZP2-20UTO)
ZP(10, 13, 16)CTO ZP2-07C01  ZP2-06J00
ZPRS-(-(B4 / B5) Hn i | zp2004uCy ZP2-B0SCO  ZP2-B10JT |p 1050
ZPRS-O<O-(A5 / A6) LJ i | zpssoruo ZP2-B06BO  ZP2-B15J0 | -
ZP4010UD] ZP2-B08BL  ZP2-04UCL
ZP2-05UTO  ZP2-06UCL
ZP2-06UTC]  ZP2-08UCL
ZP2-11UTO
myors s | s
ZPRS-OO-(A5 / A6) i Hl (10,13, 16) -
ZP(10, 13, 16)BC] ZP2-16J0 P.1250
L] U | zp10, 16)D0 ZP2-10UCL
ZP2-16UCL

1241

P2y

> |I[NNI[N [N N
=Rk
-] -]



Series ZP2/ZP

Series ZP Mounting Adapter Part No.

ZP(20, 25, 32)U0] ZP2-B25J001
ZPRL-O<>-(B5/B6/B8) [1] ZP(20, 25, 32)C ZP2-B30J0 P.1250
ZPRL-O<O-(A6 / A8) %J ZP(20, 25, 32)BO ZP2-25UCL
ZP25D0] ZP2-32UCL
E ZP(40, 50)UC]
ZPRL-OO-(B6 / B8) [1] ZP(40, 50)CO ZP2-40UCL P.1250
ZPRL-OO-(A6 / A8) %J ZP(40, 50)B0] ZP2-50UCL )
ZP40D0]
ZP(02, 04, 06, 08)UC] ZP2-03U0 ZP2-14UTO
ZP(06, 08)B ZP2-B04UO  ZP2-18UTO
ZP(10, 13, 16)UTO ZP2-B06C  ZP2-20UTOI
ZP(10, 13, 16)CTO ZP2-07CO ZP2-06J0
ZPY1-O<O~(B4 / B5) ZP2004UCI ZP2-B08CLI  ZP2-B10JT |p 1251
ZPY1-OO~(A5 | AB) ZP3507UC1 ZP2-B06B  ZP2-B15J01
ZP4010UO ZP2-B08BO  ZP2-04UCL
ZP2-05UTO  ZP2-06UCL
ZP2-06UTO  ZP2-08UCL
ZP2-11UTO
ZP(10, 13, 16)UC] ZP2-09J0
peemm | || Bmnae B
ZPY2-OO~(A5 1 AB) PP
ZP(10, 16)DOI ZP2-10UCL
ZP2-16UCL
e ZP(20, 25, 32)uC] ZP2-B25J0]
ZPY3-(>>-(B5/B6/B8) ZP(20, 25, 32)CO ZP2-B30J0 P.1251
ZPY3-OO-(AB [ AB) ZP(20, 25, 32)B0] ZP2-25UCL :
ZP25D0] ZP2-32UCL
S
ZP(40, 50)UC] ZP2-40UCL
ZPY4-O<~(B6 / B8) ZP(40, 50)CCI ZP2-50UCL P.1251
ZPY4-OO~(A6 / A8) ZP(40, 50)BC1
) ZP40D0]

1242



Adapter/Buffer Applicable Pad List Series ZP2/ZP

Adapter Assembly Part No.(for Heavy-duty Ball Joint)

Adapter assembly model

Applicable pad model

ZP4OHT] ZPAOHBLI | ZP2-40HCL ZP2-40HNT ZP2-40HFT
ZP2A-TF1 ZPSOHD) ZPSOHBD | ZP2-50HCL ZP2-50HNT ZP2-50HFT | -'22
ZP63HD ZP63HBL | ZP2-63HCL ZP2-63HNT ZP2-63HFT
ZP2A-TF2 ZPSOHD) ZPSOHBL | ZP2-8OMCL ZP2-80HNT ZP2-80HFT | 202
poaTrs | o ZP100HD ZP10OHBO | ZP2-100HCL ZP2-100HNT ZP2-100HFT | ..o
ZP125HD) ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT |©
ZP4OHT) ZPAOHBO | ZP2-40HCL ZP2-40HNT ZP2-40HFT
ZP2A-XF1 ZPSOHC) ZPSOHBO | ZP2-50HCL ZP2-50HNT ZP2-50HFT | 252
ZP63HT ZP63HBL | ZP2-63HCL ZP2-63HNT ZP2-63HFT
ZP2h-XF2 ZPSOHD] ZPSOHBL | ZP2-80HCL ZP2-80HNT ZP2-80HFT | - 22
ZP100HO ZP100HBO | ZP2-100HCL ZP2-100HNT ZP2-100HFT
ZP2A-XF3 ZP125HO ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT | 122

Adapter assembly model

Adapter Assembly Part No.(for Heavy-duty)

Applicable pad model

1243

ZPAT1-B: ZP40HO  ZP40HBO ZP2-40HCL  ZP2-40HNT  ZP2-40HFT |, ...
ZP50HO ZP50HBO ZP2-50HCL  ZP2-50HNT ZP2-50HFT | -
ZPA-T2-B- @ ZP63HO ZP63HBO ZP2-63HCL  ZP2-63HNT  ZP2-63HFT |, ...,
' ZP8OHO  ZP8OHBO ZP2-80HCL ZP2-80HNT ZP2-80HFT | -
ZPA-T3-B+ ZP100HO ZP100HBO | ZP2-100HCL ZP2-100HNT ZP2-100HFT | ...
‘ ZP125H0 ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT | ZP3
ZP40HO ZP40HBO ZP2-40HCL ZP2-40HNT ZP2-40HFT m
ZPA-T1-:01 ZP50HO  ZP50HBO ZP2-50HCL ZP2-50HNT  ZP2-50HFT | "12°3
ZPA-T2-+01 ZP63HO ZP63HBO ZP2-63HCL  ZP2-63HNT  ZP2-63HFT |, ... P2V
' ZP8OHD ZP8OHBL ZP2-80HCL ZP2-80HNT ZP2-80HFT | - EP
ZPA-T3-:01 ZP100HO ZP100HBL | ZP2-100HCL ZP2-100HNT ZP2-100HFT | .../ o7
ZP125H0 ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT ZPR
ZPA-X1-:01-B+ ZP40HO ZP40HBO ZP2-40HCL  ZP2-40HNT  ZP2-40HFT |, ..,/ KT66!
ZP50HO  ZP50HBO ZP2-50HCL  ZP2-50HNT  ZP2-50HFT
, ZP63HO ZP63HBO ZP2-63HCL ZP2-63HNT  ZP2-63HFT
ZPA-X2-+01-B+ ZP8OHO  ZP8OHBLO ZP2-80HCL ZP2-80HNT ZP2-80HFT | "124
] ] | ZP100HO ZP100HBL | ZP2-100HCL ZP2-100HNT ZP2-100HFT
ZPA-X3-+01-B+ ZP125HO ZP125HBL] | ZP2-125HCL ZP2-125HNT ZP2-125HFT | 1254



Series ZP2/ZP

Buffer Assembly Part No.(for Ball Spline)

S e
ZP02UC1
ZP04U]
ZP2B-T3S6 - ZPOBULI P.1255
ZP08UO
Series ZP Buffer Assembly Part No.
Suffer assembly mode!

ZP2-03U00  ZP2-14UTO
ZP2-B04UC] ZP2-18UTO
ZP2-B06CI ZP2-20UTO
ZP2-07C00  ZP2-06J01

ZP2-B08C] ZP2-B10JO |P.1256
ZP2-B06BL] ZP2-B15J00 |P.1257

ZP(02, 04, 06, 08)UL]
ZP(06, 08)BC]
ZP(10, 13, 16)UTO

ZPB1(J/ K)mE-OO ZP(10, 13, 16)CTO]

ZPB1(J / K)mm

gg;gg;ﬂg ZP2-B08BL] ZP2-04UCL
ZP4010UC] ZP2-05UTO  ZP2-06UCL

ZP2-06UTC ZP2-08UCL
ZP2-11UTO

ZP2-09J0] ZP2-B25J0]
ZP2-14J0 ZP2-B30JO  |p 1258
ZP2-16J0J ZP2-25UCL  |p 1959

ZP(10, 13, 16, 20, 25, 32)UC]

ZPB2(J / K)mm-O< ZP(10, 13, 16, 20, 25, 32)COI

ZPB2(J/K)mm i:gg,:g,;gsgg,zs,sz)su ZP2-10UCL  ZP2-32UCL
18, ZP2-16UCL
ZP(40, 50)UC) ZP2-40UCL
ZPB3(J/ K)HE-OO ZP(40, 50)CC ZP2-50UCL P.1260
ZPB3(J/ K)mm ZP(40, 50)B0] P.1261
ZP40DCI

A

1244



Adapter/Buffer Applicable Pad List Series ZP2/ZP

Buffer Assembly Part No. (for Heavy-duty Ball Joint)

Applicable pad model

Buffi bl del P:
B A Series ZP Series ZP2 e
ZP40HO ZP40HBO ZP2-40HCL ZP2-40HNT ZP2-40HFT
ZP2B-TF1(JB/JF)¢ P.1262
ZP50HO ZP50HBC ZP2-50HCL  ZP2-50HNT ZP2-50HFT
ZP63HO ZP63HBL ZP2-63HCL  ZP2-63HNT ZP2-63HFT
ZP2B-TF2(JB/JF)¢ P.1262
ZP80OHO ZP8OHBL ZP2-80HCL ZP2-80HNT ZP2-80HFT
ZP100HO ZP100HBO | ZP2-100HCL ZP2-100HNT ZP2-100HFT
ZP2B-TF3(JB/JF)¢ P.1262
ZP125H0 ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT
ZP40HO ZP40HBO ZP2-40HCL ZP2-40HNT ZP2-40HFT
ZP2B-XF1(JB/JF)¢ P.1263
ZP50HO ZP50HBO ZP2-50HCL ZP2-50HNT ZP2-50HFT
ZP63HO ZP63HBO ZP2-63HCL ZP2-63HNT ZP2-63HFT
ZP2B-XF2(JB/JF)¢ P.1263
ZP8OHO ZP8OHBL ZP2-80HCL ZP2-80HNT ZP2-80HFT
ZP100HO ZP100HBO | ZP2-100HCL ZP2-100HNT ZP2-100HFT
ZP2B-XF3(JB/JF)¢ P.1263
ZP125HO ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT
Buffer Assembly Part No. (for Heavy-duty)
R W zP3
Series ZP Series ZP2 m
ZP40HO ZP40HBO ZP2-40HCL ZP2-40HNT ZP2-40HFT |p.1264
ZPB-T1(J/JB/JF)¢-:01 P2V
ZP50HO ZP50HBLC ZP2-50HCL ZP2-50HNT ZP2-50HFT |P.1265
?
ZP63HO ZP63HBO | ZP2-63HCL ZP2-63HNT ZP2-63HFT |p.1264| |Zh%
ZPB-T2(J/JB/JF)¢-:01
ZP8OHO ZP80HBO ZP2-80HCL ZP2-80HNT 2ZP2-80HFT |P.1265 XT661
ZP100HO ZP100HBO | ZP2-100HCL ZP2-100HNT ZP2-100HFT |p.1264
ZPB-T3(J/JB/JF)¢-:01
ZP125HO ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT |P.1265
ZP40HO ZP40HBO ZP2-40HCL ZP2-40HNT ZP2-40HFT |p.1266
ZPB-X1(J/JB/JF)@-+01
ZP50HO ZP50HBO ZP2-50HCL  ZP2-50HNT ZP2-50HFT |P.1267
ZP63HO ZP63HBLC ZP2-63HCL  ZP2-63HNT ZP2-63HFT |p.1266
ZPB-X2(JIJB/JF)@-:01 !
ZP8OH ZP8OHBLI ZP2-80HCL ZP2-80HNT ZP2-80HFT |P.1267
ZP100HO ZP100HBO | ZP2-100HCL ZP2-100HNT ZP2-100HFT |p.1266
ZPB-X3(J/JBIJF)@-+01
ZP125H0 ZP125HBO | ZP2-125HCL ZP2-125HNT ZP2-125HFT |P.1267

1245



Series ZP2

Mounting Adapter Part No.

Adapter part no. ‘ ZP2A-001 Adapter part no. ‘ ZP2A-M02:
010 With gasket: ZP2A-MO2P
o8 M5x0.38 Without gasket: ZP2A-M02
o1.5
M5 x 0.8 7
Gasket
o <] y
C J Applicable pad part no.
C — 8
< j w —3-2 ZP2-B06MU
0 0 ZP2-B08MU
gl | el N 5 - ZP2-B10MU
08.4 Applicable pad part no. N ZP2-B15MU
ZP2-3507W 04 Widih across | - Zp2-B10MT
~ m[ I ZP2-4010W s RS Zp2.B15MT
ZP2-5010W ZP2-B06MB
ZP2-6010W ZP2-B08MB
Adapter part no. \ ZP2A-002 Adapter part no. ZP2A-M03:
o014 M With gasket: ZP2A-MO3P
o1 5x08 Without gasket: ZP2A-MO03
M5 x 0.8 025,
o Gasket
© o
‘ I o014
< T T
3 < [ Width across flat 2.5
STEE
Applicable pad part no.
ZP2-4020W 06 | Applicable pad part no. |
~ mI H ZP2-5020W 210 ZP2-B20MT
ZP2-6020W ZP2-B25MT
ZP2-8020W ZP2-B30MT
Adapter part no. ‘ ZP2A-003 Adapter part no. ZP2A-M04
022 Width across flat8 M5 x 0.8
219 T
M5 x 0.8

5.5

@
o ] <]
J Applicable pad part no.
4 £ j ZP2-B06MU
@J < L ZP2-B08MU
o ZP2-B10MU
©20.4 | Applicable pad part no. ZP2-B15MU
ZP2-4030W EJ ZP2-B10MT
N mI (( ( ZP2-5030W o4 ZP2-B15MT
ZP2-6030W 6 ZP2-B0O6MB
ZP2-8030W ZP2-B08MB
Adapter part no. ZP2A-M01P Adapter part no. ZP2A-M05

With gasket: ZP2A-MO1P

Width across flat 5 M3 x 0.5
Gasket
n
A A\
S BT
(8
0 D
& &
¥ &
21.2
22
23

Applicable pad part no.

ZP2-B02MU
ZP2-B035MU
ZP2-B04MU
ZP2-BO5MU
ZP2-B04MB

M5 x 0.8

Width across flat 3

Applicable pad part no.

ZP2-B10MB
ZP2-B15MB

1246



Mounting Adapter Part No. Series ZP2

Adapter part no.

ZP2A-M06

Adapter part no.

\ ZP2A-S01P

With gasket: ZP2A-S01P

P2y

N |~ N
- -
w

NN
-l
-

><
=
=23
S
p=

M5 x 0.8
Width across flat 5 M3x0.5
Gasket
SERY
N
S 2
0
(=]
L Width across flat 3 ~ T
2 00.8 ‘
N
21.6 |
010.8 Applicable pad part no. 2.1 Applicable pad part no.
ZP2-B20MB - ZP2-04S
Adapter part no. ZP2A-Z01P Adapter part no. ZP2A-S02P
With gasket: ZP2A-Z01P Width across flat 7 M5 x 0.8 With gasket: ZP2A-S02P
Width across flat 7 M5x0.8
— © ] Gasket
9 \ Gasket © 1
o [ 0 —
e SEOs
i3
wf H‘?} <+
A "L Applicable pad part no.
015 Ne ZP2-B02EU 2 o1s
ZP2-BO4EU
3
2 ZP2-B0GEU 23.] |
4.4 ZP2-08EU 23.9 Applicable pad part no.
ZP2-15EU ZP2-06S
Adapter part no. ZP2A-Z02P Adapter part no. ZP2A-S03P
i : - i ket: ZP2A-S03P
With gasket: ZP2A-Z02P Width across flat 8 M5x08 With gaske S03
M5 x 0.8
— Width across flat 1.5 g Gasket
2 Gasket :
| — n
‘ Sllos
2el )
¥ 15 Applicable pad part no. o
2. ZP2-B02EU 2
L ZP2-B0O4EU
ZP2-BO6EU
ZP2-08EU Applicable pad part no.
ZP2-15EU ZP2-08S
Adapter part no. ‘ ZP2A-Z21P Adapter part no. ZP2A-S04P

Width across flat 7 M5 x 0.8
—
0
(]
®
)
o141
92.2

With gasket: ZP2A-Z21P

Gasket

Applicable pad part no.

ZP2-08AN
ZP2-11AN

Width across flat 10
n

wn

(\’5

M5 x 0.8

1.5

With gasket: ZP2A-S04P

Gasket

Applicable pad part no. |
ZP2-10S

1247 ®



Series ZP2

Adapter part no.

2.5

Applicable pad part no.
ZP2-15S

ZP2A-S05P Adapter part no. | ZP2A-S14
Widih across flat 15 M5x08  With gasket: ZP2A-SO5P Width across flat 10 M5 x 0.8

© Gasket
i U 0
(2] ?
®

<
<

0

Applicable pad part no.
ZP2-10S

1248

Adapter part no. ZP2A-S11 Adapter part no. \ ZP2A-S15
Width across flat 5 M3 x 0.5 Width across flat 15 M5 x 0.8
[ e
™ <
; ] |
7,_/
< <
0 0
-~ 0.8 -
1.6
2.1 5 =
Applicable pad part no. Applicable pad part no.
ZP2-04S ZP2-15S
Adapter part no. ‘ ZP2A-S12
Width across flat 7 M5 x 0.8
<
~
—
<
2 e15
3.1
Applicable pad part no.
23.9
ZP2-06S
Adapter part no. ‘ ZP2A-S13
Width across flat 8 M5 x 0.8
<
) a
< |-
n
- 22.5
241
04.9 Applicable pad part no.
| zP2-08s



Mounting Adapter Part No. Series ZP2

Adapter part no. ZP2A-Z31-1P [7 g] Adapter part no. ZP2A-Z31-4P [35 g]
M20 x 1.5
M10 x 1
@ Seal washer
=| Width across
| width across Seal washer ) et
7 flat 14 o
0
RIS s N
wn —
w0
@ 0 =
2 016
022.5
027
234
Applicable pad part no. Applicable pad part no.
ZP2-B15ZJSCJ ZP2-40ZJ0
Adapter part no. ZP2A-231-2P [7 g] Adapter part no. ZP2A-231-5P [65 g]
M30x 1.5
M10x 1 =
: Width across Seal washer
P — | Tlat3s
g Width across Seal washer
Ty flat14 ©
0
N3 hE ~
w
—
~ 3 h
=]
- 222
229
©932.5
242
Applicable pad part no. Applicable pad part no.
ZP2-B20ZJSC ZP2-46ZJ0]
Adapter part no. ZP2A-231-3P [16 g]
M16x 1.5
@
| Width across Seal washer
1 flat2t
]
8
I
~

Applicable pad part no.
ZP2-B30ZJST

1248-1 @



Series ZP2

5

31.2
25
4

flat 21

Width across

274‘
24,

015
218.5
024

Appli pad part no.

ZP2-B30ZJSC

® 1248-2

Adapter part no. ZP2A-Z32-1 [15 9] Adapter part no. ZP2A-232-4 [30 g]
Mi2x1_ Applicable tubing: 06 Width across flat 19 M14 x1 _ Applicable tubing: 26
Width across flat 17
]% ;
o , vt
€[ ]| « T } 5| &+t
U: Width across
flat 30
wn
—] o C
@ 0!
- %' o
Width across flat 14 08.6 - 04
o1l 2225
215 227
Applicable pad part no. 234 Applicable pad part no.
ZP2-B15ZJSCJ ZP2-40ZJ0
Adapter part no. ‘ ZP2A-Z32-2 [15 g] Adapter part no. ‘ ZP2A-232-5 [37 g]
M14 x 1 Applicable tubing:
M12x1_ Applicable tubing: @6 Width across flat 19 X  Applicable tubing: 06
Width across flat 17
—]
— ]7
- <
% & ~ T g &l «+
u: Width across
flat 38
© 5
— o
~ w0 N
- o4
24, 0
Width across flat 14 09.6 - ﬂj
212.5 229
015 932.5
Applicable pad part no. 242 Appli pad part no.
ZP2-B20ZJSC ZP2-46ZJ0]
Adapter part no. ‘ ZP2A-Z32-3 [22 g]
Width across flat 19 M14x1 _ Applicable tubing: o6
—]



Series ZP

Mounting Adapter Part No.

Refer to page 1241 for applicable pad part no.

Adapter part no. ‘ ZPT1-A5/A6 Adapter part no. ZPT4-A6/A8
<A
Width across flat B | Width across flat D
A
) o 7
@ m m$ }
j Width across flat 12
a4 F i
©o
02.5
Dimensions 0 Dimensions
24.9 =}
Model A B - Model A B|D|E
ZPT1-A5 | M5x0.8 | 7 oE ZPT4-A6| M6x1 |26| 8|3
ZPT1-A6 | M6x1 | 8 o117 ZPT4-A8| M8x1 [16] 12]45
Adapter part no. ZPT2-A5/A6 Adapter part no. ZPT1-B4/B5
.Y
Width across flat 8
Width across flat 7 A'
o wl 4
"ut L . ) l mI
Width across flat 8 ~ g
~
o 1 =
© L Dimensions 02.5 Dimensions
P a0 Model A B | E 24.9 Model A B
025 ZPT2-A5 | M5x038 | 21| 4 : ZPT1-B4 | M4x0.7 | 4
06.6 ZPT2-A6 | M6x1 |26 3 ZPT1-B5 | M5x0.8 | 5
Adapter part no. ZPT3-A6 Adapter part no. ZPT2-B5/B6
M6 x 1
i Width across flat 8 Width across flat 8 A
(2}
g o - o
Width across flat 8 iy
o [
wn
> E 925 Dimensions
06.6 Model A B
03.5 ZPT2-B5 | M5x0.8 | 5
28 ZPT2-B6 | M6x1 | 6
Adapter part no. ZPT3-A8 Adapter part no. ‘ ZPT2-B01/NO1/TO1
M8 x 1 _
Width across flat 12 Width across flat 12 A
o| ©f IS
- v O Width across flat 12 - F j mI
o ~
< ]|
. Dimensions
2.5 Model A B
3.5 66 ZPT2-B01| Rci/8 |6.2
25. ‘ ZPT2-NO1| NPT1/8 |6.9
08.8 ZPT2-T01 | NPTF1/8 | 6.9

N
-
W

P2y

MEL S|

NN
-l
-

><
=
=23
S
p=

1249 ®



Series ZP

Refer to pages 1241, 1242 for applicable pad part no.

Adapter part no. ZPT3-B5/B6 Adapter part no. \
‘ Q
Width across flat 8 A Vith aros i & E
a [l Width across flat 10
N z E
@ T mI < a Gasket Dimensions1(per mounting connection thread)
L o {1 / Applicable tube Model E AB|D
o L - 41} \OD.oP ZPRS-%-A5 | M5x08 [21]46] 4
& | [l u;I ZPRS-%-A6 | M6x1 |26|51] 3
04.2 Dimensions I R 1= Dimensions2(per applicable tube 0.D.)
Model A B o 1 Model PIQ|R|S
28 ZPT3-B5 | M5x0.8 | 5 o 4”2.5 ZPRS-04-A* | 4 [206[156[104
ZPT3-B6| M6x1 | 6 M5x08] | ZPRS-06-A+ | 6216|166 126
Adapter part no. | ZPT3-B8/B01/NO1/TO1 Adapter part no. \ ZPRS-++-Bs

Width across flat 12 A
Q
W - I Width across flat 10 "—T
sl Applicable tube
F L} GL“‘““\ ’.E.‘ 0.D.oP Dimensions1(per mounting connection thread)
< PL T Model E F
I =Y Sge ZPRS-%-B4 | M4x0.7 4
o Dimensions § @ D @ ZPRS-%-B5 | M5x038 | 5
Model A B "R ZPRS-%-B6 | M6 x 1 6
235 ZPT3-B8 |Msx1.25| 8 P 021 Dim 2(per applicable tube 0.0.)
08 ZPT3-B01 | Rcl/8 |62 o == Model P[Q[R]S
0.5 ZPT3-NO1 | NPT1/8_| 6.9 Jlmsxos ZPRS-04-B+ | 4 |206 | 156 104
= ZPT3-T01 | NPTF1/8 | 6.9 ZPRS-06-B+ | 6216|166 | 128
Adapter part no. ZPT4-B6/B8 Adapter part no. \ ZPRL-#%-A%
Width across flat D Q
Width across flat 12 A Width across flat 12 E
I 7 *\\ |
(3]
T Gasket
° mI «| HHHp e Dimensions1(per mounting connection thread)
o ™ \ Applicable tube Model E [A[B|D
@ W of ZPRL-O<O-A6| M6x 1] 26545 8
] ©|o| 4 ZPRL-OO-A8 | M8xi25| 16 | 445 |12
= 8|~ Fé Ve Py .
- g %J S Di (per applicable tube 0.D.)
Dimensions o R Model PIQ|/R|S
oD Model A B|D ~ Hi ZPRL-04-% | 4 /233|158 104
ZPT4-B6 | M6x1 | 6 |49 04] M8 x 1.25 ZPRL-06-% | 6 |243[168 128
SCAANA ZPT4-B8 | M8x1 | 8 |75 EE— ZPRL-08-% |8 262 187] 152
Adapter part no. ZPT4-B01/N01/TO1 Adapter part no. ZPRL-+x-B=
Width across flat 12
Width across flat 12 A I Applicable tube 0.D. gP
Gasket | E __— '
T\ Dimensions1(per mounting thread)
m : Model E F
0 W ] pd HIT
o <2 M ol ZPRL-OO-B5| M5x08 | 5
o [[JTHIC_H s ZPRL-OC-B6| Mex1 | 6
0 o = R ZPRL-OO-B8| M8x1.25 | 8
2 Dimensions ~ ] Di ions2(per applicable tube 0.D.)
Model A B %‘» M8 x 1.25 Model PIQ|R|S
o7 ZPT4-B01 Rc1/8 | 6.2 ZPRL-04-B+ | 4233158104
117 ZPT4-NO1 | NPT1/8 | 6.9 ZPRL-06-B+ | 6243|168 | 128
a1l ZPT4-TO1 | NPTF1/8 | 6.9 ZPRL-08-B+ | 8 | 262|187 152

® 1250




Mounting Adapter Part No. Series ZP

Refer to page 1242 for applicable pad part no.

Adapter part no. ZPY1-x%-Ax Adapter part no. ZPY1-#x-Bx
P
Width across flat 8 Q
Width across flat 10 *E* - Width across flat 7 ‘
[=) Width across flat 10 T
n E w
< T | ., | . T Y Nt i o . .
(1] a Dimensions1(per g connection thread) ,\1 ) ] L Dimensions1(per mounting thread)
o _ Model E [A[B]D - = @EII Model E F
N 4% el ZPY1-OO-A5 | M5x08 (2153 | 4 ~] B\ s ZPY1-OO-B4 | M4x07 | 4
g ] ZPY1-OO0-A6 | Mext 27 |375] 3 2.5 ZPY1-0<>-B5| M5x0.8 | 5
c| 025 Dimensions2(per vacuum inlet) 04.9 Widhacrosslat7- Dimensions2(per vacuum inlet)
04911 Model P|Q[R \M5 x 0.8 Model P |Q
M5 x 0.8 ZPY1-4-% [135]|5 ] 1.8 ZPY1-4-8 (1355 ] 1.8
ZPY1-¥%-% |155|7 | 25 ZPY1-%-8 |155|7 | 25
Adapter part no. ZPY 2= A Adapter part no. ‘ ZPY2-+%-Bx
P Width across flat 7
Width across flat 8 ‘ Q
Wit acros i 12\ - E. .
o Width across flat 12 *5¢ u,
< 4 Dimensions1(per ing ion thread) ‘+ Dimensions1(per mounting ion thread)
o 12 Model E [A[B[D ] 2 1;* Model E |F
N | ZPY2-00-A5 | M5x08 | 21 | 47 | 4 of 03 ZPY2-O(>-B5| M5x08 | 5
< of U ot ZPY2-00-A6| Mext [26[52]3 @ ZPY2-O0-B6| M6x1 | 6
© /T ©' Dimensions2(per vacuum inlet) 02.5 Width across flat 7 Dimensions2(per vacuum inlet)
M5 x 0.8 02_5‘ Model P|Q| R 266 | | \M5x0.8 Model P |Q
TGL ZPY2-Y-% |145|5| 1.8 ZPY2-%i-8 |145|5| 1.8
208 ZPY2-%-% [165] 7 | 25 ZPY2-%-& [165] 7 | 25
Adapter part no. ZPY3-x#-Asx Adapter part no. ZPY3-#%-Bs
X Width across flat 7 ZP3
Width across flat D Q P_
Width across flat 12 E ‘ m
o With across flet 12 ’VEV wy Dimensiosf{per mouning connecton tread) | (7
< ; Dimensions1(per g thread) \ Model E F
ol 12 Model E |A[B|D @ P! ZPY3-OO-B5| M5x08 [5 | [7p
5 ZPY3-OO-A6 | Mex 126 |54 | 8 of O ?;T’ ZPY3-00-B6| Mex1 |6
o > ZPY3-OO-A8 | M8 x 1| 16 | 44 |12 s ZPY3-O0-B8| M8 x1.25 | 8 ZPT
2 L= r— - @ k . - ZPR
o T al Dimensions2(per vacuum inlet) Dimensions2(per vacuum inlet)
23.5 Width across flat 7
f Model P |Q| R o8 M5 x 0.8 Model P QR XT661
M5x 0.8/ 535 ZPY3-Ui-% |145| 5] 1.8 el WX ZPY3-3-BO | 1455 | 1.8
08 ZPY3-¥%-4 [165]|7 | 25 ZPY3-%-BO [16.5| 7 | 25
Adapter part no. ZPY4-x5-As Adapter part no. ‘ ZPY4-+%-B
16.5
Width across flat D 7 165
e 7
Width across flat 12 *E$ Width across flat 12 E***u_
-0 |
o} L
< e Width across flat 7 & ﬂﬁj*
of iidth actoss flat 7 o T
ol — o
S [ ‘3[
o 6| |
| Dimensions1(per ing connection thread) 011.7 Width across flat 7 Dimensions? (per mounting ion thread)
Model E A B |D M5 x 0.8 Model E F
ZPY4-1-A6 |M6x1|26 |54 |8 ZPY4-15-B6 M6 x 1 6
ZPY4-%-A8 |M8x1| 16|44 |12 ZPY4-%-B8 | M8 x 1.25 | 8

1251



Heavy-duty Ball Joint Adapter Assembly Part No. (type T)

Series ZP2
Adapter Assembly Part No.

Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
ZP40HO ZP40HBO ZP40HO ZP40HBO
K ZP50HO ZP50HBO ZP50HO ZP50HBO
ZP2A-TF1 | Zpo-40HCL ZP2-40HNT ZP2-40HFT ZP2A-XF1 | Zpo.40HCL ZP2-40HNT ZP2-40HFT
ZP2-50HCL ZP2-50HNT ZP2-50HFT ZP2-50HCL ZP2-50HNT ZP2-50HFT
M4 x 1 - M14 x 1
Width across flat 19 Rc1/8 WIdth across flat 19
Width across flat 19 Width acros‘s flat 19
, ¥
¥ ] 0]
—| T (\l] o] L 3
0 Nlml = P axmsxos s 4 D
¥ o 3 M% 3xM3x0.5
- = ¥ 8| @
o S| = ==
NTe % « v |
g e & o @ R
=~ <~ &
02 | -
218 M5x0.8 / [22,]
218

Q
@
o

230

* With three M3 bolts * With three M3 bolts

Adapter assembly part no. Applicable pad part no.

ZP63HO ZP63HBO
ZP80HO ZP80HBO
ZP2-63HCL ZP2-63HNT ZP2-63HFT
ZP2-80HCL ZP2-80HNT ZP2-80HFT

Adapter assembly part no. Applicable pad part no.

ZP63HO ZP63HBO
ZP80HO ZP80HBO
ZP2-63HCL ZP2-63HNT ZP2-63HFT
ZP2-80HCL ZP2-80HNT ZP2-80HFT

Width across flat 22

ZP2A-TF2 ZP2A-XF2

M16x 1.5

d M16 x 1.5
Width across flat 22 Rc1/8 Width across flat 22
Width across flat 22 o] © 0”£
Nl o o 3
| © [O
N - 3 g
2 55 g Ret/s |
0 w0
v L <4l v
2o | ©| o =
S =
T e Se]
- ° " i
> ) - Z— N}
? i _4xM4x07 3 2 N\ axmaxoz
o4 04 A XMEXV.7
234 034

# With four M4 bolts # With four M4 bolts

Adapter assembly part no. Applicable pad part no.

ZP100HO  ZP100HBO
ZP125HO  ZP125HBO

Adapter assembly part no. Applicable pad part no.

ZP100HO  ZP100HBO
ZP125HO  ZP125HBO

ZP2A-TF3 ZP2A-XF3

ZP2-100HCL ZP2-100HNT ZP2-100HFT
ZP2-125HCL ZP2-125HNT ZP2-125HFT

ZP2-100HCL ZP2-100HNT ZP2-100HFT
ZP2-125HCL ZP2-125HNT ZP2-125HFT

M16x1.5

Width across flat 22 Rc1/8
Width across flat 22
| © O
N| © (L 3
o =
e O
© n
0 ; ©
ISR =
h S
e L > 4xM5x0.8
04 |
240
970

# With four M5 bolts

Width across flat 22
Width across flat 22

M16x 1.5

| ©
Nl ©

DI}

81.5

46

8.5

Rc1/8 1] ‘h
> [

29.5
20

i

10.1

[

24 |
240
270

4 xM5x0.8

# With four M5 bolts

1252




Series ZP
Adapter Assembly Part No.

Heavy-duty Adapter Assembly Part No. (rype T, Female thread)

Heavy-duty Adapter Assembly Part No. (rype T, Male thread)

Adapter assembly part no.

Applicable pad part no.

Adapter assembly part no.

Applicable pad part no.

*With four M4 bolts

ZPA-T1-B8 ZP40HO ZP2-40HCL ZP2-50HNT ZPA-T1-B01 | ZP40HO ZP2-40HCL ZP2-50HNT
ZP50HO ZP2-40HNT ZP2-50HFT ZPA-T1-NO1 ZP50HO ZP2-40HNT ZP2-50HFT
ZP40HBO ZP2-40HFT ZP2-3050HWCI ZP4OHBO ZP2-40HFT ZP2-3050HWCI
ZPA-T1-B10 | zp5oHBO ZP2-50HCL ZPA-T1-TO1 | ZP50HBL ZP2-50HCL
Widih across flat24  A_ Width across flat 19 1/8(Rc, NPT, NPTF)
M NE
| | 0 O
— ) N ol E 5 Miax
0 5 =
= 3xM3x0.5 N ﬁ—*
018 — [
228 ) ;’ 03| ET
Dimensions Width across flat 19 SxM3x05
Model A 218 |
ZPA-T1-B8 M8 x 1.25 028
ZPA-T1-B10 | M10x1.5
*With three M3 bolts *With three M3 bolts
Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.

-T2- -T2- ZP63HO ZP2-63HCL ZP2-80HNT
ZPAT2 B | zpeaHO  ZP2-63HCL ZP2-BOHNT ZpA-T2-801 ZPSOHD  ZP2-63HNT ZP2-80HFT
ZPA-T2-B10 | ZPgoHDI  ZP2-63HNT ZP2-80HFT ZPA-T2-NO1 | ZpeanBr ZP2-63HFT
ZPA-T2-B12 %ﬁgg:gg gg-gg:g ZPA-T2-TO1 | ZP8OHBL ZP2-80HCL
ZPA-T2-B16 )

A
Width across flat 37 = J Width across flat 22 1/8(Rc, NPT, NPTF)
6
ul i
0 4 w| ©. QJ:1 3
= 4xM4x0.7 o e L M16x 1.5
034 ~ nm ©
045 Dimensions J %
Model L &l 2 28 | 4xM4x0.7
ZPA-T2-B8 | M8x1.25 - 234
ZPA-T2-B10 | M10x1.5 "
Width flat 24
ZPA-T2-B12 | M12x1.75 idth across fiat 245
ZPA-T2-B16 | M16x1.5

*With four M4 bolts

N
-
W

P2y

MEL <

NN
-l
-

Adapter assembly part no.

Applicable pad part no.

Adapter assembly part no. Applicable pad part no.
_Ta. ZP100HO ZP2-100HCL ZP2-125HNT
ZPA-T3-B12 ZP125HO ZP2-100HNT ZP2-125HFT
ZP100HBO ZP2-100HFT
ZPA-T3-B16 | 7p125HBO ZP2-125HCL
Width across flat 60 A_
! ‘ |
' ¥
4xM5x0.8
240
270
Dimensions
Model A
ZPA-T3-B12 | M12x1.75
ZPA-T3-B16 | M16x1.5

*With four M5 bolts

ZPA-T3-B01

ZPA-T3-NO1

ZPA-T3-TO1

ZP100HO ZP2-100HCL ZP2-125HNT
ZP125H0O ZP2-100HNT ZP2-125HFT
ZP100HBO ZP2-100HFT
ZP125HBO ZP2-125HCL

Width across flat 22

1/8(Rc, NPT, NPTF)

43
25

} M16x 1.5

6.6
R

=

el =]

Width across flat 24

f
4 xM5x0.8

*With four M5 bolts

1253

XT661

E



Series ZP

Heavy-duty Adapter Assembly Part No. (type X, Female thread)

Adapter assembly part no. Applicable pad part no. Adapter assembly part no. Applicable pad part no.
ZPA-X1-B01-B8 ZP40HD ZP2-40HCL ZPA-X3-B01-B10 ZP100HL] ZP2-100HCL
ZPA-X1-N01-B8 ZP50HO ZP2-40HNT ZPA-X3-N01-B10 ZP125H ZP2-1
ZPAOHBO  ZP2-40HFT SHOI ~100HNT
ZPA-X1-T01-B8 ZPA-X3-T01-B10 ZP100HBO ZP2-100HFT
ZP50HBO ZP2-50HCL c
ZPA-X1-B01-B10 ZP2-50HNT ZPA-X3-B01-B12 |  ZP125HBO %gg: gg:N#
ZPA-X1-N01-B10 ZP2-50HFT ZPA-X3-N01-B12 ZP2-125HFT
ZP2-3050HWO
ZPA-X1-T01-B10 ZPA-X3-T01-B12
1/8(Rc, NPT, NPTF) A 1/8(Rc, NPT, NPTF) A_
= =
sl i o \}‘
@ [e)
< 9 0 ©
© wn (V)
4 e T T
2 3xM3x05 24 | 4xM5x0.8
23 | Width across flat 21 040 |
018 | 270
Width across flat 21 228
Dimensions Dimensions
Model A Model A
ZPA-X1-0101-B8 M8 x 1.25 ZPA-X3-0101-B10 | M10x 1.5
ZPA-X1-0101-B10 | M10x 1.5 ZPA-X3-0101-B12 | M12x1.75
*With three M3 bolts *With four M5 bolts
Adapter assembly part no. Applicable pad part no.
ZPA-X2-501-B10 ZP63H ZP2-63HCL
O -
ZPA-X2-N01-B10 | Zpggyp ZP2-63HNT

ZPA-X2-T01-B10 ZP63HBO ZP2-63HFT
ZPA-X2-B01-B12 | ZP8OHBO ZP2-80HCL

ZP2-80HNT
ZPA-X2-N01-B12 ZP2-80HFT
ZPA-X2-T01-B12
1/8(Re, NPT, NPTF) A_
) !
©
A
| rredim
o 1] «x
- 24 | 4xM4x0.7
234
Width across flat 21 245
Dimensions
Model A

ZPA-X2-1101-B10 | M10x 1.5
ZPA-X2-1101-B12 | M12x1.75
#With four M4 bolts

1254



Series ZP2
Buffer Assembly Part No.

Buffer assembly part no. Applicable pad part no.
ZP2B-T3S6 ZP02UO
ZP04U0
ZPo6UCI
ZP08UO
18
|
AT
S — L
Ix 34
M5 x 0.8

| Wit across lat .
|
I |

~ 105000
o

+ | Width across flat 7
¥

o] =
o ¥
¥ Gasket

02|
M5 x 0.8

18

P2y

> |I[NNI[N [N N



Series ZP2/ZP

Buffer Assembly Part No.

= Refer to page 1244 for applicable
pad part no.

= Refer to page 897 for nut tightening
torque.

Vacuum Entry Vertical/Buffer Assembly Part

ZPB1J{ $-B3

7 40.5
20 15
M3x0.5
Width across flat 6 (w
Width across flat 12 =
(e}
=R I = ‘
SRR M=), S
14 -
~
22,5
M8 x 1
10/15/25
6 Stroke Stroke
Dimensions
(Vacuum entry: Female thread M3 x 0.5)
odel A|B|D
ZPB1J6-B3 [ 21 |32 [ 15
ZPB1J10- 54 | 65
ZPB1J15- 59 | 70 | 43
ZPB1J25- 69 | 80

ZPB1J, 3-B5

M5 x 0.8

Width across flat 8

10/15/25

6 Stroke Stroke

Dimensions

(Vacuum entry: Female thread M5 x 0.8)
lodel A B|D

ZPB1J6-B5 | 21 [ 34 | 15

ZPB1J10-| 54 | 67

ZPB1J15-| 59 | 72 | 43

ZPB1J25-| 69 | 82

ZPB1J{, -8

Width across flat F

Width across flat 8

Applicable tube O.D. oE

10/15/25
Stroke

Dimensions
(Vacuum entry: One-touch type)

E:4 | E®6
Model AD B |F
6-5 [21]15]47.9
0-%[54] [809]
5-%59]43[85.9]
25-8[69] [959

]
F

m

=
&
2

)
F=
]

©

10

ZPB1J
J

)
8
=

ZPB1J160 52-32

wl

Width across flat 6

10/15/25
Stroke

. 6 Stroke
Applicable tube

0O.D. 94,02.5

Dimensions
(Vacuum entry: Barb type)
el A|B|D
ZPB1J6-Y; |21 [ 35 | 15
ZPB1J10-} | 54 | 68
ZPB1J15-1 | 59 | 73 | 43
ZPB1J25-} | 69 | 83
ZPB1JH % 15/
10/15/25
6 Stroke
Stroke
o @ o0
0 <
Width across flat 6 M5 x 0.8 M5x0.8 |
Dimensions
(Buffer for ZPR/ZPY)
el A|B|D
ZPB1J 213415
ZPB1J10 [ 54 | 65
ZPB1J15 |59 [ 70 | 43
ZPB1J25 69 | 80

1256




Buffer Assembly Part No. Series ZPZ/ZP

[* Refer to page 897 for nut tightening torque. ]

Vacuum Entry Vertical/Buffer Assembly Part No.

ZPB1K #-B3
7 40.5
20 15
M3 x 0.5
Width across flat 6 “”¢
Width across flat 12 | (™
- )
@ |4 oD
< of PHHHP | [ 2xess
14 my (0
~ ~
02| | 02
M8x1
10/15/2
6 Stroke g{rgll(es
Dimensions
(Vacuum entry: Female thread M3 x 0.5)
odel A|B|D
ZPB1K6-B3 [ 21 |32 [ 15
ZPB1K10- 54 | 65
ZPB1K15-B3[ 59 | 70 | 43
ZPB1K25-B3] 69 | 80

ZPB1Kf, ¢-B5

Width across flat F

Width across flat 8

10/15/25
6 Stroke
M5 x 0.8 Stroke
n'.w q
4
02
Width across flat 8 Dimensions
(Vacuum entry: Female thread M5 x 0.8)
A|B|D
ZPB1K 213415
ZPB1K 54 | 67
ZPB1K 59 | 72 | 43
ZPB1K 35[ 69 | 82
ZPB1KH 32-58
10570 Applicable tube 0.D..E 6 Stroke 10/15/25
Stroke

Dimensions
(Vacuum entry: One-touch type)
E:4 | E:6
Model A|D BIFIBIF
ZPB1K6-% [21]15[47.9| [487]
PB1K10-%[54 809 o 18171, )
PB1K15-%[59(43[859] ~ [867]
PB1K25-%[69| [959] [967

ZPB1K{H 2-Ui

6 Stroke 10/15/25 ZP3

Stroke
v Applicable tube O.D.:
mT“" 04,02.5
PV
?
Width across flat 6
Dimensions ZPT
(Vacuum entry: Barb type) ZPR
del A|B|D
ZPB1K6-E |2t |G [15 | NI001
ZPB1K10-}i | 54 | 68
ZPB1K15-8: | 59 | 73 | 43
ZPB1K25-}i | 69 | 83
ZPB1K#H %
10/15/25
6 Stroke Stroke
o @ @
w <
Width across flat 6 M5 x 0.8 M5 x 0.8
Dimensions
(Buffer for ZPR/ZPY)
lodel A|B|D
P| 213415
ZPB1K10 |54 | 65
P! 5 [59[70]43
ZPB1K25 [ 69 | 80

1257 ®



Series ZP2/ZP

[* Refer to page 897 for nut tightening torque. ]

Vacuum Entry Vertical/Buffer Assembly Part No.

1040

ZPB2Jz50-B5

M5 x 0.8
Width across flat 8
TiEY
Width across flat 14 fﬂ
o
@ ol el T
<
M10 x 1
L Gasket
i
< O {\awﬁ)
225
M5 x 0.8
Dimensions
(Vacuum entry: Female thread M5 x 0.8)
Model A|B|D
ZPB2J10-| 34| 47]23
“ZPB2J20-| 72] 85
PB2J30- 82| 95
PB2J40-B5 [ 118131
PB2J50-B5 | 128 | 141] '~

ZPB2J3 8- 8

Applicable tube O.D.:0E

Width across flat F

Width across flat 8

Dimensions

(Vacuum entry: One-touch type)
Model AD E4NIRE:0
B |[F| B |[F

P! 0-38| 34/23| 609 |61.7

J
J20-5[ 72/ [089] [907]
ZPB2J30-8] 82| [1089| 8 [109.7]10
'ZPB2J40-E[118[ _[1449] [1457]
PB2J50-8[128] "' [1549] [1557

10 4

ZPB2J3 83-ne

Applicable tube O.D.:06,04

Width across flat 6

Dimensions
(Vacuum entry: Barb type)
del A | B |D
ZPB2J10-3§| 34| 49 | 23
ZPB2J20-%¢| 72| 87|
ZPB2J30-}3| 82 | 97
ZPB2J40-t¢[ 118 [ 133 | __
ZPB2J50-1] 128 | 143
10 40 )
ZPB2J29 50 (Without gasket)
Width across flat 6
Dimensions
(Buffer for ZPR/ZPY)
" Model A[BI|D
ZPB2J 34| 4523
ZPB2J2 72 83]
ZPB2J 82| 93
ZPB2J/ 118 [ 129
ZPB2J50 | 128 | 139 | /.

1258



Buffer Assembly Part No. Series ZPZEP

[* Refer to page 897 for nut tightening torque. ]

Vacuum Entry Vertical/Buffer Assembly Part No.

ZPB2K3$ -B5 ZPB2K38 8- 84

M5 x 0.8 Applicable tube O.D.:sE
R

Width across flat 8
Width across flat F
|} M5 x 0.8
Width across flat 14 :ﬂ Width across flat 8
o © (B
0o [ Dimensions
< (Vacuum entry: One-touch type)
E:4 | E:6
=T B [F| B [F
M10 x 1 ZPI 609 |61
' ZPI [ 989 | 9o7|
Gasket P 108.9| 8109710
_ P! 1449] [1457
N %% {JLQQ 5 7hsiel [Tl
e ZPB2K 3§ 58-N8
M5 x 0.8 50°"us
Dimensions Applicable tube O.D.:06,04
(Vacuum entry: Female thread M5 x 0.8)
Model A|B|D
ZPB2K10- 34| 47]23
ZPB2K20-| 72] 85
_ZPB2K30-| 82 95 Width across flat 6
ZPB2K40-B5 [ 118[131]
PB2K50-B5 [ 128 [ 141
z
Dimensions m
(Vacuum entry: Barb type)
odel A B | D Z
ZPB2K10-1§| 34 | 49 | 23
ZPB2K20-13| 72| 87
ZPB2K30-%| 82| o7 | > ZP
ZPB2K40-3| 118 | 133 |
ZPB2K50-1%| 128 | 143 ZPT
ZPR
1040
ZPB2Kz0 50 (Without gasket)
XT661
@1 Wi across flat
Dimensions
(Buffer for ZPR/ZPY)
Model A| B |D
ZPB2K10 | 34| 45[23
ZPB2K20 | 72| 83 51
ZPB2K30 | 82| 93
ZPB2K40 [ 118 [129 |
ZPB2K50 [ 128 | 139

1259



Series ZP2/ZP

[* Refer to page 897 for nut tightening torque. ]

Vacuum Entry Vertical/Buffer Assembly Part No.

ZPB3J10-B5 ZPB3J$-B5
M5 x 0.8
Width across flat 10 M5x08_
= Y Width across flat 10
} of
o
1 ¥
H H
o o $H—F
< ] 3
Width across flat 19
M4 x| ]|[]
© =% Gasket
o4] | (t=0.5)
M8 x 1.25
Dimensions
(Vacuum entry: Female thread M5 x 0.8)
lodel A|B|D
ZPB3J10- 62| 77
ZPB3J20-| 72| 81| 50
ZPB3J30- 82| o1
ZPB3J50-| 127136 | 75

J:Rotating
H-H

©

ZPB3J10-001

1/8

ZPB3J%-C01

1/8

(Rc, NPT, NPTF)

1]

Width across flat 13

(Rc, NPT, NPTF)

o

Width across flat 13

Dimensions
(Vacuum entry: 1/8 type)
odel A|B|D

ZPB3J10-001] 62] 785]
ZPB3J20-O 72| 84 | 50
33J30-001] 82] 94
ZPB3J50-001127[139 | 75

ZPB3J10-§§

ZPB3J%-%

Applicable tube O.D.:gE Applicable tube O.D.:gE
4

Width across flat

Width across flat 1

m

Width across flat F

Dimensions
(Vacuum entry: One-touch type)
E:6 | E:8
Model A|D BIE B |F
ZPB3J10-%[ 62| |97 | [1025]
ZPB3J20-&] 72|50[ 919, %9,
ZPB3J30-%] 82| [1019] “[1069]
ZPB3J50-%127]75[1469 [1519

ZPB3J10-}

ZPB3J§-t

Applicable tube 0.D.:06,04 Applicable tube 0.D.:06,04

Width across flat 10

~ il ~ il
o M @ Jﬁ]
Width across flat 10
Width across flat 10 Dimensions
(Vacuum entry: Barb type)
lodel A B|D
ZPB3J10-8 | 62| 81|
ZPB3J20-% | 72| 84| 50
ZPB3J30-%¢ | 82| 94
ZPB3J50-% [127[139] 75
ZPB3J10 ZPB3J3
(Without gasket) (Without gasket)

Width across flat 10

o

Dimensions

(Buffer for ZPR/ZPY)

odel A|B|D

PB3J 62| 80
ZPB3J 72| 77] 50
PB3J30 | 82| 87
ZPB3J50 [127[132[ 75

1260




Buffer Assembly Part No. Series ZPZ/ZP

[* Refer to page 897 for nut tightening torque. ]

Vacuum Entry Vertical/Buffer Assembly Part No.

ZPB3K10-B5

M5 x 0.8
Width across flat 10

ZPB3K-B5

M5 x 0.8
Width across flat 10

( L

<
Hexagon widh acoss s 19

) ‘ ¥
H H
o a 3 O 3

M4 x 1] ][
© = Gasket
04 | (t=0.5)
M8 x 1.25
Dimensions
(Vacuum entry: Female thread M5 x 0.8)
odel A[B[D
PB3K10- 62| 77
PB3K20- 72| 81| 50
PB3K30- 82| o1
PB3K50-B5 [127[136] 75

K:Non-rotating
H-H

&

ZPB3K10-C01 ZPB3K-C01
1/8 1/8
(Rc, NPT, NPTF) (Rc, NPT, NPTF)
0 [11]
Width across flat 13
Width across flat 13 Dimensions
(Vacuum entry: 1/8 type)
odel A|B|D
ZPB3K10- 62| 785
ZPB3K20- 72| 84 | 50
ZPB3K30- 82| 94
ZPB3K50- 127[139 [ 75
ZPB3K10-% ZPB3K-%
Applicable tube O.D.:gE Applicable tube O.D.:0E
P
Width across flat F o
m
Width across flat F
Width across flat 13 . .
Dimensions
(Vacuum entry: One-touch type)
D E:6 | E:8
B [F| B [F
ZP| Lo | 05
P 501 819],,} %9],
P 1019] [ 1068
P 75[1469] [1519
_N6 20 Ng
ZPB3K10-Y8 ZPBSKgg ve 7P3
Applicable tube 0.D.:.06,04  Applicable tube O.D.:26,04 m
~ ~|
o o P
Width across flat 10 zpP
Width across flat 10 Dimensions ZpT
(Vacuum entry: Barb type) ZPR
odel A|B|D
ZPB3K10-12 | 62| 81 XT661
ZP| 204 | 72| 84| 50
ZPB3K30-8 | 82| 94
ZPB3K50-% [127[139] 75
20
ZPB3K10 ZPB3Kgg
(Without gasket) (Without gasket)
Width across flat 10 Width across flat 10
of [
m d
Dimensions
(Buffer for ZPR/ZPY)
odel A|B|D
ZPB3K10 62| 80
ZPB3K20 | 72] 77] 50
ZPB3K30 | 82 87
ZPB3K50 [127[132] 75



Series ZP2
B Uffe r Assem bly Pa rt N O . {~ I:l:rf::l: page 897 for nut tightening }

Heavy-duty Ball Joint Buffer Assembly Part No. (type T)

Buffer assembly part no. Applicable pad part no.
Buffer body Buffer body ] Width across flat 14 Rc1/8 ZP40HD
(Material: Brass) (Material: Steel) « ZP50HO
ZP2B-TF1JB25 ZP2B-TF1JF25 Width across flat 27 H gggg:gg
ZP2B-TF1JB50 ZP2B-TF1JF50 ] ) ZP2-40HC]
ZP2B-TF1JB75 | ZP2B-TF1JF75 8 2 M } Bushing ZP2-50HC
L]
&8 Mi8x1.5 |
</ width across flat 13
15} A 3xM3x0.5
g
] . .
o | o L \00 Dimensions
SRS L= Model A| B
22| ZP2B-TF1(JB/JF)25 40 | 138
218 ZP2B-TF1(JB/JF)50 75| 173
230 ZP2B-TF1(JB/JF)75 | 111 | 209
# With three M3 bolts
Buffer assembly part no. Width across flat 17 Rci/8 Applicable pad part no.
Buffer body Buffer body ZP63HO
(Material: Brass) (Material: Steel) S| Width across flat 30 ZP80OHO
ZP2B-TF2JB25 | ZP2B-TF2JF25 \\ [ ZP63HBO
ZP80HBO
ZP2B-TF2JB50 ZP2B-TF2JF50 3 © O Bushing ZP2-63H0
ZP2B-TF2JB75 ZP2B-TF2JF75 ® ZP2-80HO
ZP2B-TF2JB100 ZP2B-TF2JF100 =
o M22 x 1.5 ‘
= ‘
Width across flat 17
4 x M4 x 0.7
]
3 o Dimensions
Q| o : Model A | B
A " EI ZP2B-TF2(JB/JF)25 44 1725
e L"o" ZP2B-TF2(JB/JF)50 | 80 [2085
24 | ZP2B-TF2(JB/JF)75 | 120 | 2485
234 ZP2B-TF2(JB/JF)100 | 155 | 2835
050 * With four M4 bolts
Buffer assembly part no. Width across flat 17 Rc1/8 Applicable pad part no.
Buffer body Buffer body ZP100HO
(Material: Brass) (Material: Steel) S| Width across flat 30 ZP125HO
ZP2B-TF3JB25 ZP2B-TF3JF25 ”> ZP100HBO
ZP125HBO
ZP2B-TF3JB50 ZP2B-TF3JF50 2 @ [Q]: Bushing ZP2-100HC]
ZP2B-TF3JB75 ZP2B-TF3JF75 ZP2-125H0
ZP2B-TF3JB100 ZP2B-TF3JF100 =
o M22 x 1.5 |
=l < I
Width across flat 17
4 xM5x0.8
0 Di .
e 0 imensions
wn
§ 81 ’—j © Model A | B
A o ZP2B-TF3(JB/JF)25 44 1735
S L £ ZP2B-TF3(JB/JF)50 | 80 (2095
- o4 | ZP2B-TF3(JB/JF)75 | 120 | 2495
240 ZP2B-TF3(JB/JF)100 | 155 | 284.5
270 # With four M5 bolts

1262



Buffer Assembly Part No. Series ZIP2

[* Refer to page 897 for nut tightening torque. ]

Heavy-duty Ball Joint Buffer Assembly Part No. (type X)

Buffer assembly part no. . Applicable pad part no.
Buffer body Buffer body Width across flat 14 ZP40HD]
(Material: Brass) (Material: Steel) ©F Widih across flat 27 HI ZP50HO
ZP2B-XF1JB25 ZP2B-XF1JF25 m ZP40HBO
- - &) e Bushing ZP50HBO
ZP2B-XF1JB50 | ZP2B-XF1JF50 g © o } ZPsoHBC)
ZP2B-XF1JB75 ZP2B-XF1JF75 [ H ZP2-50HO
M18x1.5 |
@ <
~ Width across flat 13
M5 x 0.8
[T} J 3xM3x0.5
3 i
2 1
3 IIJ’ﬂ =
I L&bﬁ’ t Dimensions
ol =l ’ Model A[B
2= ZP2B-XF1(JB/JF)25 40 [ 1415
018 | ZP2B-XF1(JB/JF)50 | 751765
230 ZP2B-XF1(JB/JF)75 | 111 |2125
# With three M3 bolts
Buffer assembly part no. Applicable pad part no.
Buffer body Buffer body & Width across flat 17 ZP63HO
(Material: Brass) (Material: Steel) Width across flat 30 ”> ZP8OHO
ZP2B-XF2JB25 | ZP2B-XF2JF25 e it (BN Bushing ZP63HBO
ZP2B-XF2JB50 | ZP2B-XF2JF50 | @ t B o
ZP2B-XF2JB75 ZP2B-XF2JF75 — ZP2-80HO
ZP2B-XF2JB100 | ZP2B-XF2JF100 |5 _ M22x1.5
= Width across flat 22
Rc1/8
< J: 4xM4x0.7
0 id ZP3
~
el , Dimensions m
@ 9:1 ! Model AlB
™ o T ZP2B-XF2(JB/JF)25 44 1825 P2V
p © ZP2B-XF2(JB/JF)50 | 80 |2185
24| ZP2B-XF2(JB/JF)75 | 120 | 2585 7P
234 ZP2B-XF2(JB/JF)100 | 155 | 2935
250 * With four M4 bolts ZPT
ZPR
Buffer assembly part no. - Applicable pad part no.
Buffer body Buffer body &l Width across flat 17 ZP100HO XT561
(Material: Brass) (Material: Steel) Width across flat 30 ”> ZP125H0O
ZP2B-XF3JB25 ZP2B-XF3JF25 © o= Bushin ZP100HBO
ZP2B-XF3JB50 | ZP2B-XF3JF50 Bl w 5 ? ZP125HB0]
ZP2-100HO
ZP2B-XF3JB75 ZP2B-XF3JF75 voaxis T ZP2-125H0
ZP2B-XF3JB100 ZP2B-XF3JF100 @ < :
Rc1/8
g Width across flat 22, 4xM5x0.8
©l Q| ) | Dimensions
RS S Model A| B
_ Z— S ZP2B-XF3(JB/JF)25 44 1835
=] © ZP2B-XF3(JB/JF)50 80 [219.5
24 | ZP2B-XF3(JB/JF)75 | 120 [2505
240 ZP2B-XF3(JB/JF)100 | 155 | 2945
270 * With four M5 bolts

1263



Series ZP

Buffer Assembly Part No. |

= Refer to page 897 for nut tightening

torque.

|

Heavy-duty Buffer Assembly Part No. (type T)

Buffer assembly part no.

Buffer body
(Material: Aluminum alloy)

ZPB-T1J25-B01

ZPB-T1J25-N01

ZPB-T1J25-T01

ZPB-T1J50-B01

ZPB-T1J50-N01

ZPB-T1J50-T01

ZPB-T1J75-B01

ZPB-T1J75-N01

ZPB-T1J75-T01

Width across flat 14

Width across flat 27
)
o
[3Y)

1/8 (R, NPT, NPTF)

()]

M18x 1.5

35
9.9

11.5

¥
3xM3x0.5

Applicable pad part no.

ZP40HO
ZP50HO
ZP40HBO
ZP50HBO

ZP2-40HO
ZP2-50HC]
ZP2-3050HWC

Dimensions
Model A | B
ZPB-T1J25-0101 | 40107
ZPB-T1J50-0101 | 75| 142
ZPB-T1J75-0001 | 111|178

* With three M3 bolts

Buffer assembly part no.

Buffer body
(Material: Aluminum alloy)

ZPB-T2J25-B01

ZPB-T2J25-N01

ZPB-T2J25-T01

ZPB-T2J50-B01

ZPB-T2J50-N01

ZPB-T2J50-T01

ZPB-T2J75-B01

ZPB-T2J75-N01

ZPB-T2J75-T01

Width across flat 14

Width across flat 27
n

o
[

1/8 (Rc, NPT, NPTF)

=

35
9.9
—
R

M18x 1.5

(B)
— |

!

11.5
9
[}

¥
4xM4x0.7

Applicable pad part no.

ZP63HO

ZP80HO

ZP63HBO

ZP80HBO

ZP2-63HC]

ZP2-80HO

Dimensions

Model A | B
ZPB-T2J25-0101 | 40 | 107
ZPB-T2J50-0101 | 75| 142
ZPB-T2J75-0001 | 111 | 178

« With four M4 bolts

Buffer assembly part no.

Buffer body
(Material: Aluminum alloy)

ZPB-T3J25-B01

ZPB-T3J25-N01

ZPB-T3J25-T01

ZPB-T3J50-B01

ZPB-T3J50-N01

ZPB-T3J50-T01

ZPB-T3J75-B01

ZPB-T3J75-N01

ZPB-T3J75-T01

ZPB-T3J100-B01

ZPB-T3J100-N01

ZPB-T3J100-T01

Width across flat 17
Width across flat 30

1/8 (Re, NPT, NPTF)

. i

)

o| © O 3

0| o T

)
M22 x 1.5

<

o 1]

i ~]|

}
o4 4 xM5x0.8

240
70

Applicable pad part no.
ZP100HO
ZP125H0O
ZP100HBO
ZP125HBO
ZP2-100HO
ZP2-125H0
Dimensions
Model A | B
ZPB-T3J25-101 44 | 131
ZPB-T3J50-101 80 | 167
ZPB-T3J75-0101 | 120 | 207
ZPB-T3J100-101 | 155 | 242

= With four M5 bolts

1264



Buffer Assembly Part No. Series ZP

[* Refer to page 897 for nut tightening torque. ]

Heavy-duty Buffer Assembly Part No. (type T)

Buffer assembly part no. Applicable pad part no.
(MI:tL:ef:iearI:bgfayss) (Miggriearl:bg?gel) Width across flat 14 %ggg:g
ZPB-T1JB25-B01 | ZPB-T1JF25-B01 Width across flat 27 ZP40HBL
ZPB-T1JB25-N01 | ZPB-T1JF25-NO1 o L Fe NPT MPTE) ZPsoHs)
ZPB-T1JB25-T01 | ZPB-T1JF25-T01 \ M ZP2-50H0
ZPB-T1JB50-B01 | ZPB-T1JF50-B01 ZP2-3050WHO

ZPB-T1JB50-N0O1

ZPB-T1JF50-NO1

ZPB-T1JB50-T01

ZPB-T1JF50-T01

ZPB-T1JB75-B01

ZPB-T1JF75-B01

ZPB-T1JB75-N01

ZPB-T1JF75-N01

35
9.9

3> Bushing

(B)

M18x1.5

Ir

ZPB-T1JB75-T01 ZPB-T1JF75-T01 . .
i Dimensions
2 03 | Model A | B
- 3xM3x05 ZpB-T1(JB/JF)25-0001 | 40| 107
018 | ZPB-T1(JB/JF)50-0101 | 75 142
028 ZPB-T1(JB/JF)75-0001 [ 111|178

+ With three M3 bolts

Buffer assembly part no. Applicable pad part no.
Buffer body Buffer body . ZP63HO
(Material: Brass) (Material: Steel) Width across flat 14 ZP8OHCI
ZPB-T2JB25-B01 | ZPB-T2JF25-B01 Width across flat 27 /8 (Re. NPT, NPTE ZP63HBO]
ZPB-T2JB25-N01 | ZPB-T2JF25-NO1 2 {Fle, NPT, RPTE) o
g -
ZPB-T2JB25-T01 ZPB-T2JF25-T01 ZP2-80HO
ZPB-T2JB50-B01 | ZPB-T2JF50-B01 Hl
ZPB-T2JB50-N01 | ZPB-T2JF50-NO1 g © Us } Bushing
ZPB-T2JB50-T01 | ZPB-T2JF50-TO1 g 1 O
ZPB-T2JB75-B01 | ZPB-T2JF75-B01 =1 P misxis | 7P3
ZPB-T2JB75-N01 | ZPB-T2JF75-N01
ZPB-T2JB75-T01 | ZPB-T2JF75-T01 ,ﬂ . . m
} Dimensions
0 Model A | B
= 23 4xXM4X07 ~—5pp o BIIF5-001 | 40| 107 | P2V
o34 | ZPB-T2(JB/JF)50-001 | 75 | 142 E
045 ZPB-T2(JB/JF)75-0001 [ 111 [ 178
« With four M4 bolts ’F
ZPR
Buffer assembly part no. Applicable pad part no.
Buffer body Buffer body Width across flat 17 ZP100HO XT661
(Material: Brass) (Material: Steel) Widih across flat 30 1/8 (Rc, NPT, NPTF) ZP125HO
ZPB-T3JB25-B01 | ZPB-T3JF25-B01 ZP100HBO
ZPB-T3JB25-N01 | ZPB-T3JF25-N01 " % e
ZPB-T3JB25-T01 ZPB-T3JF25-T01 “ ZP2-125H0
ZPB-T3JB50-B01 | ZPB-T3JF50-B01 © e Bushing
ZPB-T3JB50-N01 | ZPB-T3JF50-N01 . 8| o }
ZPB-T3JB50-T01 ZPB-T3JF50-TO1 (=) _
ZPB-T3JB75-B01 | ZPB-T3JF75-B01 M22x 1.5
ZPB-T3JB75-N01 | ZPB-T3JF75-N01 < o
ZPB-T3JB75-T01 | ZPB-T3JF75-T01 - | D'me"s'°'\'/‘|sd | T
- ~| odel
ZPB-T3JB100-B01 | ZPB-T3JF100-B01 ¥ ZPB-T3(JB/JF)25-101 24 131
ZPB-T3JB100-N01 | ZPB-T3JF100-NO1 o4 | 4xM5x 08 ZpB.T3(JB/JF)50-C101 | 80| 167
ZPB-T3JB100-T01 | ZPB-T3JF100-TO1 240 ZPB-T3(JB/JF)75-0J01 | 120 | 207
570 ZPB-T3(JB/JF)100-001 | 155 | 242

= With four M5 bolts

1265



Series ZP

[* Refer to page 897 for nut tightening torque. ]

Heavy-duty Buffer Assembly Part No. (Type X)

Buffer assembly part no. ) Applicable pad part no.
Buffer body Width across flat 14 ZP40HO
(Material: Aluminum alloy) Width across flat 27 ZP50HO
ZPB-X1J25-B01 5 ZP40HBO
ZPB-X1J25-Nof - il Zraons
ZPB-X1J25-T01 g -
- - 9l o (T3 ZP2-50HO
ZPB-X1J50-B01 DK
ZPB-X1J50-N01 &l < M18x1.5
ZPB-X1J50-T01 ~
ZPB-X1J75-B01 )
Width across flat 21 4»
ZPB-X1J75-N01 b ©
ZPB-X1J75-T01 ¥ g © I
N I Dimensions
' Model A[B
0
T 22| 3 xmaxos ZPB-X1J25-001 | 40 1895
1/8 (Re, NPT, NPTF) ZPB-X1J50-0001 | 751745
018 | ZPB-X1J75-0001 | 1112105
228 * With three M3 bolts
Buffer assembly part no. Applicable pad part no.
.Buffer bgdy Width across flat 14 ZP63HO
(Material: Aluminum alloy) Width across flat 27 ZP8OHO
ZPB-X2J25-B01 ZP63HBO
o
ZPB-X2J25-N01 . Hﬂ %gg?g:ii?-lmm
ZPB-X2J25-T01 a 2 O ne ZP2-80HD)
ZPB-X2J50-B01
ZPB-X2J50-N01 — M18x1.5
ZPB-X2J50-T01 g <
ZPB-X2J75-B01 ‘
ZPB-X2J75-N01 0 Width across flat 21 _i» ‘
_ X g v
ZPB-X2J75-T01 & ﬂ Dimensions
¥ Model A | B
wn
= 04 | 4xM4x0.7 ZPB-X2J25-0101 | 40 [1395
034 ZPB-X2J50-0101 75 | 1745
1/8 (Re, NPT, NPTF) od5 ZPB-X2J75-0101 | 111 |2105
* With four M4 bolts
Buffer assembly part no. Applicable pad part no.
Buffer body Width across flat 17 ZP100HO
(Material: Aluminum alloy) - ZP125H0
ZPB-X3J25-B01 S| Width across flat 30 ﬂ' “ ZP100HBO
ZPB-X3J25-N01 \[1] o
ZPB-X3J25-T01 8 2 F-H ZP2-125H0
ZPB-X3J50-B01 ]
ZPB-X3J50-N01 & M22 % 1.5
ZPB-X3J50-T01 <
ZPB-X3J75-B01
ZPB-X3J75-N01 Width across flat 21 . .
ZPB-X3J75-T01 8 < Dimenstons —
@ | ode
ZPB-X3J100-B01 ] i = ZPB-X3J25-0001 | 44 | 165
ZPB-X3J100-N01 1/8 (Re, NPT, NPTF) 24 4xM5x0.8 ZPB-X3.50-0101 SONE201
ZPB-X3J100-T01 — — - ZPB-X3J75-0001 | 120 | 241
040 | ZPB-X3J100-0101 | 155 | 276
@70 = With four M5 bolts

1266



Buffer Assembly Part No. Series ZP

[* Refer to page 897 for nut tightening torque. ]

Heavy-duty Buffer Assembly Part No. (Type X)

Buffer assembly part no.

Buffer body
(Material: Brass)

Buffer body
(Material: Steel)

ZPB-X1JB25-B01

ZPB-X1JF25-B01

ZPB-X1JB25-N01

ZPB-X1JF25-N01

ZPB-X1JB25-T01

ZPB-X1JF25-T01

ZPB-X1JB50-B01

ZPB-X1JF50-B01

ZPB-X1JB50-N01

ZPB-X1JF50-N01

ZPB-X1JB50-T01

ZPB-X1JF50-T01

ZPB-X1JB75-B01

ZPB-X1JF75-B01

ZPB-X1JB75-N01

ZPB-X1JF75-N01

ZPB-X1JB75-T01

ZPB-X1JF75-T01

) Applicable pad part no.
Width across flat 14 ZP40HO
Width across flat 27 ZP50HO
ZP40HBO
© il ZP50HBO
L] ZP2-40HC
o Bushin
gl % } g ZP2-50HO)
14
~ M18x 1.5 ‘
o<
Width across flat 21
. :
©
N, I Dimensions
© 3 i Model A B
= — Il 3xmM3x05 _ZPB-X1(JB/JF)25-0101 | 40 |1395
1/8 (Re, NPT, NPTF)/ |518 ZPB-X1(JB/JF)50-001 | 75 [1745
028 ZPB-X1(JB/JF)75-0101 | 111 {2105

# With three M3 bolts

Buffer assembly part no. Applicable pad part no.
(MBtlJﬁerI bédy ) (MBl:ﬁ'er|b§?y ! Width across flat 14 ZP63HO
aterial: Brass atenal: eel
ZPB-X2JB25-B01 | ZPB-X2JF25-B01 | Lo across flat 27 ZP63HBE
ZPB-X2JB25-NO1 | ZPB-X2JF25-NO1 | | 2 il Ao
ZPB-X2JB25-T01 | ZPB-X2JF25-T01 o @ 0N 3>Bushing ZP2-80HD
ZPB-X2JB50-B01 | ZPB-X2JF50-B01 “le !
ZPB-X2JB50-N01 | ZPB-X2JF50-NO1 | _| M8 x15 |
ZPB-X2JB50-T01 | ZPB-X2JF50-T01 | S| <| |\ aton
ZPB-X2JB75-B01 | ZPB-X2JF75-B01
ZPB-X2JB75-N01 | ZPB-X2JF75-N01 o ‘ ZP3
ZPB-X2JB75-T01 | ZPB-X2JF75-T01 | | % §l < Dimensions m
© ‘ ¥ Model A | B PV
i 04| ||l 4xM4x0.7 “ZPB-X2(JB/JF)25-0101 | 40 [1395
034 -, - 75 | 174.
woserreny/| S Zoatsmso el | g
« With four M4 bolts ’F
ZPR
Buffer assembly part no. Width across flat 17 Applicable pad part no. @
Bty (bl (Bl bl Width across flat 30 ZP100HO
(Material: Brass) (Material: Steel) ZP125H0O
ZPB-X3JB25-B01 | ZPB-X3JF25-B01 5 H ZP100HBO)
ZPB-X3JB25-N01 | ZPB-X3JF25-N01 [ o
ZPB-X3JB25-T01 | ZPB-X3JF25-T01 g = B [ Bushing ZP2-125H0]
ZPB-X3JB50-B01 | ZPB-X3JF50-B01
ZPB-X3JB50-NO1 | ZPB-X3JF50-NO1 | _ N
ZPB-X3JB50-T01 | ZPB-X3JF50-T01 | 2| o V2218
ZPB-X3JB75-B01 | ZPB-X3JF75-B01 Widih across flat 21
ZPB-X3JB75-N01 | ZPB-X3JF75-N01 o
ZPB-X3JB75-T01 | ZPB-X3JF75-T01 ) i D'me"s'°'\'/‘|sd | T
ZPB-X3JB100-B01 | ZPB-X3JF100-B01 ] oF e ZPBX3 JB;)J:)ZS-DM IYSRT
ZPB-X3JB100-N01 | ZPB-X3JF100-NO1 f ZPB-X3(JB/JF)50-001 | 80 | 201
ZPB-X3JB100-T01 | ZPB-X3JF100-T01 24| 4xM5x08 ZPB-XSEJB/JF;75-D01 120 [ 241
040 | ZPB-X3(JB/JF)100-101 | 155 | 276
1/8 (Re, NPT, NPTF) 270 + With four M5 bolts

1267



	Vacuum Pad Series ZP2
	Compact Pad
	Pad unit：How to Order, Dimensions

	Short-type Pad（MU：Flat）
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions

	Short-type Pad（EU：Flat）
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions

	Short-type Pad（AU：Flat）
	Pad unit：How to Order, Dimensions

	Nozzle Pad
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions

	Thin Flat Pad
	Pad unit：How to Order, Dimensions

	Flat Pad
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions

	Bellows Pad（J：Bellows）
	Pad unit：How to Order, Dimensions

	Bellows Pad（MB：Bellows）
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions

	Bellows Pad（ZJ：Bellows）
	Pad unit：How to Order, Dimensions

	4.5-Stage Bellows Pad（ZJ：Bellows）
	With adapter：How to Order
	With adapter：Dimensions
	Pad unit：How to Order, Dimensions
	Component Parts
	Pad Displacement to Vacuum Pressure(Pad material: Silicone rubber)

	Oval Pad
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions
	With buffer（Vertical）：How to Order, Dimensions
	Without buffer（Lateral）：How to Order, Dimensions
	With buffer（Lateral）：How to Order, Dimensions

	Pad with Ball Spline Buffer
	How to Order, Dimensions

	Mark-free Pad Series
	Mark-free Pad（U：Flat）
	Pad unit：How to Order, Dimensions

	Mark-free Pad（H：Heavy-duty）
	Pad unit：How to Order, Dimensions

	Resin Attachment
	How to Order, How to Order, Dimensions

	Sponge Pad
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions

	Heavy-duty Pad（H/HT Heavy-duty）
	Pad unit：How to Order, Dimensions

	Heavy-duty Pad（HB：Heavy-duty）
	Pad unit：How to Order, Dimensions

	Heavy-duty Pad（HW：Heavy-duty）
	Pad unit：How to Order, Dimensions

	Heavy-duty Ball Joint Pad（H：Heavy-duty）
	With adapter（Vertical）：How to Order, Dimensions
	With adapter（Lateral）：How to Order, Dimensions
	With buffer（Vertical）：How to Order, Specifications
	With buffer（Vertical）：Dimensions
	With buffer（Lateral）：How to Order, Specifications
	With buffer（Lateral）：Dimensions

	Heavy-duty Ball Joint Pad（HB：Heavy-duty）
	With adapter（Vertical）：How to Order, Dimensions
	With adapter（Lateral）：How to Order, Dimensions
	With buffer（Vertical）：How to Order, Specifications
	With buffer（Vertical）：Dimensions
	With buffer（Lateral）：How to Order, Specifications
	With buffer（Lateral）：Dimensions

	Heavy-duty Pad（H/HB Heavy-duty）
	Pad unit：How to Order, Dimensions
	With adapter：How to Order, Dimensions
	Without buffer（Lateral）：How to Order, Dimensions
	With buffer（Vertical）：How to Order, Dimensions
	With buffer（Lateral）：How to Order, Dimensions

	Vacuum Pad for Transferring Disks
	How to Order, Dimensions

	Vacuum Pad for Fixing Panel
	Dimensions

	Vacuum Saving Valve
	How to Order, Specifications
	Model Selection
	Working Principle, Construction
	Dimensions

	Series ZP2/ZP Adapter/Buffer　Applicable Pad List
	Series ZP2 Mounting Adapter Part No.
	Series ZP Mounting Adapter Part No.
	Series ZP2 Adapter Assembly Part No.
	Series ZP Adapter Assembly Part No.
	Series ZP2 Buffer Assembly Part No.(for Ball Spline)
	Series ZP2/ZP Buffer Assembly Part No.
	Series ZP2 Buffer Assembly Part No.
	Series ZP Buffer Assembly Part No.



